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79T, I M3 I UUd T susett fSfoma 3T migH9 Us g
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JEST UAST SY-IY SITHUT BII™ o ¥3dt HTfdar @& NCF-2005 M3
PCF-2013 € wmua’3 fanwmg 13t aret 7| faforret w3 fosat <t morfesT
&% fen Us-yn3d § 399 se7g< € YdT U3s Ji3T fardm J | feg yrsa
8§93, SCERT € HTfJd™ M3 437 © IHISATd MIPHTUST/HTfIdT & AfgGar 5%
famma St aret 7| 93 fegt Ag € Gae<t T |

Sygt <8 feg ydt afmm 313t aret J fa fen yrza € gu-aur A<t qet
v feforraant © wafra tug vafaa gt 3= | urs <o fe3t femr-miarat
wMI Gergdst fefenragn & WM -or® @ I 3<ds W3 87 &% Agfus
UAfESt atfaa It 3 aistut areht 9 | 99 uts <9 aet fafanr=t
fe3tt Iret™ I | FETad ATusT mid fefenagt &t dles A%t wigAg feg
fafanret ges T AT AgET I8 |

wH 7 fa afes fer &t feo us-yrsa fefermaahit &gt da9a w3
sd=© fHU I=qit | UASE § J9 9didT I8 Bet 439 9 we A=’ &
8§95 W9 Afd3 AL daar |
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qIfdea a9, yrferat mifmrfuaT, Agaret Yrfenst Ag® feQedst, W R 8 M A. 5915 |
Hf&Ea dg, yrfeHat mforfuaT, Reamdt MetHedt Ag® Ma&arg, ufensT |
YT fiw, yrfendt mifonmua, Aeardt wis thiedt Ag® maret HaaT, sf3garg Arfas |
98 fiw, yrferat mifermua, Faa et M&tH edt Ag® HWTa bt & AT |
USEEIY IHTT, YrfeHat miommud, ATt Yrferdt Ag® 494, ef3garg Arfay |
YA, Yrferat mifedmfudT, Aedrat YrfeHd! Ag® gamst, A € WA . 5919 |
get ¥&a, yrferat mfomrfuar, reardt matiedt igs <9, ef3gag Arfay |
ufred aHTa, yrfenat mfmmmua, rgarat yrferst Ags gser, ufer T |
Tl fiwr, yrferat mifemmuar, Aaaat yrferat Ags &ar, ufenmsT |
UIHIHT ¥ B, H. T 2t ., Aad ol MBIH eat Hg& dict gt o, fedmua |
995 i, Ifes mifermua, Agaat Aia e RS9t g ® da3ie s, fednud |
o<t fors, aifes mftmmua, RaaTdt Ata e Rd 34t Ag®, 9637, HATga |
HH I, Yrferat miftrue, Agarat Yrferdt Ag® a7 §r7aT, AaTga |
AU gH™T, IF 2199, ATdTd MBH eat A TT6dg I3&T, Ufe™sT |
IETEEY HIHT, Yrferdt mfermud, Aadrat YrfeHat Ag® HrdT HTsHT |

—

HOA

JI9<1a a4, ferar Hrfaa, WA AT &t »ra 2t ., ¥ |

IS a9, femr vrfaa, MA At St nma 21, dame |

feovs a9, TMm At 31, 3t AT Ww . ve39, UAy |

yafites fiw, iRty AeaTdt AtatHe Agsdt Ags gost & 4T, efasar |
gefiies fiw, aifes mifomua, Agarat Alstie Ad3dt Ag® T37at Mt fiw,
sf3gars Aoy |

TH IHT ‘TS, I AT U (AT Ha3), HA.E M H. 3319 |

T3 i, g iU (AT Halg), A E M H. 3919 |

Af3ed gHg, TTfe3 MfeHTud, AgdTat ITet AgS fardraT g Hist, efésT|

" IH'S J1GT, TSI MFPHTUS, It A& 1T RASdT AgS §E8T3T, HTGHT |
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Gem: 1. 100000 3T Tt Aftr=et § ugaT, fauesT, M3 AHseT
frgar|

2. FaraT faedt et faforr=t fae” =-T<, €3, Sfadr W3
ydte-29 »irfe {9 Afynret &t 293" 979 AregTdt @7 |

3. fefenraahit & Aasd & W3 wifas H® 979 AreaTdt g7 |

4. Ahpdret € nai39-ue3d, Sue-uee gH M3 IB&T 979
AcaTdt 27|

5. SY-JY »iat T How 7% <31 3 3T I 2t 3 &t Aftodm

ool
AED

1.1 ya< farms €t uay/gaaret
fugst M3 9 fefemmaahdt & 10000 S et Afrst & ugs-
feueT, fies ST Fu-Jy B=-T< mirfe &9 Afunr=t & =93 AT J|
J< I3 N € gadret 3 Ufgst siforua fefemagh™ &% Jrsas
I IS & GHTST Jdar M3 [Y-TY Jatfat It gaarer e §en, Mo
Ales bt GEUdst Idt YaT d9s ©f Jfaw Jdar | fen &t miferrua
fefenmaatnt 5% 9o faut a3y gdar|
mftmrugr - dfe§ ysAT dg & rarusT /T 99 difde fiw &t & st
At | &t AT ©F Aaw J fa feg fan e f<g a3t aret A/t ?
fefenmaat - #, 1699 €t T fermdt =58 fes |
1

1
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mftwuer - AR | g AT fer At & (989 §93 '3 fou o) maet
fSg ug w3 anitmt '3 fou |
Ad 99 fed 999 & ¥ &8ss T 9-T9 U3e 76 M3
arubrt '3 fgue 95 |
mfug - g IH <9306 IS § vt S fay |
fefenmraat - 2018— € TH™T WS (FISHS IS A I 9% g I<)
miug - 98 g AT Jof fE 3 yAsT § »irust anit '3 s ad |
1. I& &bt Aftprret & meet fee foy -
(@) 968  (b) 6908 (c) 1328 (d) 9002 (e) 9999
2. I fobot Afumret § wiat feg &y :
(a) & A "Md39 (b) FTTATHAIH
(c) 99IAT & (d) »& Ia9 s | femmrt

(e) & THAT I
mfoue w3 fefenagyt €t niunt siBes
dY 32 HIBUT T gudTel e gHar g8 BEt J¥ T 937 &Y it
&% I3 AT |
mfuar - A3 <9 Sa1 faast Quadst (G w3 o9t < ferrar
gde 9%) T a3 Uysar |
friHadts - A, ¥g @ aHa T 1200 € SI1FIT J<4iT |
mfoug - AT | (J9e3fT &) IHT 989 € SHI € AT § 7
geesfas - AT AT, BIFAT T 10
mftwug - &t g At fegat fRe Su s T s8I sig e Ade J 7
fefemmaat - U StamMaI T T
mftwue - M3BF AfgdT 1200, AfgdT 10 3° 3T T 1 (3= 1200>10)
fefenmragt - #t T,
mfovuar - (19 '3 B9t WSt <% fergr a9 feret a3z faat
J=<ait ?

‘Sﬂ Y@/ 2 gifes-5




Hfdea - A9, W3t € a3z T 200 J=31T |
I IF IS By
fefenaat ag nigh™d AT St THI nigHd 8¢ I I3 M3 T3 3 8¢
2% fayuedr | mifermud wifg™ Bt 99 yms fefenmaghdt & e<ar|
3. fE@3but Aftrret €t gwaT d9s BEt >,< AT =T fdg 39 :
(a) 238]  ]832 (b) 7851[ | 8715
(c) 2018[  ]2018  (d) 9999 19900
(e) 4651  ]5467 (f) 5867 16325
4. HAftpret & Sue g (81 3 <31 Aft) e fat -
(a) 245,751, 654,456, 199
(b) 1234, 7806, 4123, 5006, 2413
(c) 3344, 4455, 1122, 2233, 5566
(d) 6780, 6078, 6870, 8760, 7806
(e) 3299, 5699, 9932, 9999, 6099
5. HAftpret & ulee e (S51 3 &<t Aftnr) fET fod
(a) 542,751, 614, 406, 129
(b) 2234, 7906, 5123, 8006, 6413
(c) 3345,3456, 1132, 1233, 5066
(d) 6781, 6178, 6570, 6460, 6806
(e) 1299, 1669, 1932, 1909, 1099

mat 8 Agsd H& W fenfgs gu € guaret set asifent

iy A3 &9 Tane 939 W3™=a v '3 979 fa@™ (Uug ©)
Juar W3 €uat €Ud FTTST H® AT9ET 399 HS f&yar |

wforue feast ot feg feume migntg fearet raTsa He =8 fas™
feg f3= g2, ool mgsa W& @ faww &9 2 92, A9S rgsd @8
farsm &9 U7 §¢ W3 J99 Agsd &% faww feg 99 §¢ ygar | 99
gfgnt & g&T o arSifedt a3t A<t |

4%




ufasT 997 - JH9 AES 278 fI®TH ‘9 4 §¢ Jd<d g §8dI 4 IA'd
MT 98 d §93 I AETST H& 4 x 1000 = 4000 f&uarr|

garggr - fen 39T AYE € AES @'F fo@W 'S UA §¢ dear vi3
§BdI™ 5 H W3 A& H& 5 x 100 = 500 989 §95 T
fogar|

SfArggr - TIE A © O @9 2 §¢ dear W3 §%ar =9
M3 AT S 2 x 10 =20 98 §95 'F foyar|
f3s 73 989 8§95 '3 AEST H& 3 x 1 =3 fouar|
g mfoud Agsd H&t § gHI9 A3 ©F fig sar o
fayar »3 Afa oRar |
4000 + 500 +20 + 3 =4523
fen arstfedt aat mifeua FeTsa H&, A3z He w3 Sy-funiat 3
gt 31/t HivT feust faurear w3 9o fou ynst € gadret Jaerear |
6. Hald Mid T AESd HS &Y :
(a) 789  (b) 2782 (c) 7819 (d) 5489 (e) 7009
7. fenfgs gufea fay :
(a) 492  (b) 1280 (c) 3009 (d) 8765 (e) 9020
8. I& oYU niat § =33¢ JT <31 3 S5t w3 8¢t 3 &1 Ao foy
(a) 2,0,9 (b) 1,2,3.4 (c) 5,6,1,2
(d 2,4,0,9 (e) 1,7,8,6
9. S M3 foy :
(a) 110,210,310, 410, , ) ,
(b) 2018, 2019, 2020, 2021, , , ,
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(c) 1220, 1190, 1160, 1130, , , :
(d) 1110, 1220, 1330, 1440, , , ,
(e) 5800, 5850, 5900, 5950, : , ,
10. &St Aftmret @7 33 &t voret w3 Ao &9 faaciads a9 :
(a) 96 (b) 209  (c) 652  (d) 787  (e) 975
11. Yyt geragq :
1 Wi & 8t 3 8t AT =
2 gt gt I et Afitm =
3nfat & 8¢t 3 g8t Aftr =
4 AT & 8t I st ™ =
5niat ot g2t I g8t Afgr =
6 Mot T 8¢t 3 g8t Aftpr =
| Mgt & I I ST A =
2 nigt &t T I I A =
3nfat Ot ST I I AT =
4 it S FIT I IIT AT =
Sofar et ST I T AT =
1.2 3t Aftrret &% Are-ufgee
(miforua w3 fefenaaivt &t niunt IiBes)

mfoua - 393 fus & maret fast 3 7 fen & s8a-893 '3 feg Mz

g |
iy - w9 A, 73 iz &t maret 1598 (fEa gama U A wies<) T |
fies - Ao A, s fis <f i<t 1248 (69 999 © °H Ma3™®1)
JI

Aftrat 5 /q_’
R
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303 fa® &t maet fast T ?
MEHS - Hd A, A3 fa@ @t miget Uz 578 fadmer J<ait |
dt 9et 33 g9 fer 979 SR AgeT J ?
§9 &Jt AT AT
mftuag - (I89-893 '3 fou a) #fe6, mmue fas St mamet 716648
J1 &t 3oz & aet fen Afarr § Uz Faer I7 fEg 59
fen Afanr § ug< © mmide dear | fer &g, nifemus
oHar fa fugst a3 fS9 3wt 10000 3T Tt Afgmet
It bt A | fam aras gHT feg ifvmr &3t ug /g | me
wie WAt 10000 3° ISP Aftm=t ugsT w3z feueT five
a7 |
1.2.1 Aftprret & uger w3 foyer
g wit SStrt Aftmret § fare a9 578 faueT, fenfas gu, »idise W3

fug339 979 999T Iaar |
CED
fugst mir3 &9 ge=ret aret fafonr ffT 99 & 9999 Afanr & faresTa
g feurfenr 3| g it 99 & e g9 13T (9t3) € o @7 & fer fares
€Us AHE J95 BEt Jutar M3 few arSifedt g9 dfewt &t ySifgmr <
-

|

?

9 9 O ’—1.0000
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fen arstfedt 375 vt MarEtdt Yrg3a Afarret Arae et dfont <o
€3na3T Uer gt |

so| (oo | B B | B| B s o || BB B E

9 9 O |100000

9 99 999 9999 99999
+1

+ 1 +1 +1 +1

[ ] [ ] [] []
fen 397 I ot Afumret S fodtut 77 Aaett 95 |
9999+1=10000 | 29999+1=30000 [ 49999+1=50000 | 69999+1=70000 |89999+1=90000
19999+1=20000 [ 39999+1=40000 | 59999+1=60000 | 79999+1=80000 | 99999 + 1=100000

IdHT St € Hee 578 =t fen 3gT st Afumet § ugsT iy Aae It
Jot f&3t Geuds § 2n -
aa‘n’r#w%zmzn@%lms sl

—  a®
H =LE =

20000 + 1000 + 100 + 30 + 2= 21132

iH = iﬂ i 1 o taan @
mwim % "'ﬂ+;_ﬁ+. |
i B =l o

10000 + 1000 + 300 + 10 + 3 = 11313 |
b S

-
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fen 3+ »iftmua J9 Afer=et § <t adrt &<t & Hee &% fouer
frgrearr |
1.2.2 MII39-fUa3a AftpreT 5% ATe-Ug'e J9&T (mfomud w3 fefeniaght
at nyrt IIBTI)

oy A3 &9 waize-fug3a Afret feyer G AUt
feferag o7& I fadt fafodT agt arsaT3 Jaarr |

1946 T, fam & wit aife3 f<9 1947 <t fug3a Afan™ gaiar 1 1947 3 ge
T A 1948 I, fAd & »iwt 1947 € wdi3d Aftenm qaiar | »i@izg Afewr

i -




feys et fa3t aret Ao f&9 1 Atz Afer I w3 fug3a Afon faus
et fE3t aret AfrT fE9° 1 werfomT AT J |

fer 3gt mAt ST Aferr=t St S vidize-fue 39 Afvrr=T fgy Fae
ar|

eas 6 : HIT 5769 €= AT € ASH A% 1469 g &g Ifemm At | fen

A% € wdr3d w3 fug3ga Afwu fag |
9% : 1469 T mar3g Afemr : 1469 + 1 = 1470
1469 &t fug3a A : 1469 — 1 = 1468
@eds 7: 54699 € mar3d M3 fug3a Al f&y |
IS 54699 T mIr3d Hitem 54699 + 1 = 54700
54699 <t fus3g Afemr - 54699 — 1 = 54698

AHS M3 d9 :

1. fareaa €t AofesT 57 Afanr & U3 w3 fay
(a) (b)

““““““““““““““““““



HEerfEg HEerfeg
2. Aftet & AESA HS AGST '3 €9nQ ¢
(2) 3868 (b) 17605 (c) 41123 (d) 92856
(€) 20203 (f) 99728
3. Haot feg fay :
(a) 2462 (b) 8988 (c) 19050 (d) 33006
(€) 20198 (f) 59045 (2) 68390
4. viat few foy :
(a) e ga™9 H3 ¥ U3t OEEIREICRCER: RIEES)
(c) A3 3J IAd AS 34 (d) YAg g da v iA
() ST IAITNSH & (f) WAt TH9 #is | »irt
(o) fEa By
5. It fauit Aftmiret @bt mdI3T Aftrret foy
(a) 998 (b) 10000 (c) 2018 (d) 99999
(¢) 48675 (f) 40009
6. I5T ot Aftmpret et fugsa Aftmret foy
(a) 24855 (b) 99999 () 39999 (d) 79890
(€) 50000 () 23456

%f\r/ 10 afes-5
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1.3 3t Afemret @7 AE'Sd H& M3 nifas H& (Place value and Face Value)

fugst g &9 wrt it AfuTeT € AgTsd NS 979 9997 J13T AT |
few gmar &=, wiwt 1000 3° ST Aftprret @ AEST HS '3 9997 Ididr |
AESS H® M3 M3 S

fam Afour &9 »iaT @ IS €8s 578 §usT @ Agad HE < 9€8%
A I& | fefa »iat @7 & (ifaa ¥®) €9t afder J1

fae -
Fagr | =gt fearet ey oJTEr fearet
1 2 3 2
A B
123 321

Sug 3 I¢ 939 f<T A< »iat @ Au's 9e& a8 37 8gT & W& =t
ge% JiF 95 | fae ufa® fo3g A i<, | »iad A9S € Ag's '3, 2 W 2@t
¥ AETS ‘T M3 3 vid fearet € AETS T J|

I x100+2%x10+3x1=100+20 +3 =123

w3 fo39 B f<g, A< @4 »iat @ Aars wirun <9 gese o7 3T Qust &

H® ST 9e8% A'e 96 |
3x100+2 x10+1=300+20+1=321

few 3gt A< fan <t Afrr € »igt € Aas 928 A 96 3T Qo viat
= »ifag ¥& 37 6Tt afder I ug 85T T AETsd H& §€% ATET J|
1.3.1 Aftyret &7 AEsd HE M3 wifas 1S

g< fer gma1 fS9 Aftr=t € AEsd H& 3 vifas He § faueT fufar|
fen & G€U9sT &7 AHZE ©F dfAd gae 7 |




Geags 1 AftpdT 38179 € »iaT @ AESA H® M3 mfa3s Hs &y |

By G feqretmt
3 (81 |7 |9
3 8 1

J%: » Qugfareag S99, feaet € mgs "I T Ifen st 9 &
AESITHE 9 x 1 =9 mMI mifaga H& 9 T |

+ fareag fe9 7, @aret @ AETs '3 J | fer Bet 7 €T AT
H& 7 x10=70 M3 MifaaI H& 7 3|

+ faregg f&9 1, A9= € Ag's '3 J | fen Bt | €7 AgTsd
H& 1 x 100 =100 W3 #fa3 H& 1 J|

+ faregg f&9 8, o9 @ RO 'F T | fon Bet 8 e AgTsd
H& 8 x 1000 = 8000 I »fa3I H& 8 J|

s faregg fS9 3, oA gA9 @ AT'S ‘I J| fer Bt 3 &
AETST H® 3 x 10000 = 30000 M3 Mfaa H& 3 J|

4 |
9% . AfwT 75698 &9

8 TTHETST H& 8§ x |

9 T HETST H& 9 x 10
6 €T HETSS H& 6 x 100

58T HETST H& 5 x 1000

7 €T AETSE H& 7 x 10000

\T?’/ 12

Geaas 2 ;. AfwnT 75698 &9 g9 ¥id @7 AESd H& 3 nifaad He uaT

S MI Mfaz HZ 8 T |

= 90 MI MfTIHB 9T |

600 M MfTI HS 6 T |
5000 M MITI HE 5 T |
70000 M WIS HE 7 T |

afes-5



fam Afeprm f&9 0 € AgTSsaT ¥& 9|t 0 Jer g < G fan <t s
‘T I
Geags 3: 42359 € AT #iaT € AETEA HS &Y |
9% : AfymT 42359 feg
ITTHESIHE 9x1 =9
STTHESIHE 5x 10 = 50
3 @ HEST HS 3 x 100 = 300
2 ¥ HETSE H& 2 x 1000 = 2000
4 ST AETEI H& 4 x 1000 = 40000
@erg9s 4 : 59023 € ' »idT € AESA HS &Y |
9% . Afedr 59023 feg

3ETHEST NS 3 x 1 =3
QETHESINSZ 2% 10 = 20
0T AESITHS 0x 100 = 0

9 TTHEST H& 9 x 1000 = 9000
5T AETSE H& 5 x 10000 = 50000
1.3.2 Aftpret & ferf3s gu f<e fdueT (Expanded form of Numbers)
< 3 At Aftmiret fE9 999 vid € AEsd H& & U3T Jaa7 fHftmT T
g WAt At = 87 Agad H& U3T Jdd 9% [SAf33 He U3 aatdr, fae -
Gegg9s 1: 34506 & fenfaz gu

3 5 6
\—>6><1=6
0x10=0
> 5 x 100 =500
> 4 x 1000 = 4000

3 x 10000 = 30000
34506 &7 fenf33a gu = 30000+4000+500+6

Hfeprat 13 \779
EL

Y



Gea9s 2 : 27083 w7 fenfaz gu fad |

J% & T feqrehut
ol o | B E|E IS
2 7 0 8 3
|—>3><1=3
» 8 X 10 =80
» (0 x100=0
> 7 x 1000 = 7000
2 x 10000 = 20000

\

27083 =7 ferf3=z gu = 20000+7000+80+3
Qegas 3 : Aftmr 98604 & fenfaz gu fay |
J% : 98604 & fenf3az gu = 90000 + 8000 + 600 + 4
Gerags 4 : Aty € ferfaz qu 3 At {84 |
(a) 20000 + 7000 + 800 + 90 + 6
(b) 80000 + 6000 + 60 + 8
d% : (a) 20000 + 7000 + 800 + 90 + 6 = 27896
(b) 80000 + 6000 + 60 + 8 = 86068

1. 3& &t Aftpret &9 Sdld »id @ Agsd S 8T |

(a) 8326 (b) 54588 (c) 90008 (d) 99234

(e) 49716 (f) 47168 (2) 63184 (h) 29999
2. I& fodtrt Afuniet fS9 Sdla »ia a7 nifas WS (B8 |

(a) 82232 (b) 54180 (c) 90811 (d) 12994

(e) 11973 (f) 24716 (g) 11631 (h) 59999
3. 35 fedtart et & Femfas gu e fod |

(a) 232 (b) 4180 (c) 27811 (d) 82994

(e) 10073 (f) 43710 (2) 61639 (h) 26999

%ﬂr/ 14 aife3-5



1.4 Afemet €@ 3BT (Comparison of Numbers)
fug® gmar feg wirt Aftret € »iat € Aesa e w3 ferfas gu a9
9997 J13T AT | T AT A=t @f IB&T Jdm -

< 890 3 560
mfmuer - 9f96, feost feg far et <0 37

IAsT - 2y fgarasa &1, T 890 (Ma K 39 JuT) |

% 560 10500
Mg - 996, feost feg far @tz we T ?
g%t - 336 &, T 560 (dA 7 Ha que) |

3 560 3 10500 3 32500
mfovuar - df96, fegst i[9 far St g Ag 3 =TI ?
Ael - gfgm &t, T 32500 (F3t 9979 U9 K uE)

s el

<2500 < 10500 3 560 < 32500

s 15 ﬁé
A




mfmug - dfe6, fegst gyt § a3 nighe fue g f<a fay |
fmadatls - 560, T 2500, T 10500, T 32500
mftwug - (Uan §) fegst @agwt § a3 wigng wee gy fee
foy |
UTIH - 32500, % 10500, % 2500, T 560
fen arsifedt 3" g niftwiua &6 dfemt & gB&T © fawH @1 Arear |
3% @ fsH (Rules of Comparison) :
1. Adq fan Afumr & #iq, grdt Afwnr @ »igt 3° farrer g 3T farmer
nat BT HiwHT, ufe et 3T AfawT 3 3T J=a |
fAg :- (©) 812 < 1243 faQfa Afwmr 1243 f&g »ia fer I5 |
() 3398 < 32365 faSfa Afemr 32365 f&T »ia fammer I |

() 99999 < 100000 faQfa Aferd™ 100000 fE9 »ia favmar
Jé |

2. Hdd & AfyTeT @ »iq 99799 9 3T AETSA H& ©F Hew &8 Aftprret
O IB&T ISt At J1 feH BT AT I T3 AEST HE 8 WaT at
IFST ST AET T | Add AT 3 5 AESA HS T8 W 999d g 3T
EF I MI® AETSA HE 8 »idT € IBET A3t Al I |
fAg - (8) 48213>37813 fa@faeraAa e mg s '3 4,3 58 <37 J |

(%) 23208 < 25360 fa€fa T e FEs '3 5,3 5% 37 J |
(¥) 70482 > 70382 fa@faT AG=x € AE'® 'T 4,3 5B I3 J |
(W) 23451 > 23482 fa@fq ot € AE™® '3 8, 5 5% 3T J |
Qergas 1 : Afwet ST A9 3 3T Aftpr™ M3 Ag 3 <t Al foy |
70884, 90306, 30245, 93675, 65009
9% : Ag 3 ST HwAT = 93675
A 3 &<t Hitd™ = 30245
@eggs 2 . A=t & Sue g 9 fau |
8457, 651, 5983, 61004, 90023
I% 651 <5983 <8457 < 61004 < 90023
@ergas 3 : Afymet § ufee g i< fa |
55555, 55005, 50505, 50050, 50555
I8 55555 > 55005 > 50555 > 50505 > 50050

A“\T(_y/ 16 afe3-5




Geags 4 ¥at 2, 3,5, 8 M3 7 viat I yd »iaT ©f ¥t I I3t I
gt I a1 Afvur fay |
9% . I3t T I3 Aty = 87532
g 3 2t AfyT = 23578
Gegas 5: Wat 1,0, 9, 8, M3 3 &% gt Ud »igT € <31 3 I3t mia
gt I a1 Afvur fay |
9% . &3t T I3t Afyd™ = 98310
g 3 2t AfemT = 10389

1. &t Ags fg <, >, Af =e" fdg 39 :

(@) 8072 11872 (b) 9876 16789

(c) 21916[___ ]29161 (d) 40234 [32234
(e) 35003 135003 () 60104 160140
(g) 52838 145885 (h) 99999 1100000

2. & foxtmt Aftrret f@9° Rg 3 <51 Afvrr &8 -
(a) 8172,2578, 8127, 8728, 8527
(b) 60060, 66006, 60600, 66660, 60006
(c) 58031, 13258, 35185, 81135, 86311
(d) 47443, 73434, 44473, 74437, 34474
(e) 872,31827,5183,31725, 40426
3. 35 foxitt Rftret 9" A9 5 & Afvnr fod -
(a) 9064, 7372, 8938, 9746, 9942
(b) 81018, 80108, 80810, 18018, 10018
(c) 32334,23443, 24334, 33342, 32343
(d) 927,39272,93227, 46238, 27999
(e) 43148,44813, 48134, 34148, 13481

Hitrat 17 \"Yﬁ{)
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4. Aftmiet & Sue g fea fag .
(a) 9036, 6309, 9610, 699, 1000
(b) 37492,94713,49273, 61047, 52364
(c) 63918, 36829, 45261, 61514, 63819
(d) 36118, 70225, 27052, 36343, 52073
(e) 28136, 28236, 28853, 28534, 28435
5. Aftmret & uiew v &9 &g
(a) 7084, 8084, 4048, 5074, 6785
(b) 61272, 71262, 51721, 41112, 62271
(c) 72280, 82720, 87220, 82270, 28780
(d) 99063, 93083, 94835, 99093, 96039
(e) 83226, 86203, 28306, 28603, 27503
6. Mgt 6,7,8,4mMI 1 § a3 Je yaniar S st I T w3 &<t 3
sl At f&y |
7. WAt 5,8,3,0M3 9§ T93¢ I¢ YA niar S Tt F It mI &t 3
<t Afgr fod |
8. FY Y wigt T YWar g9 Ud wiat &t I3t 3 It I gt I 8t
Hitpm fd |
1.5 &a134a1 37 @ Aft™ (fsaeiaas) (Rounding of Numbers)
fugst iz &g wit Aftmret e faaetaas Tomet M3 Aas <9 d9a
fifirr I 1 @erags I 39 T ATy 48 © garel fE9 faadtads Aty 50
J w3 Al 514 T vag {9 faactaas Afamr 500 T 1 femr 3gt, wit fen
M3 &9 FFhd™ Aftpet @ faadlads garet W3 Aas 3 fewrer gd9,
BY nife f&9 JaaT fyiar|
fsaetads € faur - Taret &9 fadeiads ade AN Add feaTet @ ras
i 5 A 5 3 U IS 3T T9El @ vi @9 | fur I I fearet @ via &
HE'S T 0 BT o AfgwT a7 fadelads ai3T A7 AdeT J | 799 fearet & rgTs
o g 5 3 Ufe 92 3T EUTEl € RS © i § fasT gvs w3 feaet e g &
HE'S 3 0 BII o Ay T faaciads a3t A7 AaeT J | fen fawn »igarg ot
Fag o fadctads AN ©dTel €7 Wid M3 I €7 fsaeiads ada AN o
o wia e A= | fegT famt arat ot wint Aftr=et &7 e/ 9a'9, 84, €F
BY fSg 3 »iar <t feactads a9 Aae af, fa=s:

éf‘\ T@/ 18 afe3-5
1l




360 @ A= 9 faadtads ad : AfemT 360, 300 78 400 & farmar
sadta I, fer st 360 @ A9 &9 faadtaas 400 I |

3000‘14—133150 l35I00I il l40I00

3350 @7 g9 feg faaetaas a9 : AfepdT 3350, 4000 578 3000 & fammar
addla 7| fen &€t 3350 = ga79 €9 fadctags 3000 9=ar |

Hod fasde Ta7d I II&T JHd BE J Ad3T gy
firg faedt f3® arg | Ha= Bg @gret |
Uq 3 & Ad=3 & 8ot g # fode garet adat

ga9 feg fea =g | og gt fearet |

Qeraas 1 : Afunr 256 § &3 €1 wurel f<a feaeidas aq |
9% : Aftpdr 256 &9 fearet evwiq 6 3, 7 fa 5 3 Su g, fen et
HfgwT € ©aTet @ via 5 fe9 | 3¢ o w3 fearet e vfa ©
AETS 3 0 &I fee gt | yruz Afwn 260 T | ferm et fAfanr
256 €T 5381 TaTel &9 faaciaas 260 I=ar |
Geraas 2 : Hftmr 850 & 3] © HaS T faaciaes aq |
9% : Hftprm 850 f39 Taret & »iq 5 J, fen st Aftr™ © A9
T S © M 8 &9 | A< o, feaet g eaet e via ©
AETS ' 0 &I fee gt | yruz Afer 900 J | fer et Afar
850 @7 33% A=z fI9 faactads 900 g=ar |
Quraas 3 : AfumT 8756 & BaTSaT 338 w9 4 faaetdas ad |
9% : Az @ AgS v 7d, A fa 5 3 U J| fer &t 8756 @7
Ja7g {9 faactads 9000 I=ar |
Hfemrat 19 \?7{73




@uraas 4 : AfeT 10809 & BI15aT 53H ©F IAd ST feaeidas dq |
9% . JA9 € AES @ 0T, 7 fa 5 3 ue I | fem »et 10809 @v
oH g9 {9 fadetads 10000 I=ar |

1. & foubodt At § 3381 Toel T fsaetads aq :

(a) 270 (b) 809 (c) 6465  (d) 9782

(e) 908 () 100 (g) 25338 (h) 1756
2. I foitnt Aftpyret § 338 Ao €9 foaciaes a9 ¢

(a) 325 (b) 875 (c) 990 (d) 4580

(e) 568 () 63535 () 85972  (h) 75069
3. & st Afenret § 538 gae S feactags ag -

(a) 7890 (b) 8901 (c) 45982  (d) 5650

(e) 63520 (f) 50460  (g) 60008  (h) 9999
4. I& et Rftrret & 338 eR gae <9 faaeiags a9 :

(a) 27900 (b) 80901  (c) 46580  (d) 12550

(e) 99998 () 10001 () 23235  (h) 23568
5. 35 fadtmt Aftpret @7 33 €t ToEl, HAg w3 gaw @9 faadiaas

qq

(a) 1625 (b) 1982 (c) 25200  (d) 21218

(e) 35462 () 39126 () 65915  (h) 99199

6. 8T &<t 3 <t 3 At iz 31 3 3T Afv T, A § oma <9
fsaetaas gaa 5000 yuz Jer = |

7. A9 AfeHT 341 @7 538 Toret &9 foadtads 340 der T, 3T €9
ASPHT Aferret fad fagT e 538t euret 99 faaciads 340 3=ar ?

g nife Aa3 U39 & | miferud fegt § &3, i w3 AE™s H3™ed

ge%, TUT 7 HUd g9 AdeT J | fefemmagtnt & fu 3 funfarm gee@e

o BE JY ST AfT=t wWUS 8% < {8yt Ager J|

%:?‘\ Yg/ 20 afes-5
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10.

11.

12

/ gg-feasfud yas (MCQ)= "
U migt @t @3t 3 3T Aftprr &t maisa Afv fad |

(a) 99999 (b) 10000  (c) 100000 (d) 9999
. € nidt @t I fastt Aftprret a5 ?
(@ 99 (b) 90 (c) 100 (d) 89
. 5ot @it IS fast Aftmiet g5 7
(a) 99999 (b) 9000 (c) 10000  (d) 90000
4,6,8,9, 03 9T U niat &t 8t 3 &1 Afawr faggt I 7
(a) 46890 (b) 04689  (c) 98640  (d) 40689
@9z g9 @9 Afuwr faast T ?
(@) 59590 (b) 5959 (c) 59059  (d) 59509
AftpT 26573 fE9 6 " AEST HS &t T 7
(a) 60000 (b) 6000 (c) 6 (d) 60
fenf33 AferT 20000 + 5000 + 30 + 4 3 gt Aftpr I
(a) 25304 (b) 25034  (c) 20534  (d) 25043
7,8, 6,7, 9 miat 3 gt UA »wiat ot @31 3 5t Aferr T -
(a) 67879 (b) 98767  (c) 98776  (d) 98677
fegut Aftprret fE9 faast Aftewr fS9 8 & Aasa H& 8000 T 7
(a) 35832 (b) 43248  (c) 54682  (d) 48054
ARtPAT 48 &7 SHS wid TN |
(a) LVIII (b) LXVII (c¢) XLVII (d) XVIIL

AftpyT 85 € IHE Wi ©H |

(a) LXXV (b) XXCV  (c) XVC (d) LXXXV
At 10000 <€ fugsa Aftpr faast T 7

(a) 9999 (b) 999 () 99999  (d) 1000

£
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cvo o 0 o I ¢ ¢ ¢ ¢ ¢ -

13.
14.
15.
16.
17.
18.
19.

20.

21.
22,
23.
24,

25.

.r/(ZZ) aifes-5

94 T IHE M f&H |

(a) CVI (b) XCVI  (¢) XCIV  (d) XICV
L X, L,V 3 9t i Aftpur faast T ?

(a) XILV (b) XLVI (c) XVIL  (d) VXIL
1,0, 3, vidt & @93 & U »iat €f 31 3 <31 Afenr fa |

(a) 11103 (b) 10333  (c) 33310  (d) 10003
9, 8, 0 nidt & 93 d @ Miat Et 8¢t 3 st AitprT faH |

(a) 9800 (b) 9008 (c) 8090 (d) 8009
758 €7 331 vael {9 feaetagds at J=ar ?

(a) 750 (b) 760 (c) 800 (d) 700
AftpAT 8978 T 3381 varel T fsatads at d<ar ?

(a) 8980 (b) 9000 (c) 8970 (d) 8900
AT 69684 €7 338 Iu'd fS9 feaiads af d=ar ?

(a) 69000 (b) 69700  (c) 79000  (d) 70000

Ha9 AftpyT 7 €F A9 f9 fE&acidds daaT 92 3T fan Aas &t AftT
& oyd fsdciads agaT d=ar ?

(a) wJret (b) Aa=zT () TIdAW (d) ©WIA9
AftryT 50358 €9 0 @ Ags S at d<ar ?

(a) 10000 (b) 100 (c) 1000 d) 0

(@) L,X (b) L,V ) X, 1 d L,I

(@ 5 (b) 6 (c) 4 @ 7

(a) 10 (b) 100 (c) 1000 (d) 10000

fareaa € faA St Iy (39) f&9 Su 3 24 fada i3t (93H) Ue A7 Ade
I5?
(a) 1 (b) 10 () 0 d) 9




__________________________________________________________________________________

wHT 7 fAfPHT (Learning outcomes)
+ 100000 3T Tt At & uZsT, fdyeT, W3 mige € GardeT |

L ufe f&9 Aftret €t 293" € Gar g7 |

JeT|

Lo gaTaT faealt feg It fafenret fAe 8=-T<, gfdqr, ydte-<9

+ Hignret @7 MEH's, wwwmwﬁmﬁgw

|+ Aftpret @ nIr39-fue 39, fue-wew @H ¥ A'SaTdl € WaT 97 | |

L. w—wwémmeﬁ?eﬁwaﬁygﬁwm

T Gar g7 |

__________________________________________________________________________________

mfgm 1.1
1. (a) 46305, fenst gaa fas v da
(b) 70533, A3 Ja9 YA H 33T
(c) 84349, gamt ga9 f3as 1 @7
(d) 33007, 33T THATHI

2. THIAT | I99 | A9S |Tarett |fearetmt
(a) 3 8 6 8
(b) 1 7 6 0 5
() 4 1 1 2 3
(d) 9 2 8 5 6
(e) 2 0 2 0 3
) 9 9 7 2 8
3. (a) € JIATITH IIS (b) WM& TAT & H MSH
(c) €=t gaadas (d) ItTAIE

(e) gla all a |8ua ﬁ"ﬂ'@?}é' (f) Q(‘)Ido Jdd'd 1]'31-81'
(g) MEUS IJA9 S5 W 3T |

e 23 \@7\‘”"—?

y/
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(e)

(e)

(e)

(2

(b)

(d)

1745
90806
999
48676
24854
49999

20
700
2

7

200+30+2

(b) 33875 (¢
(f) 80880 (g
(b) 10001  (c)
(f) 40010
(b) 99998 (¢
(f) 23455
mfemH 1.2
(b) 4000 (c)
(f) 7000 (2)
(b) 4 (c)
6 7 (8)
(b)

20000 + 7000 + 800 + 10 + 1 (d)
10000 + 70 + 3 (f)
60000 + 1000 + 600 + 30 + 9 (h)

>

8728
40426
7372
13481

mifsmm 1.3
(b) > (c)
(H < (2

(b) 66660  (c)

(b) 10018 (¢

699, 1000, 6309, 9036, 9610
37492, 49273, 52364, 61047, 94713
36829, 45261, 61514, 63819, 63918
27052, 36118, 36343, 52073, 70225
28136, 28236, 28435, 28534, 28853

77077  (d) 50505
100000

2019 (d) 100000
39998  (d) 79889

8 (d) 90000
60000  (h) 20000

8 d) 9

6 (h) 5

4000 + 100 + &0

80000 + 2000 +900 +90 + 4
40000 + 3000 + 700 + 10
20000 + 6000 +900 +90 +9
< (d) >

> GQ <

86311 (d) 74437
23443 (d)y 927

afes-5



6470

25340
1000

86000
46000
60000
50000
20000

(d)
(h)
(d)
(h)
(d)
(h)
(d)
(h)

9780
1760
4600
75100
6000
10000
10000
20000

1980, 2000, 2000

21220, 21200, 21000
39130, 39100, 39000
99200, 99200, 99000

5. (a) 8084, 7084, 6785, 5074, 4048
(b) 71262, 62271, 61272,51721, 41112
(c) 87220, 82720, 82270, 72280, 28780
(d) 99093, 99063, 96039, 94835, 93083
(e) 86203, 83226, 28603, 28306, 27503
6. 87641, 14678 7. 98530, 30589
8. 98765, 10234
mfg™ 1.4
1. (a) 270 (b) 810 (c)
(e) 910 (f) 100 (2)
2. (a) 300 (b) 900 ()
(e) 600 (f) 63500 (2)
3. (a) 8000 (b) 9000 (c)
(e) 64000 () 50000 (g
4. (a) 30000 (b) 80000  (c)
(e) 100000 () 10000 (g
5. (a) 1630, 1600, 2000 (b)
(c) 25200, 25200, 25000 (d)
(e) 35460, 35500, 35000 (f)
(g) 65920, 65900, 66000 (h)
6. 4500, 5499
gg-feasfua yrs (MCQ)
1. ¢ 2. .d 4. d
7. b 8. .d 10. ¢
13. ¢ 14. 15. ¢ 16. d
19. d 20. 21. d 22. b
25. d
—

o o o o

7. 335,336,337, 338, 339, 340, 341, 342, 343, 344

12. a
18. a
24. b



Gem: 1. 100000 3T Tt A= & A3&T, WeGTT, IIST M ITaT
3T g

2. FaraT faedt et faforr=t fae” =-T<, €3, Sfadr W3
ydte-29 witfe fI9 6 »iat I St Aftprret St fafanm=t
©f 93 g9 A'=ddt |

3. §9'Hd ¥3< M3 TI-T9 736 ©f Yl € T8 I% g9
Aot |

4. wefed YHat grdt dfemt & Ao ma3t feafis doaT|

5. Hfot e yasa W3 gfud fea™m d9a7 |

NED

1. 35 fafirt & ds a9 :

(a) 4203 (b) 3708 (¢ (d)
+6415 +6272 5026 7863

+ 131 + 472 -2553 -5507

2. USRS 39 .
(a) 115 +327 = 327 + [ ]
(b) 321 + 0 =
(c) 139 x 1 =
(d) 625 x 0 =
(e) 339 -0 =

%‘\ r/ 26 afes-5
i




f) 119 =119 = | |
(2) 128 = 16 = | |
(h) 720 + 500 = | |
G 10000 =+ 10 = | |
G) 152 = 19 = | |
3. »G adte:
(a) o Ag® ST 342 333 M3 369 BIAHT UFEhT 95 | H A S

(b)

(d)

(e)

()

(2

(h)

feg fda g9 usT 75 ?

fea gren fS9 459 Satiit g W3 813 St I7e® &t I& |
R e <9 fastit Sdbit a5 ?

fea m® fS9 ToHaylz da9 & 1790 €3F seetnt mid st aa
& 1299 €3F gt | JoHs Ul & H3™®t o 3 faatut €3t
<y gITEhAT ?

JIYT3 & mue fuzT 7t 3°% 10000 B M3 T 3540 © e AEla®
ydte fonm | 87 3% fad que gat 59 ?

ffaq gaTsed a8 625 T8 € Ude 95 | 39 Ude feg 100
e U5 | EATHETd a8 9 & fAs T 2Tehit I& ?

feq eda & ¢ f&9 250 foeg Stws J1 Aa9 oI fEa g
Sta® 578 9 faBriled € gdt 3 qaeT J 3T o9 I & faat gat
3 gdar ?

fea rg® <9 648 fefenmasgt uge g5 | fudfaa Are =&t fea
Ag® o1 ST 18 fefenradt 95 Aae g | AT fefenmaghnt &
fuafea Bet Are &t fdatit Ags gAt € 83 u=4it ?

fea grar fE9 »Hge & 2568 §¢ B4t I€ I& | 79 feq a39 f[<w
12 g¢ B3t d< 3t &R grar f&9 fdatt a3mat gt ?

2.1 A M3 WEQ (Addition & Subtraction)
J | fen A3 ST widt St Afmret € A3 M3 we§ § fiufar|

i



mfodue IIHT St € Hee &% Afgmret §ug yeshdt fafor=t (73
M3 WeTg) dfemt § arStfeubdt ardt ga=rear | mftrmud € gfent, ygn3s
M3 o3 § 3% g8 d ¥ JIAT &< g<ar M3 feg GoT § &3 87 &
HST™ I I & 9T ITHT 979 RS Bt I | §EUds et ygn3z aF 4132 gue
T JI9AT 8¢ I& M3 TAHaATS 3% 1252 JUT & I9nt &8¢ I8, 3T mftmmue
Eat & g5 IH! YS9 w3 ¥F qdHt St § fieT & YU I SR

Yga3 I gHT 4 1 3 2
fAHads 3% gt + 1 2 5 2
J& JHT 53 8 4

few arstfedt & mifermue gamar feg A7at Juar | g wifrmua fimedls
& J% I 5384 gue 9" »irue 9w &t gt 1252 quUe SUR YU3 96
e gJar | 7€ fAHIHS mruT IHT 1252 JUT YTu3 9 =9I 3T g7dT ITHY
ygn3 § fest ar=art|

d & IHT 53 8 4

ferig §=uratstawt — 1 2 5 2

gt IH 7 yga3 § st 4 1 3 2

fen 397 Quaa3z arstfeut a3 feT Su-<y IIgut fET Ja=ret Ar=ait |
mfeua Ag-wes € fen arstfeut 3 §°39 &t U3 J9& Aot < gfent
& THaT |

*+ 91 +0=91,0+91 =91 far Afgwr fSg 0 735 A7 0 &9 T Aftprr
136 &% §°39 €9t Afgwr =it |
* 79-0=79,0% fan Afenr 9" werGe '3 <t §°39 Gat Aftrrr g=art |
I8t a3 9, »it en gar 3q &t Aforret § fea g S ofis
NI W3 TR 3 fast A3sT W3 weger fifwdr 71 87 feut &7, wint
fea By I Tt Afgnret T 83 W3 WS ade It |

;f\ Tf_y/ 28 afe3-5
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2.1.1 A% 3 fast A7 M3 WG
few grar feg Wit €uaT AuTds AfyT=T @ A3 W3 WS 979 3% adtdr,
fagT feg ofAs sdt mrger|
@95 1: A3 d9 : 2213 +4512
J% : 2213
+4512
6725

Cegas 2 We§ 4567 — 1234
e 4567
-1234
3333
2.1.2 A ANT A3 M3 We'g
few gmar f<g wrt Guat Afret € A3 w3 We's &t 9i% aatdr, fagt
feg gfas mQer J|
€euds 3: A3 d9 : 3756 + 1464
3w 000
3756
+1464

5220

Gea95 4: WG T : 5688 — 2189
J% : 5688
~2189
3499

WS Tt USI® : §T99E 4 I ATTEST 578 iRt weg € us3TH
atar fa ArsT €739 Aat I A &t |

UYI3I™H
56 88 3T Afeprr 3499 739
-2189 st AfgrT +2189 st AfgrT
3499  wEg 5688  Fstafe

et @UT Bt fafammet 29 \{L



Geuas 5

€vas 6 :

Cugas 7 :

+4283
+8075

16230

+50309
+ 832

12414

-5908
2013

H& U3T d9 6543 + 5039 + 832
3= 6543

HTtT 3872, 4283 M3 8075 €T H3eH U3T I4 |
i85 : 3872

AfeT 7921 f&9° 5908 & WS |
9% 7921

AHS M3 d9 :

1. & d9:

(a)
(c)
(e)
(8)

6574 + 5502
56754 + 25740
8988 — 2450
80029 — 21200

2. IS T

(a)
(c)
(e)
(8)
(1)
(k)

& 30

8760 + 2584

38009 + 55691

8761 + 5584 + 4320
28740 + 54938 + 12338
8849 — 4118

80003 — 19219

(b)
(d)
()
(h)

(b)
(d)
(®
(h)
0)
(D

5350 + 4102
25000 + 11887
8990 — 1034
56789 — 1234

9649 + 5161

25347 + 74040
4687+ 1000 + 1130
72624 + 3106 + 10234
51307 — 42158

70000 — 12345

afes-5



3. WRFEMI YIS AT :
(a) 98920 — 12334 (b) 40013 — 18167
(©) 7890152214 (d) 40467 — 10239
(e) 79571 — 48678
2.2 AF-We'G €U9 I¥ I9 HaBY :
WAt A3-WZ™E € ATUTds ASTST 979 9997 a3t J | fen gmar fEg »mint '3
J9 mifrret e fadgg g9t |

Ceads 1: * € AEE ' AfrT 99 |

7895 d&: 1895
+ 4 2 9 % +4 2 25
L% ] % 4 +2 124
1 4 * 4 4 14244
Eeas 2: * ¥ AE'S I AfYMT 99 |
8 * 50 7 S 8 0 7
— 1 3 * 4 * ~ 138409
* 76 * 8 67658
€E€9s 3: HB U3T g : 8786 + 1254 — 5232
& : uar 1 yar 2
8786 10040
+ 1254 - 5232
10040 4808
€e€95 4: HB U3T a3 : 8975 — 2080 + 4156
IS : yar 1 yar 2
8975 6895
- 2080 +4156
6895 11051




+ox . 4 5 6
9 9 == 8 9 * 9
® 1 5 6 * 8 ) 2 0 * 0 4
= % 1 1 2 6 * 3 3
0O 2 5 6 = 5 7 4
8 8 3 0 = 9 9 8 2 =
© ¢ * 7 8 @ 9 9 9 =
2 3 4 = _ 2
7 6 5 5 4 =
@ 9 7 2 % 2 (h) 9 7 8 * 3
_ % % 1 _ * 1 3 %
g 3 = 9 6 2 * 5 5
2. I& AT
(a) 1238 — 1025+ 5018 (b) 93862535 1002
(c) 6307 —4052+ 2115 (d) 8107+ 2437 — 6089
(¢) 18337 +30947—34413 () 91206 — 70413 + 30824
(2) 10003 — 5911 — 3284 (h) 92319 — 65424 — 12105

2.4 = M3 WT'E &% AU Arafed AW fimret
g< I AT 73 WeTE € AT ‘I 9997 i3t AT | I WAt efed Aies
ot =T AR AaifdT e S/gr/wreT, i3 AT & »witfe g9 9997
WW@EWBM@4BETW@W§W&%T
fefenragtnt § ga=e

ﬁ?\ T,__7/ 32 - —
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gatar | fegast mae mifmret e ufgst i & ugsT, Afor=t fguy &
J&% ddaT M feg @ 3g =T der J|

Guuas 1 : A=t 45167, 30662 M3 21197 T ASeSH U3TIT |
Js: 45167
+30662
+21197
97026
45167, 30662 M3 21197 &7 A= 97026 T |
Gvaam 2 : Afumr=t 82613 M3 56607 ffT9 fasT »zaa T ?
I 82613
~56607
26006
few BE 82613 MF 56607 T M3T 26006 T |
Gugas 3 : fea fis ff9 23456 mmeHt, 23148 M3t W3 10177 9 I& |
fis &t d& maet UST a9 |
7% . fisfegmairietfarcat = 23456
fizsfegniggtatfarcat = 23148
fisfegdgfemfetfaest = 10177
fiz ot g & mra<t = 23456
+23148
+10177
56781
fiz € g% »rarat 56781 J |
Cugam 4 : @UWUBTE{%WET
(€©) 74907 3 21835 U I=
(") 25431 3 14076 Wie I<
3% . () 3 Afo U3T JIE BET 74907 MF 21835 A3H
I AETJ|

33 \?T/ ?Ié



Gegas 5

Geuas 6 :

74907
+21835

96742
F3TeET AfymT : 96742
() B3t Afeed™ U3T I9& BT 25431 f&9° 14076 W&
T HETJ|

25431
-14076

11355
&3t Afadr : 11355

38108 f&9 fauat Aftr A3tE 3T A A3e3 69990 YUz I= |
;. BT ARPAT U3T d96 BT A3eH 69990 &9 fE3t Afen
38108 & wWe™§ 3T AieT J|
69990
~-38108

31882

UIIS
MG UI3™H J91E a1 38108 &9 AftmiT 31882 A% '3 AZH
69990 YUz gET J ?
38108  &tifior
+31882  wige
69990  #=w

IIHAS & g9 9 T 24766 v I&®fedAs, T 9179 &F

WMBHTET MF T 13250 T N YdtfenT | JoHAS & 9% fas
JUT Hag a3 |

c CBfeAs TS = T24766
MBI TTHE = 39179
HA @& = 3Z13250
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Cugas 7:

Geuuas 8 :

Gegas 9:

. & Afypdrat @ 938

J

d&% Ydd

24766
+ 9179
+13250
47195
I % °Hdg =T 47195
Wat5,1,8,6M3 74 43¢ 9¢ SHAT S T I /T 3
gl 3° &<t AfunT U™ ad M3 BFT T A3 M3 W37 u3T
dd |

T TS AT = 87651

g T T AT = 15678

i3 = 8 7 6 5 1 W39 = 8 7
+ 156 7 8 - 15
103 3 29 7 1

O | N

51
7 8
7 3

< Aftprat @7 33e8 81900 T, A9 foa AfeeuT 70945 3= 3T
gt At U3T 94 |

81900
70945
81900
-70945
10955

fea A
oHt HfeeyT

oAt HideHT = 10955

HI379 AW & ga79 f&9° T 1430 guT = fea 3316 yatfemr|
SHe gaaed § % 2000 € &< &3 gaaed GHg faa
JUT =fUH F9arr ?

. gaaag § fest gt = %2000
CEISE=LIvroY = 31430
TGO B MU SASTIH = 2000

~1430
570




AHS M3 d9 :

1.

10.

11.

12.

(a) 60498, 31292 WMF 7132 €T A3eSH U3T 4 |

(b) 70123 ™3 40268 T ¥33 U3T AT |

fea wg &t gATr g=@< BT 27020 feet & MIT IHIT g8 BTt
31275 feet € 83 T | WI €F IRET W3 - g8 Bet & fastmt
feet <t &3 g=ait ?

HIATZ &% T 20000 A& | 878 T 13750 © U ydte ¢ | On o fast
Jaq grat Ifg aret ?

fea grfegat €9 30155 yrasat damdt €t 28653 uA3at aifes et
M3 12376 YRS MIdwT St 95 | Briegdt ff9 & fastt yasar
Is ?

€ Aftpr=t @7 73 89000 J | 7ad e Aftpyr 25450 I= 3T gAT AfteyT
U3t a9 |

AfeT 70429 &9 &t A3 fa Ages 100000 YUz 9= ?

Gv Afeprr yzT I9 fATST -

(a) 36798 3 7976 |T I=

(b) 30067 3 12967 Wie I=

Hag FfUGed T H& T 15560 I M3 BUSTY €7 H& dfufed € H& 3
29050 T T 3T:

(a) BUTU T HS UST AT |

(b) FUGET M3 BUSU T IS HB U3T T |

Mat9,3,4,0,7 St 93 dde I€ SHAT S ST I ST M3 8t I 8l
Hft™ U3 a9 | fegst e #i3a T U3T a9 |

4 nigt &@t, 3 »igt & M3 2 »iat @it ST 3 3T A=t T 93eH
U3t a9 |

HfgT 96074 9, 6 © AT H® M3 7 € AT H& & »i3d U3T
el

6 Mt & 8¢t 3 gt At &9 45555 F we S |

A?\ T@/ 36 af=3-5
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13. A3&™ d& % 8765 A& | @7 & W™ &1 & §ad T 2500 J9 fe3 | feg
AS&™ & MUE g% gufentt ffg" mmust = § 34770 € fe3 1g= €n
a% fas gue gat g9 ?
14. W& 38 % 10000 A& | A& g7d f&9° % 1050 €7 gt &7 737 w3
% 3600 = feq de-Ue yalfenm | 87 3% fda gue gat 59 ?
15. AU 43 ff93 78500 95 | BT mmue §F y3 e fas gue 39
Myt ga=re fa 8re ur3 ff93 100000 Y3 I A< ?
16. e mrert ufgd fews UsTade 3 amile 3T 165 fa . a9 & ger
J 1 a® fes €T wredt amild 3 8T 3 138 fa vt. a9 g&ger J|
87 mmert & € feat f<9 fast gat 3w aist ¢
2.5 €T (Multiplication)
fug® a1 ST, »irt aifes et & y® fafer=t A3-we§ & fermge
ya=d fifen I 1 g wit St ue fafonrr ‘gre™’ g7 g9 agtar fa <3t
Afemret &t greT & faw 3gt atgT AteT 31

=

gfgnt § IIHT 8¢ Ha 3 gd< Set dd M3 J9d §97 99790 ©f N3 &
ST |

ufgsT g97 = 1000
gHT 9T E 1000
EiCuk: sy = 1000
ggr §97 = 1000
dA=<t g97 = 1000

g< gfent § AT JUT v3& ST a4 |

1000 + 1000 + 1000 + 1000 + 1000 = 5000

miferua dfent § ©rar fa Ade A9 adnt &< f&q It avzg © 9= 3F
wt fen & ge8< gu f29 1000 x 5 = 5000 It S I& J9 AdE TT |

i



g Afermue dfemt § €rar fa #dd AT & AT 25 9 1000 — 1000

JUT 99 &< 3T AS A3eS U3T J96 Bet 1000 § 25 9 AzaT u=ar | fen
&% gg3 AHT &aiar | fer et ¥9-T9 A3s 3 gu< st vt fen & greT
J9d §39 d€ Aae I |
1000 x 25 1000
x 25
5000
20000

25000

Gegas 1: (a)7345x6 (b)2308x35  (c) 1512 x 105

\J

J%

(a) g 7 e fe (b) g 7 e fe (¢ g " e fe
2 2 3 2308 1512
7345 x 35 x 105

X 6 11540 7560
44070 69240 00000
80780 151200
158760
Geuds2: *TrE ‘IHniag I
T F e fe J% : TR e fe
3 2% 327
x * 2 x 4 2
6 * 4 65 4
*3080 13080
13 *3* 13734

* Wfoud & AT € 3 TUMAT ITH JIST JISTE T AN I SdTel, AdS
A U »idT &% JST dd& AN USUTGI3 F93 A'e X’ ¥ feus € A
0 ©f ¥93 Ja<TEdr |

%?\ T@/ 38 afe3-5



1. I&d9:

(a) 450 % 6 (b) 963x9  (c) 529x23  (d) 988 x 38
(e) 912 x 56 (f) 806 x56  (g) 252x54  (h) 1888 x 19
(i) 2005x34  (j) 1560 x64 (k) 10569 x8 (1) 10210 x 9
(m) 230 x 150  (n) 400 x 225

2. IS fShot e gIeses U3t aq ¢
(a) 4045x23  (b) 1609 x30 (c) 363 x 134 (d) 455 x 208
(e) 105x120 () 1440x25 (g) 1530 x 61 (h) 3817 x 12
(i) 1908 x35  (j) 1000 x 29

3. *<Etarwasd: '3

N|— O] X
N O 3 %
¥ | i

%k
8
2.6 fam Aftprr €1 0, 1, 10, 100, ..... Mife 578 greT qI&T

feg wirt greT @ 8T uH fsu g79 9997 Jatar fa e fan Afam § 0, 1,
10, 100 7% JrET qg&t 9= 3T W gy e fa= fafimm A7 rger 31

+ fam Afenm & 0, 1, 10, 100, 1000, 10000 &7 JST ATST

fae 6x0 =0
6x1 = 6
6 x10 = 60
6 x 100 = 600
6 x 1000 = 6000
6 x 10000 = 60000
+ yfggt fferr § gdt & & gdt Aforr § ufost 578 grer a9 '3
H<7Y 9999 It JeT J |

Aftmret @ua Hesht fafanet 39 \7/73



faefa: 10x6=6x10
10 x 6 =60
6 x 10 =60
* 8x0=0,0x8=0fan Aftrrm § 0 5% IreT 95 AT 0 & far Afnr
&% T Ids 3§39 0 It T=ar |
* 9x1=9,1x9=9fan Aftrm & 1 5% =T JI& A 1 & fan Afeeur
&% 1T 99 I €39 €t Afepdr oF I=ait

1. YStAgS 3q :

(@ 451 x 1 = [ | () 8135 x 10 = [ |
() 650 x 100 = [ | (@ 3090 x o0 = [ ]
() 129 x[ = 1290 (O [ ] x 1000 = 13000
@[ Ix 791 = 0o ([ |x 8 = 8x602
(i) 8414 x 10 = [ | G 67 x 100 = [ ]
k) 91 x 1000 = [ | @ 100 x1000= [ ]

m) 545 <[  |= 5450 @@ [ | x 10 = 7060
(0) 798 x| |= 1798
2.7 e 3 mrurfag mrefed A=t (Multiplication)
fug® grar {9 wirt gIeT € ATUTds AT 979 999 a3t At | feg wnt
ofed Ales &% AEfug aifmdret 79 9997 aatar |
@uas 1: & Aela® & ava T 2560 T1 39 Aretast & ava fast

Jg=4it ?
J% : e Areta® @t a3 =T 2560 2560
39 AT &t M = T 2560 x 39 x39
23040
76800
99840

39 ATt € HI = T 99840

tr i(/ 40 qfE3-5
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Gugas 2. ITF fusT At fEa Hals &9 3 6500 e I5 | fea s
% : fugr 7t fea vate ffg a@<e 35 =3 6500
fugT 7t fiea s ffg anr@=ar =3 6500 x 12
(fa€fa fea i 12 fS9 Hat®s Ie 73)
6

5

x 1 2
00O
00O

~N| N —
ool Dn W

00O
fugT 7 fifaq e f&9 T 78000 IHGT I& |
Cugas 3 : ffa fouadt a7aT T 1308 IHGeT I 1 =99 Hdls ffa €9
fas gue aHTEarT ?
9% : fowmaat €f a7 aHTEt =T 1308

&<9d Mt fEg aHmer =3 1308 x 30
1308

39
39

fomaat s=99 fE9 T 39240 U |

1. fea Aeta® &t i3 T 5699 T | 17 ATEtasT &t a1 faat J=ait ?

2. & gan f<9 12 eveist wr@eht g5 | few 397 € 4590 safmt f<g
faastt eretsT M@=t ?

3. g9 HAdt & 8¢t 3 et Af™ § 98 578 IS JJ |

3
X
00
2
2

Al O|W
SO OO




4

8
9

|
HER

. faa&t € s &t @d<dt &9 AnTs €t 3¢ fene 3 8y WigAa I ¢
Jc fBHe
SHAZ aH3 (Y3t Eng)

<THIT HETS T 24999

wE At St % 42500

| 89T d3Hag % 54000

<Ted Jitdd T 12999

; ) efdw 3 18499

(i) 996 a% fE 34 JuT I& | Ona 2 =fiar Hilst W3 fea WS,
AT 3. ydtet | @A faast o yast ?
(ii) 995 © 997 a& < fEa B4 JUT I5 | E0a e enig asmag, ©
I1ed Jitagd M3 foa efde ydtet | €7 a& gat fadat gy gdt ?
. ffa aaus &9 e fes &9 4990 erehdt gee™ g5 | 19 fest feg
farashdt o™ g &gt ?
. foq o9 fea wie fg 6798 foet & & Aer 7187 13 Wi &9 faaht
feer & & Ar=ar ?
. {8 garsuTg ffq Hafes €& T 5089 € 29« J| Add A9 fes f&g
ST wifad 18 Hafew 85 Sger g 3T Qo faast ga Scer J ?
. Beratat TSt I <SRt § 95 s e ad |

. 24 Uifent f&g fa& Afas d€ 95 ?
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2.8 30T (Division)

g< 39 WAl AIfes Tt f3s Hesthit faform= 73, weG w3z e g9
9997 90 94 91 | g fenet S8t vI3=eyas fafenr €5/3ma1 979 9997 aatdr,
7 dfed Ales f&9 g3 AUt T |
Afeet & € »igt 3q Tt A=t 7% 3791 da9aT fAurfenT farnm At
miforua 8 fefenragtnt § I9-=9 &3 feut, Afvmr 3y avdt gmar1, =79-
=79 werge feut aat gvar J9aT fagtfemT wt | fer mifeurfe f&w, wint fe
BY 3 et AfereT § [Y-JY ITHAT 378 I7IT JIST (HUTdT |
2.8.1 39T Ja& ©F Jig-fiprrat fegt

mfmue T 8415 €t adrt ¢ & o 15 fefenmaghnt § mmus a% g&<ar
w3 fegt 8¢ & 9990 E3< St JJar |

Mo - 3IAT 1559 T 3 IHT T 8415 fa=e &3ar ?

fefenraet - A AT, ufgst T 500 - T 500 Aot § € €< 1l

Moy - J< fas Jue g9 a1e ?

fefemragt - wa AT, T915IUT g9 IE |

mfouer - 3915 fae @3a1 ?

fefemmaat - T 50-3 50 gue & feb|

=~ =~ =~ 8415
mfovug - g fas gug ggae?
- - - 7500 15 x 500
fefermagt - T 165 915
foua - g< gavg fas gue - 750 I5 x50
- . 165
ﬁ-m?
J9 ‘ 150 15 x 10
fefenmaat - T10-% 10 15
iy - g fas que gg are ? - 15 15 x 1
0

fefenmagt - ma AT, T 1599 | — 561
mftwmuar - g 3978 fas-fas gue fisear »
fefenraat - #t, 1-1 Jufen|

et @UT Bt fafammet 43 \{L




mftmmuer - g fdas gue g9 7?

fefemmaat - &gt &dt|

mfouyar - 397 faa-faa gue s ?

fefemmagt - @I FFA)T500+350+310+3 1 =3 561

few &9 gufen €t S5 gae Ad" et § 2 =9 (R 50-50 3 % 10-10
ada) fsT fardT T, 7 fa 3 a9& &t fat feat &at T | fer set wint fen
fegt € =93 &7 I 79T II& et HipTat feut & =93 9t YT |
2.8.2 3791 A3& &t fipyrat feat

Gegds1: 9859+ 12

\J

98 - 12)9 8 5 9 (821 «~— TS
/_96 \

AT 25
_24v Ell
19
- 12
7 <~—wat

mformue fefenraghnt § €rar fa Aag € »iat & T 7% fan Afwnr
& I II&T I= 3T I € Ufg® & riat I w7 ygrsT ufgum ar=ar, fas fa
€T 12 5% 9859 & a1 137 77 faur J | fen et ufad & »iat g7 98 3
12 & ygr3T Ufgwr Ar=ar |

98 + 12

12 x 8=96;98 — 96 =2 gat

29 &H IH € mIBT M 5 Iot €39 By =25

25+ 12

12%x2=24:25-24=194at

1 € 5% ITH @ MIIBT Mg 9 JoT €39 F fosdg =19

19+ 12

12x1=12;19-12=794at

€39 : IS 821, g4t 7

Af\ T@/ 44 afez-5
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U=aw - GUT i3 IT I8 € USIH J6 &Y mgAT i3t A Ad<t J |
I = IS x ITAA + Tt
9859 =821 x 12+ 7

8 2 1 IS
x 1 2 IAd
1 6 42
+ 8210
9 852
- 7 =4at
9859 gw

€Eg9s 2: 125258 25 8% AT A4 M3 USI™H = A4 |

9B 25)1 2
00
12

12

2 5 (0501

wDn O [€E—Wn

UIIH .

9'H = g'He® X g'Hd +8"3ﬂ'
12525 =501 x 25+ 0
12525 =12525+0
12525 = 12525
* 0+7=0;0% foam Aftrm &% (0 3 faat) a1 q96 3 €37 0 It
J<ar|
* far Afed™ & 0 7% 79T 54T 13T AT AIET |

At Gug Wewh fafanrar 45 \{



1. I&dT:
(a) 117+13 (b) 135+15  (c) 72+12 (d) 108 +9
(e) 78+ 13 f) 12111 (g) 14020 (h) 144=16
(i) 98+ 14 G) 119+17

2. I8 dd M3 UIIH a9 ¢
(a) 5459812 (b) 8975+21 (c) 77552+ 18 (d) 88001 + 17
(e) 12896+ 11

3. I3 faH yAst § I8 dd M3 UIIH d9

(a) 760+ 12 (b) 550+ 14 (c) 894 +21
(d) 913+19 (e) 826~+25 (f) 7645+ 24
(g) 89781 +9 (h) 99999 + 80 (i) 82525+75
() 70008 = 14 (k) 50205+ 15 (1) 16258 +36
(m) 96000 + 50 (n) 45457 + 35
2.9 34T '3 MOfas Arafed AfyeT

fug® gma1 fS9 wirt €3 @ ASTST 97 9997 A3t A | TS »iAt efad Ales
feg g1 7 <3 &% AEfuz mifmret fae” eeghdt @t <3, Uft § <3<
e g7 9997 T |

Gvds 1: ffa gdaed a8 36540 fuseE Ax | €05 o9 39 15 fuss

9 3T A9 fuge Su< 9 Gng fas fes Sar g=ar ?

U5 . EAdT6Ed 3B d&% fUgT = 36540 15)3 6 5 4 0(2436

0 146

JgIA T fude =15 -30
fa® fes Sarear = 36540 = 15 65
~ 60
54
— 45
90
- 90
€39 : 2436 fes 00
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Cuugs 2 : 8 IIHTTdT AG=dT HA1& &9 T 65596 @ er I 1 84 ffa
fes feg fds gug au@er J ?
Jd% : JIHTTd & AG<I HA1s ffg aH™e =3 65596

A&<dl Hats &9 fes =31 31)65596(2116
fég fos ffg e =336540+15 62
35
31
49
_ 31
@39: 32116 L86
186
000
@ewes 3 : Al 160 & fan Afwni 578 JreT Jdte fa Jeae® 24480 F
< 7
9% ;€ Afeoret €T IEee® = 24480 160)2 4 4 8 0(153
fee ffeprm = 160 160
ot Afepr = 24480 + 160 848
800,
o R 480
fen Zet, S3tet Afvmm 153 7 480
0

1. feq Aeatmy ST fea faae He €98 I& 84000 3 24 g37aT 9
g9T9d-999d §6 I& | feq o339 &9 s & 86 g=ar ?

2. HJ 3 % 99825 I&, fAgt & wwt 33 €A3T & 99799-99'9d 37 J |
I9d €Az & fas-fas gue nr@=ar ?

3. €T AT & % 72000 A3 4 9 F9=T ST I9TH9-9990 I3 | IIF &
faa-fas que g ?

4. Wi 26 & fan Afa 578 JreT adie fa Je5es 14508 g A= 7

5. BT 3% 23976 €& I& | 24-24 & & fas g9 fang g=ar ?

Hfemet Gug Hew fafamret 47 \Tr‘
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10.

I8! oA guT &t gaH &9 T 2000-2000 € fa®s &< I=ar ?

H& T 25000 ¥& TIIE 951 " 96 fou faa-fas & e Aae
J& 7

(@) TI000 T BT oo,

(b) T500TET oo,

(€) T100TET woeoeeeeeeeee.

fea 7 At gt HAts fea 3z ff9 900 feet ga=t T 199000 feet ga=
T HAlS € fa® I8 Sarear ?

J&< € ffq fede e H® T 78 T 1 uBa & fede = &t T 7722 fe3
IR & faashut feder sehmt ?

fea saedt ffe g5 Hala <9 45540 M@ d& 9e€ I | U3T &9
fa g& vivs € fEa fes <3 fas mretnghi 3 g Jear ?

2.10 MEHSS 17, WG, ST M3 I9T UST AI&T

™ Fies &9 wrt femer3g =gt € WS, Wy, gt nirfe e viemar

sarge ot | fae Tduz &t €9, feq nfge 3° g= wfgg <t gdt, fan =7z
WW@WWlW@,@WQﬂWW@?WWl

€Eas 1: 9747 MT 5476 ©T MEHTSI MI MAS H3eH UIT JJ |

9% : 9748 € fsadtads = 10000
5476 €7 feactads = 5000

1 0000 9 7 4 8

+ 5000 + 5476

MOHTES A 1 5000 »ASAzT 1 52 2 4

€EUaE 2 : 875 MT 438 T MEHTEI MI MAS M3d UST IJ |

9% : 875 & fadetdds = 900

438 @t feadtads = 400
9 0 0
— 4 0 0 — 4 3 8

MEHEIHM3d 5 0 0 MAG M3d 4 3

~
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Cugas 3 : AfYMT 412 M3 72 €7 MEHTES IISaE® UIT ad |
9% . 412 = fadetads =400
72 € faaetdas =70
400 x 70 = 28000
MEHTSI dIesed = 28000
GEU9s 4: 548 + 53 MEAHEI HS UST &7 |
I8 548 € fadeidas = 500
53 g7 faaetdas =50
500+50 =10
MEHTES IIRS = 10

* Higwat €7 migHTs, AftT § forrs &9 du & Farfenrr 72, fas
979 Wiat BT AfedT @7 WigH's ga9 @9, 3 »iat ==t Afgwr &
MEHTE S fE9 T € »iat AfeT @7 migH™s @aret fg sarfor A< |

fem &% niagHs3 €739 v 39 '3 ST YUz JET I

1. MEHTEI H& U3T dq :

(@) 753+ 525 (b) 11526 + 8748

(c) 980 — 489 (d) 5897 — 2987

(e) 440 x 28 (f) 6198 x 13

(g) 563+34 (h) 7541 + 43

2.11 BODMAS

B 0o D M A

( ) ar - X +
gdae ar grar Jrer CES

S

wete

Bracket of Division Multiplication  Addition Subtraction
e wAt gifes ST g7d Hesmt fgret § feg 9t nes e gae of 3*
i fer Ueds € WA & Jatdr | fer Hu3=yds fse § BODMAS afde
I& | Adg At fen faw € MaH AT & I8 &4t g9e 3T ATg J1%3 €739

yruz J=ar | fen mifonrfe &5 wit fAige DMAS €t 3fs aafar |
e T e T

g

il



AT 4x4+4-4+4

udr1l:

fen s T »t Qudas faw vigng Ag 3 ufast 4 § 4

STE IATAII :4x4+4-1

udr 2 :
udr 3 :

Udr 4 :

ferFame vt 4d 4B IS a9 : 16+4 -1
g AT l6ffg 4a39r: 201
IS WAt 20 ff9° 1 wer=iar: 19

few 397 Qudazs € €39 19 J=ar |

Geaas1:
IS .

Cugas 2 :

\J

Jd&

J% d9 :

N v

42+7+8
T7x8+4-6
25x3+42+-6—-4
8+8+8x8-8
44+2x9-35+5

9+7x3&IB T |

9+7x3

=9+2] =30€E39
10+12+2-38J& 9|
10+12+2-3
=10+6-3=16-3=13E39

: 30+6+5%x4-8 §IBIATI
©30+6+5%x4-8=5+5x4-8

5+20-8=25-8=17€39

: 60+9x5-18+6&IB AT |
D 60+9x5-18+6=60+9x5-3

60 + 45— 3
105-3=102E939

8+6x2

63 +9x4+28-15
18 +6x21 +17—-18
72+48 x36+18-9
18+ 126+ 14 x3-25

© N B D

10.

afes-5



V- feashis ym (MCQ)=

1. 65432 + 34568

(a) 99999 (b) 100000  (c) 10000 (d) 99998
2. 35406 + 2580 + 43251 =43251 +[ |+ 35406

(a) 35406 (b) 43251 (c) 2580 (d) 81237
3. 99999 + 0

(a) 99990 (b) 99900 (c) 100000  (d) 99999
4. 100000-1=[_____]

(a) 10000 (b) 0 (c) 99999 (d) 100000

5. fmiT d% T 5832 & W3 GAET 3 Ygn3 I 2 3565 U5 | fig &
fas que fgas ?
(a) 2267 (b) 9397 (c) 2276 (d) 9973

6. HIAI3 d9 € §q y3 <9 50000 guT g5 M3 Gre U3t 99 fiw &€
yr3 f<9 735682 95 | &7 €9t € ufamt fS9 9 fast amt 7 ?
(a) T 14318 (b) 295682  (c) T85682  (d) T 15318

7. fam aAg € wWrarat 12078 T | fen fS9 4872 Yad, 4729 #d3T I&5 MI
gTat 59 I& | gt €t faresst en ?

(a) 2477 (b) 20578 (c) 9601 (d) 8206
8. 98540 |=98539
(a) 0 (b) 1 (c) 98540 (d) 98539
9. 9999+ ]=100000
(a) 1 (b) 0 (c) 90001 (d) 9001
10. 1000 1=999
(a) 1 (b) 0 (¢) 90001 (d) 9001
11. Ja»iat & 8¢ 3 8t Alpd™ W3 979 HaT ©f @31 3 <31 HivdT &r
M3 IR ?
(a) 10000 (b) 9999 ©) 1 (d) 0

et @UT Bt fafammet 51 \7{‘])

3 f
|
LS



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

1

= )

2,0,4,6,7vdar I g9t Snidt @ 3T I <
o7 73e®% OF ?

St I gt 3 <t At

(a) 98687 (b) 96887 (c) 55953 (d) 76420
1500 x 30 x 0 =

(a) 45000 (b) 30 (©) 0 (d) 450
7500 x 40 =40 x[ |

(a) 400 (b) 4000 (c) 750 (d) 7500
[ ]+100=1000

(a) 100 (b) 100000  (c) 10000 (d) 10
foa fagmg @7 & T 79 quT J1 12 fagmg @7 & ot g=dr ?

(a) %948 (b) T 938 (c) T 790 (d) 793

I3 I T 175 JuT I& | €7 fas dfout fEg feg gue 3 37 7 I3
g9 §325 e ¢

(a) 6 (b) 9 (c) 7 d) 8
700 x[_ ]=2800x1

(a) 5 (b) 6 (c) 4 d) 3
9999 + 1 =

(a) 999 (b) 1 (c) 111 (d) 9999
8899 + 8899 =

(a) 0 (b) 1 (c) 2 (d) 8899
99 x 99 =

(a) 99 (b) 9801 (c) 9901 ) 1
Had 15 Ut @7 ¥& 90 gue J 3T ffq gt a7 & u3T a9 |
(a) %3 (b) 5 () 26 d) %6

< A=t €7 JIeae® 256 I | 7 fed AftedT 256 3= 3T g#T Afteyr
J=ait ?
@) 1 (b) 2 © 0 () 256

e e



24. Hdd 894 x 100 = 89400 d< 37 894 x 10 =

(a)

25. 262 x4+4-40=[__]

__________________________________________________________________________________

mwT 7 fAfamr (Learning outcomes)
100000 3T Thd™ Afun=T © HE8 979 Ha®U (A3, We'g, JIeT,
g797) dd& & Har 9T |
o FEoT faedt St fafer=t fAe &=-d<, srgr-wrer, §fqqr,
ydte-=9 nirfe feg Aftrr=t byt faforret &t €93° € dard<T |
979, Tdt, HEd™ MTfe 7% AYU3 Ia7aT Ales et arsifeubdt i
Hfgwet @t faforret € 93" a9 © Hard<T |

L 4

2

894

+ TI-TF A6 MI WG & yfafonr € ge8 I= greT M3 IaT

(b) 89400

(b) 8

(c) 8940

(c) 4

(d) 8941

) 16

gt IHTET =S ST HAGST & €4 Jd6 € Hardar |

L 2

* Hag® gt Yifarat et f3nmg Jer|

__________________________________________________________________________________

(e)

(e)
(1)

(e)

12076
6538

11344
18665
4731

86586
30893

T pp— g p—

—=m,

gsansr
S——

mfgm™H 2.1
(b) 9452 (c) 82494
) 7956 (g) 58829
(b) 14810 (c) 93700
(f) 6817 (g) 96016
() 9149 (k) 60784
(b) 21846 (c) 26687

(d) 36887
(h) 55555
(d) 99387
(h) 85964
() 57655
(d) 30228

53 ~_ (¥

Aftprret @t SY-2Y €91 &% f3& widt &% JreT W3 SY-<JY a1
&% 79T AI& & GIT JT |

.

R



mfgM™ 2.2

1. @ 656 b 15638
+ 70112
9 90 02556
88306
c) 9978 d 9 2
~ 2343 _ 12
7635 83169
) 5380 ) 20704
+ 4 63373
9 4 15744
99821
g 9995 (hy 97893
4 2 _ 138
4 2 62755
2. (a) 5231 (b) 5849 (c) 4370 (d) 4455
(e) 14871 ) 51617 (g) 808 (h) 14790
mfgm™ 2.3
1. (a) 98922
(b) 29855
2. 58295 fgar 3. 26250 4. 71184 yAZST
5. 63550 6. 29571 7. (a) 44774 (b) 17100
9. 97430, 30479 %39 66951
10. 11097
11. 5930 12. 54445 13. T 6495
14. %5350 15. 21500  16. T 815

(54
41

|
HER

afes-5



MM 2 .4

1. (a) 2700 (b) 8667 (c) 12167 (d) 37544
(e) 51072 (f) 45136 (g) 67608 (h) 35872
(i) 68170 () 99840 (k) 84552 (1) 91890
(m) 34500 (n) 90000
2. (a) 93035 (b) 48270 (c) 48642 (d) 94640
(e) 12600 (f) 36000 (g) 93330 (h) 45804
(i) 66780 () 29000
3. 135
X 65
675
8100
87 75
mfgU™H 2.5
1. (a) 451 (b) 81350 (c) 65000 (d) 0
(e) 100 (f) 13 (g 0 (h) 602
(i) 84140 () 6700 (k) 91000 (1) 100000
(m) 10 (n) 706 (o) 1
MfeI™H 2.6
1. 96883 2. 55080 3. 98000
4. (a)3 92498 (b) T 1503 5. 94810 2retmt
6. 88374 f&et 7. 391602 8. 94905
9. 86400 Afas
Mg 2.7
1. (@) 9 (b) 9 (c) 6 (d) 12
(e) 6 (H 11 (8 7 (h) 9
i 7 0) 7

2. (a) FIIES =4549, a1 = 10
(c) IS =4308, g1 =8
() IORH = 1172, gt =4

(b) IIEH =427, 94T =8
(d) IS =5176, a1 =9

55 ~_ /7]
1



3. (a) 9IRS =63, gdl =4
(c) IORS =42, gdt = 12
(e) IIEH =33, T =1
(g) IOESE =9975, gaT =6
(i) I79eH = 1100, IaT = 25
(k) IT9eH =3347, &1 =0
(m) FIES = 1920, g1 =0

3500

558

(a) 25&<¢
11032

o

1. (a) 1300
(e) 12000

1. 14
5. 78
9. 55

13. ¢
17. ¢
21. b
25. d

156
i

mfs™ 2.8
2. 3025 3. T 18000
5. 999 g9 6. 208¢C
(b) 50 &< (c) 250&<
9. 99 feget 10. 15189&
mfg™ 2.9
(b) 19000 (¢) 500
(f) 60000 (g) 20
mfgm™ 2.10
2. 20 3. 8
6. 62 7. 57
10. 20
gg-feasfua yas (MCQ)
2. ¢ 3. d
6. C 7. a
10. d 11. ¢
14. d 15. b
18. ¢ 19. d
22. ¢ 23. a

(b) IS =39, AT = 4
(d) IS =48, gaT = |
(f) g9 =318, dt = 13
(h) IT9ES = 1249, gaT = 79
(j) F9ES = 5000, IaT = 8
(1) TS =451, gaT =22
(n) 9SS = 1298, g&T =27

(d) 3000
(h) 200

4. 41
8. 159

12.
16.
20.
24.

o & o o O

(@]

afes-5



Eer: 1. ISA M3 JSHUS 979 A'Sdd &7 |
2. FY-JY IISHfSuHT T HAT M BH.E € HIBYU o ATSdTat
Sroull

3. SY-TY TIIT I KT MT &S U3T Jd&T YT

4, FaraT faeat et ufarfagtnt ffe wrE W3 AT et 293
qI& & WIr ST

5. [Y-2JY ISHfeubdt Idt fAn3, 2ia, I70 M3 MI™H HivHT=T
g9 A'Sddl &< |

6. HITg® Tt Yiftr=t Bt f3nmg JaaT|

3.1 IEH (Multiples)

Ae € AT § 3 U Afenret § g d13T AfeT J 3T A IS688 YU
Jer I 1 feT Ieaem g9d IS ISt Aftmr evgren ger J 137 fE3 Jeaest
$ fonrs 5% € -

(1) 4x7=28 (2) 8x6=48
(3) 2x3x4=24 (4) 9% 10=190
Guias I A YU gev I :

(1) #fewm28; 43 7  I=A J|
(2) FfemT 48; 6 M3 8 ETIISH T |
(3) AfeT24;2, 3mMI 4 JSA T |
(4) ATt 90; 9 M3 10 T IS J |

HUSH AHUS33d M3 SW3H AHUSTSH 57 \7{7)
)



fen 3t "fer & grew, &3t Aferm § Uigsa Aftr=t 1,2, 3, 4,5, ...
&% JST dId YTUI d13 AT AdE IS |

3€ e 8 € qeH
3 x 1 = 8 x 1 =8
3 x 2 = 8 x 2 =16
3 x 3 = 8 x 3 =24
3 x 4 =12 8 x 4 =32
3 x5 =15 8 x 5 =40

Quiaz Gergaat €93,6,9,12 ...;3 € ISAMIT 8, 16,24,32 ... 8
o JeH I& |

]

O dY

+ II HitpHT MU nY ET gIEH J |

o I Afey 1 S ASA T

+ I3 Aoy & gred GF ©f Aftprr @ s9r e AT @R S ST JET T
+ Aftpyr @AY 3 82T gIeH APy He It det I

3.2 @EaHT (Factors)
JESUT AT et arsifeat

gIeads . 3 L9 dfent & 6-6 925 ¥3 & §&T & 99 Ag< fAut a3
y3<t I379, T9IraTd Idld AT MTfEeITaTg I9d 5% JUS BEt a9 | fAsT =9
frat, y3<t 9379, TdIraTd AT MTE3TaTd Fa% g dit, T 3 are geat &t
HtT &7 JIead s g3 ait |

gfgnT @& gSTEMT I a37aT © 939 Jo oy 39a &% I=J1 -

L7 @000 0O

tr i(/ 58 qfE3-5

| 1)




2. 939 1 @ 3.3 @ OO 5. 00
392 @ 7.0 O O OO0

CERY ) &)

CEY ) &)
x395 @ 4. 7391 @ O 6. OO

asﬂ—c'6g ngg g

=TI O :

©

Qudaz fa3ar g, 539 & 1 feu ges | aga feg; fiaa &: 2996
g3g e, fagg & 3 feg 2aga ffama feaa & 4 ffe 3 a9 feg
393te {9 Sare Ie 05 | ud g 939 &: 53 6 IS ge5 QU Tn migAg
3931Y 9 &dt sare aE (< feg Wifeaad AT SIad Mgt st
ge99), eg aesds se Qe st At st s 1 fase & 1 F4fdg 6w
JEHET =1,6,2M3 3T&5 |

6T ST =1,2,3,6

fam AftodT € Iresds U™ 996 bt feuhdt :

(a) greT feut: (b) <3 feut:
1x6=6 6-1=6
2x3=6 6+2=3

6+3=2
6+6=1

fen 39t 1,2, 3 3 6 Afe™ 6 € AT I<aUT I5 |

+ 1 I3 At (fAed 3 fast) @ Ieasus T |

+ I At (fAgT I fasT) MUE My &t JIeays J |

o 1faH Aftr " A T EcT AU T |

+ faH AferT @7 AZ 3§ 37 JIesUs Afur ye det 3|

o 7 ufast Aftpn, gat Aftodr & gresds T 3T gt Afwrr, ufast Afipur
ot gred J<ait |

HISH AHUET3d M3 SW3H AHUSISH 59 vﬁ
| LS
|

LLl



3.3 fARs w3 2 Afum=et (Even and Odd Numbers)

AU 98 d 8§93 '3 & Hitp=t 7w 3 6 fBuar | fed a8 893 ' &
10 Yot 8 f9<t 997 J6 fey™® »igH™d gaTedr |

feg fea gan &g 7 f&etut w3 v gan <9 6 f&fent Farear
oy dfgnt & Erar fa fAgT faehdt € A3 g€ 7 76 B Afunr
fAAg It T w3 ae f8<ht € 83 &t gee 37 Qv Afdr oia gt T

7 6
7 fiebwt &t 531 591 9 Iat fer st 7 i AfgdT T
6 fafenmt &t 73t 9= aret J fen Bt 6 fans Afenm T
» wferya MruSt Afeur weA 39 Begdst <t € AaeT J |
g WAt 2 it AftdT 74 € T7, 74 fEEt 5% feng v ©F aga3
&dt | frge femg wirt fearet mares =t Aftr 4 § &<t o ==t arstfeat
gat 99 YT |

AfdT 4 St fSah &t € gafrmt feg A3t g aret 3, fer st
74 fAAz Aty T

‘T\ Y@/ 60 ———

i 1)



g WA 3 »idt Afvr &€ IF 175
17 [5] wivt fearmet mares =t Aftonr 5 & o<t gom ==t arsifedt gt

g9 F YT |

: : rfipair 5 Thut fircint ot warfirt 9 Tt 5t 5, fem &9, 175
° o HfeT I |

fen 3gt, fan =t Afarr € fearet mams =& #id § Sud It »iHt Afarr &
fANS M3 T’ J< €T U3T I AaE TT |

+ ¢ famg Aferret o 79 ot fang Aferr 3t 9, A= : 2 +4 =6

+ @ g Aftmret g a3 <t o famg At g€t 9 ;fA=: 1+3=4

+ fea faas W3 & eta Aferr T 33 ot 2 Afiorr 3t 3 ;

fAg :2+3=5

+ #Aa9 fan Aftprr @ fearet Ae's @ T 0, 2, 4, 6, 8 I= 3T Al fARS
Jdedit M3 Aa9 fearet Ags @ oiT 1, 3, 5, 7, 9 3= 3T AT i
J<ait |

+ fARZ Aftpyr AT 2 7% 3T At I M 2 IHAT AR At @ JIeads
Jerd|

Qeggs 1: dT45,9eTqred d?
% : 458 93 gTar fel

45,9 &7% yar Ffamr Ater J | fen et 45, 9 IS J|

Hﬁsnmeas—orm%mgzn-rmeasvr 61 \7{?%
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Qeggs 2: T8, 8TTaqreA I ?

§2,8¢'&1=13T¢d'i'€’sswme'IfE!FrEE‘TSZ,SETE_IJw?s‘EI‘f
JI
@egds 3: 9T Ufg® g9 g oy ?
IB: 9x1=9 9x2=18 9x3=27 9x4=36
fem &et, 9 @ Ufa® I 9 IeH 9, 18, 27 M3 36 TS |
@egas 4: 12T AT IISHHT &8 |
J% : grer feut

1x12 =12
2x6 =12
3x4 =12
4x3 =12
6x2 =12 » JISHUST ©f gJdret 7 I J|
12x1 =12
fen 3gt, Aftm 12 € g Ireads 1,2,3,4, 6 M3 1235 |
grar fegt
1)L 2(12 7)1 2 (06 3)1 2 (04
1 0 0
0 2 1 2 1 2
2 1 2 1 2
0 00 00

é\\ T(/ 62 o —e



0 0 0
1 2 1 2 1 2
1 2 10 1 2
0 0 0 2 wdt 0 0
7)1 2 (01 8)1 2 (o1 9)1 2 (o1
0 0 0
1 2 1 2 1 2
7 8 9

fenffe 128 1,2,3,4, 6 3 12 3% ydt 3g+ Sz fardr
JIfern BT, 12 € ASHET 1,2, 3,4, 6T 12T |

Qegds 5: A8, 72T IISSUFT I ?
9% . 728 857% grar fel

00

72, 8 &% YT I AteT I | fen et 8, 72 € ISHUT I |

HISH AHUST3d MT BWIH AHUSISH 63 \rjﬁ

3 f
|
L



1. I faatt Aftmiet feT gdd Aftr &t ufa® UA IeA &y .

(a) 5 (b) 9 ) 10 d 12
(e) 16 ) 17
2. I& faatt Afuret 9 JIesds 89 :
@ 5 12345
) 8 1 2 345/ 6 7 8
(¢ 141 2 3 4,6 7 8 9 10 11 12|13 14
(d 12 12 3 4 5 67 8 9 10 11 12
) 251 2 3 4|5 /|10 15 20 25 30 35/40 45
® 36 1 2 3|4 56 712 18 20 24 30 36
3. It faamt Aftet € greays &y ¢
(a) 18 (b) 24 ) 35 d) 36
(e) 45 H 21

4. It St Aftpyret @ Ayt fS9° fARs Aftrret 89 ¢
@@ | 12 | 23 | 34 16 19 28
by 35 48 53 | 69 | 72 90
(c) 450 213 | 568 | 664 789 98
(d) 235 456 @ 968 @ 604 731 888
() 63 | 136 | 245 @ 446 @ 1278 @ 2341
(f) 47 168 ' 999 1729 | 5864 | 6859

5. J&t [t Aftrret & AYTT fE9° 21T Aft=T 89 |
(@ 11 | 23 | 54 | 16 | 19 | 35
by 36 | 45 | 58 69 | 76 | 97
(c) 451 215 | 508 | 614 = 789 983
(d) 237 @ 416 @ 948 @ 654 | 739 666

(e) | 631 = 135 | 249 | 746 | 1279 | 2851
(H | 49 178 | 765 | 1729 | 9261 @ 6859

6. Sl giet 39 :
(a) 4x9=36T 36T I<HET ........ M3 .. I5 |

%ﬁ 64 ifes-5
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(b) 8x7=56fRT 56T TSHUT ........ M I& |

(c) 3x5x6=90fT ....... s e M3 ... 90 € JHUT TS |
(d) 8x10=80fsg8mI 10T II=H ........ J |
() 2x3x5=30f39 ....... ) e M3 TTIEH 30 J |
7. St M3 ™3 &Y .
(a) 24,24 €T JSYT T [ 1
(b) Hftr 2 I3 AT @ gresds T [ 1
(c) 24 fAng Afwwr T [ 1
(d) 134 2t Hfemr T | [ ]
(¢) T AP € JSA MBI U< I& | [ ]
() 36,5mMI 7eTIeAJ| [ ]
(¢) € s Aftpreterag onmt eig fiftorrdat s [ |
(h) I 3 &<t fang Afenr 0 T [ ]
(i) 152 2t g T | [ ]
() fea »ia = st fans Afimr=t 5 35| [ ]
8. JEHUT Ueas AHT M 9
(a) (b) (c)
12 18 20
4/ \3 PR PR
2/ \2 PR ¥\
9. U2d& AHT M3 9 :
@ 2 77 13
® 3 _ 38 /19
c) 5 39 7
d 11 85 17
HUSH AHUS I3 MT BW3H AHUSISH 65



4443 & =

&, 99, &, "o w3 =g, a% Afgnret & e s9aT '3,
fam @ fig gar 7=, €39 3 7w
A @9 fAAa T 3+, €9 €39 7t €7 Afumr=t @,
fAaT Hamt ST A= | IETESH My gar|
fea, 3=, ia, ig M3 &, Teaes et Gat ffvrat
2 fam € fiig wr=e, feg Temds ny=@e |
_/I 2 Ao fiat Hast Su A, Toew feg ye Gt er
iy QU nyeTEE | IJSH MU g€ 7 |
/ VAN
3.4 M3 (Prime) M3 37 (Composite) Aftprret

JEHUsT € fare3t €@ Wrutd '3 At ©F Hae Jf fa 9 fedtt Afgnret fa°
faaat Afar 77 I wiF faast wig™a I | Ufa® T 10 Afymet @ Jesds 96
f&g »iowg 5 -

1 € qSHET = 1
2T qSHHT = 1,2
3T JASRUT = 1,3
49 JSUF = 1,2,4
5¢ JASAET = 1,5

%T\ r/ 66 afes-5



6 @ ISHEF = 1,2,3,6

7€ ISHUT = 1,7

8T JSHUT = 1,2,4,8
9T JSAUT = 1,3,9
10 € IEAET = 1,2,5,10

Suda 3 AT &9 wit eue Ot fa Afunret 2,3, 5T 7€ fAage €-< It
JEBUT I& : | M3 Afdm ye | fegst & Ma™ (Prime) Afwr=t afde 95|
AfeHT=T 4, 6, 8,9, 10 € € 3 U JT&4T I6 | fegst § 37 (Composite)
At Ffde a5 |

M AfedT (Prime Numbers) : €T whmret fane fage © ot aIesds
d<, §ust § meTH Hivm=T afde 95 |

g Aftp=T (Composite Numbers) : €7 A=t fame € 3° <u
IETSHT 9, Gust & IH A=t afde a5 1A= 4,6, 8,9, 10 ... e |

s gT A feg §cer I fa Aftorm 1 St T, 70 AT wMa™H ?

fa€fa Aftorr 1 & fAde ffa It ITesuz I, fer et feg st T g T
WMI ST I HIH |
1 M3 100 fegaa »raTH Afunet|

1 M3 100 fegara Mg Aftrnret & I&T fad migha UST 3T AT AgET I :-

(1] @G X O X @) X | X | X
(D) 32 |(13) ¥ ¥ ¥ (1) ¥ |19 20

W R (@) M % | K K29
GD 3 X 3 X% % () X ¥ X
@D 2 (@) ¥ 2 26 @) K ¥ | 36
M 3 (53) 4 3% 3% X ¥ (59 56
(6D) 32 53 34 35 56 (67) B¢ | ¢ X
DA NI ADR
X (33 M K ¥ K (89
M 3 ¥ ¥ D (97) K vE %0

HISH AHUSEST M3 HWSH AHUSSSH 67 \7/73
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uar 1 : 13 100 ATGPAT Afgprr=T {3y |

uar 2 : 2’3 999 AT MI 2 & ¥ A9 AT ‘I X BArG |

yar 3 : 3’3 999 AT M3 3 € ¥ A9 AT ‘I X A |

uar 4 : 5’3 999 SIS M3 5 € AT AT IreAT I X BIrG |

yar 5 : 7’3 999 BIMG MI 7 & gt AT IISHT T X BArG |

yar 6 : 11’3 999 BIrg M3 11 € g1 A9 Iredt ‘I X FArg |

uar 7 . few yfafenr § €€ 3a gaafenr 77, A€ 39 AGHT
Hftmiret ’3 A 3T a9 9= AT X T= |

uar 8 . 1 €ug gaw 576, fabfa feg fedys Afamr I
I gt 35 | 1 M3 100 fegard ma™a Afvpr=t 2, 3, 5, 7, 11, 13, 17, 19,
23,29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89 M3 97 I& |
fen Arast & fegensls &t g@t fagr Aer I

i,

U dd

o Hitpyr 1 &7 3T 3T T M3 &7 IT M |

+ frge 2 3t mifaat fAms Afewr 3, § vEw T
+ AZ 3 &t M3 At 2 T |

¢ A3 3 &t THARPHT 4T |

METH gIeausiads (Prime factorization) : f&d g Afadm § wigma
JecYST T I ¥ gy L9 fhem A AaeT 7| fend migH Jeausidds
afde g5 |

fen bt € feubnt o5 -

(a) ISHHUT Sou3 feut  (b) gmar feut

(a) TEHUT @943 feut (Factor Tree Method)

fen fedt wigts wint g7 AfwdT € Jeats €% 39 Jdv JF, A 3d
A™S ATd ME™H JS6US YTU3 3T T A | M JTaUs Tau3 feut It 48
€ JISaYT gaTEIT |

%?'\ T@/ 68 afea-5
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48 @ MITH JTESHUSTAIS =2 X2 X 2 X 2 X 3

(b) 3T feat (Division Method)

few fegt mdts, wirt f&3Y At & g 3° 2t wig= Afwn 7% ST
Hd JaTdl M3 BH AN ST ma™ Afd =t &7% 371 A 3 | sT T A= |

48

e B Bl Bl B

24
12
6
3
1

[8<t MI™H it 578 Sz
[E7 I 3T g™H A=t 7% S5 A 39 | &7 ¥T 77<]

48 TTWMITH JSHUSTATE =2 X 2 x 2 x 2 x 3

3.5 HISH ANUSTST (Highest Common Factor/H.C.F.)
AHgE ®Et arsifedt :

mforua -

\J =

mforys -

)=~

mforua -

998, My na® o 95t a3 e fas 99 9% 7
W3 AT, 1899 I& |

g< €, MUt igs et Uadt a3 fee fda d9 95 7
HaW #, 27 99 I& |

At €< A3 @ dfent § & F S g o ffT uF
USST I M3 99 H ST 99™99-9990 99 &S IS | &R
fos SuI Iu g T IH T I & AAC I& 13T H
et sgT e I gUd &TIfT A= |

HISH AHUSSSE M3 SWSH AHUSTSH 69 \rjﬁ
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)=

- W3H At 7-7 €9 BT AT AET IS |
mftwuag - &dT 9198, 9-9 99 BT A Aaw J& | fegast & &5 fan
yaTg 3t AT Aaet I, WS iy gt |
18T Irecdz - 1,2,3,6,9, 18
278 IEAUT - 1,3,9, 27
18 M3 27 €7 FF 3 IITHYT JIEAUT 9 T | fem Igt miwt 9-9 et Tt
ST gT=idT, fAd &% dEt <t 99T W 3 9799 &d1 Idar | feg Afpnr 9,
Aftmiret 18 M3 27 € HAS. T
Mg g wiAt AfepT=T 35 W3 30 T H A .. U3T 9d& of ofHA Jde Jf :—
e e Aferm grdt Aftm § Yos 393 25 I g S ITH T IS/UT
Ffde a5 | 2 35 % 5 udt 39t 2zeT I
fen B8t 5, 35 €T AESsUF I MT 35,57 IJSH J |
5x7=35
5MI 7,35C ASHUS I& MI 35, 5MI 77 IASA J |
fer3qt2x3x5=30; 2,3m35,30¢€ IS5US I&
Quaazs &3 are Geuds T4, 353 30 € Ireaust & forms 575 =4 |
feat Iresdst fI9 5 o< Afunret T /g™ IIesds 7 | fem &€t 5, 30 M3 35
T HISH IHTU=d3d (WA E.) T

N,
O'd dY
o @ 7@ T U Hfunret @ $F 3 37 AT gresys, O Aftpyret @r

HJ3H AHUSd3d (HA.E.) dJer J |
+ fidd € Aftpret @ HAE. 1 3 3T Aftret Afg mgH miusTgatu™
I5 |

HHES. U3T ddAHT
WHT H A . § € 3dtfardt 7% U3T o It |
(1) MaH I<cYs feat  (2) <5 feut
mfHTUS XN THST Ales €t mifrret fae ow <t duret, 93Tt
ERiposE WS BE 8¢ I 8¢ Hua @18 €13 &t $9met uIT ads &t
ysant fafenr, 379 & Hue € ydan fafemr wife ga=eet 72 i3 HA . & Ha 33T
gd ST A= |

éf‘\ T@/ 70 af=3-5
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3.5 (1) HAE. US™ q96 @ M3H gIeaus feut
A9 3 UfgsT fa3tt Afun=t € A9 Wg™H JIS58 s U3T 31T |
feg AT ATS wg™ Freadst § fedor 8y I IreT qatdr |
feg IeEeBEHRZ. T
Egas 1: 203 30 T HAE. MIH ISHES fedt Iat uaT a9 |

\J

95 - 2120 2|30
2110 3l1s

505 505

1 11

208 MITHIASSKUS =2 x2 x5
30 €@ MITH ISHHT =2 x3 %5
'S MI™H ST 2 M3 535 |
203 308THAS. =2x5=10J1
eEs 2: 45,90 M3 105 € HA . WITH a4 feut adt uzr a9 |

\J/

J&

545 2190 3105

5115 345 535

315 3fis 717

B sls |1
B

45 MIH IJSHUT =3 x3 x5
90 @ MITH IJSHUFT =2 x3 X3 x5
105 @ MIHISHUT =3 x 5% 7
'S MI™H ST 3 M3 535 |
45,90 MF 105 T HAZT. =3 x5=153J
3.5 Q) HAE. U3 ad& & gar feat
graT feut aat JoT foy 39T & HA S, UST 3T AT AT J |
o S A § T WS ST AT I 7 BE M3 FAr T I A
gat 0 41 I 3T gfewT g7at, IS a7 IHT TSI M3 fugsT I8
g I |
HISH AHTUSTSE M3 SWSH ANUSSSH 71 &

i




+ fer yfafenr & @7 A 39 g99'6, A€ I 4T 0 &4t mrEeT|
+ WIS ITHA, FSETHAS. J|

WA 2. €t gvar feut § & fedtt Gergas arat rune 3T A7 faur T

QEas 1: 75W3 105 € H A . 97dT feut Idt u3T ad |

\J

95 MAT 105§ 75 EE I AT Y05 (4
fer 3gt 30 gt geeTd, IS 75

ufg® gvd 75 & 7 39 ﬁso 75(2
W3 ¥4t 899 30 § I,

60
few 3gt »iar =0, fasT fag
gat 0 341 9T | 15)30(2
30
MylasT IHd 15 J | fer &=, 75 e

MI 105eHAS. = 15971 —
@95 2: 60,90 M3 130 € HA.E. 97T feut It u3T &3 ?
9% . Ufast wint fan <t € Afynrer eTHA.S. U3T e I7 -

60) 90 (1
~60

30;60]2

-60

0

60T 90 ETHAZ.30J|
I 30 M ISt AftrT 130 " HA.S. UST Jde I |

30)130(4
-120

10;30‘3

-30

0

fer et 60, 90 T 130 @ HAS. 10 J |

A"\ T@/ 72 afes-5




Qeggs 3 : f3& 39T 9 18 f®eq, 27 foed w3 36 fBed 3w T | fagsT
I3 3 FITHUF 9935 FI3E 3T A 35T 3duT & 3w S ydt
39T HY A M3 9741 38 &7 99 |

9% : 89 wfAd iU 993& &7 U U3T a7 J, 7 AT SIHT &
3% & yar vy AT | fer &et, Wit H A 2. u3T Jatar |

18) 27 (1 9) 36 (4

18 36
9)18(2 0
18 -
0

few &€t 9 fgeg & U 9935 35T IHT & 3¥ & ydt IgF HTU AT |

1. J&F faubyt Aftyret € AYTT fSS° mig™d Aftret g€ w3 3y ¢

(a) 12 8 5 7 6 3
(b) 2 o 11 13 16 21
c¢) 10 5 25 35 42 33
@ 18 41 23 17 19 27
() 27 29 37 47 49 39

2. I&t feitedt Afemret € ATt 9" 7/ Aftrret g€ w3 fad -

(@) 14 7 9 6 5
b) 21 12 18 17 11
(c) 23 32 37 41 15
@ 10 25 5 7 9
() 43 24 47 49 50
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3. J& fEstt Aftper @ H A . Jeays feut gt usT a9 ¢

(a) 18,27 (b) 21, 63
(c) 80, 100 (d) 42, 98
4. I&T &3Pt Afuret & H A .S . gIeays fegt gt usT a9 ¢
(a) 30, 50, 70 (b) 24, 32, 40
(c) 36,60, 72 (d) 25, 30, 35
5. J&t f[E3tt Rftoret @7 H A.E. M3H Jieays fedt gafustaq :
(a) 42,84 (b) 45, 90
(c) 16, 64, 80 (d) 45,90, 105
6. J&T fEstt Rftrrret " W A.E. FaT fedt gt usT &g -
(a) 48,60 (b) 120, 140
(c) 12,18, 64 (d) 60, 96, 128

7. €9 T3 3 3T Afeam 3T F9 fASt 60, 75 M3 90 & Yyar-yaT T |

8. f3® 39T ST 36 fBeg, 45 f@ca T 72 fBea du JIQT T I F37
g935 €, fAgaT f3st 39vt € €0 & ydt IgF U Ad 7

3.6 BW3H AHUSI3Y (Lowest Common Multiple/L.C.M.)

mferud dfent § adar fa st dast a3 feg we-uie fas 9w d<,
fagt a7 wiit f35-f3s W3 gr9-g79 &bt GBIt g7 Aate 3T & det <t
9T ¢RI 3 UT 3T I |
mforug - 3 gfout et ufost S8t & wrue & g3 ear w3 Usdrr
fa few f&5° 99 dfom’ €t St s Aaet J ?
¥g - & AT

%ﬁ 74 aifeg-5
18




mfoug - 3 dfout & ffa 99 28t § mue 3% g&gar W3
Usdl fd g€ W9 d® yz dfont f&9° 979 dgfomt &t Sat
g Aoel J ? 7 9 Ad<t I 3T of a€T 997 eBT 3 gJ9
3T &It IIarr ?

99 - H g7, e 2B g9t M3 © §9 Bt 3 g7Jd Ifd AT |

mfoug - 3 dfout & ffa 99 28t § mue 3% gagar W3
Usdr fad g W9 a% uz dfowt &9 af f€a do 99
gfont &t S8t 9 Aaet I ? 7 9 Aael J 3T ot Jet g97

g8 3 9799 3T &It IIar ?
) - # g7, e 99 Bt g3 ait w3 ffq g9 ¢85t 3 g99 Ifa
e |

mfug - 3 dfout & ffq 99 28t § mue 3% gaear w3
Usdr fa g W9 a% ug dfowt &9 af ffa dg 99
Hfot &t 28T 9 Aaet J ? 7 9 Aa<l J 3T T Jet g97
e®t 3 g9 3T &It IIIr ?
g9 - #t g7, feq J9 Bt g=ait M3 et < g97 Bt 3 gI9
&4t afg Ar=ar |
miforua g dfont § Areardt fee 38 Enar fa ufast vt 353
gt ThdT 979 -979 BT gTehdt W3 fegst gfomt &9° o 99-99
ST BT S 9T BEhdT | fer &% IHT AMT It 9 g<dr fa feast eatt
feg, fagt fg »int f3a-f3® w3 g/9-T79 &t Bt gt | fer Bet
ufe-ufe g 12 dfgnt &t 83 ugt 7| fen 397 <t fafonr & arfes feg swan
AHUSI3Y Jfde I& |
fen 3gt 3 M3 4 E7 8¢ I ST ATYT gred 12 d=ar I fen 8¢ 3 8¢ A’y
Jred § I BW3IH AHTUSI3W Jfde 75 |

Ug feut T s S, UST 95T :
10x 10afdg feg 1 - 100 ST fareat fog | 3, 4T 6 € BAS. U3T
395 el 3 dfot S uzT a3 |
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1. Ufo® 99 § 31% Jar @ Ea< 3 €7 YT'gT YIE JT Jifds 3 Jue S a9 ¢

2. EAd U9

%}f_:
i

-

dd :

A r‘:’/ 76

1

2

4

5

0O -

8

O o

11

®

14

® s|17

®

20

22

23

& 2

26 |€P) 28

29

31

32

33

34

35

36 | 37

38

39

40

41

42

43

44

45

46 | 47

48

49

50

51

52

53

54

55

56 | 57

58

59

60

61

62

63

64

65

66 | 67

68

69

70

71

72

73

74

75

76 | 77

78

79

80

81

82

83

84

85

86 | 87

88

89

90

91

92

93

94

95

96 | 97

98

99

100

/=

2

0O

8

10

11

b

13

16 | 17

19

20

22

23

26 | €D

28

29

31

32

33

36 | 37

38

39

40

41

42

43

46 | 47

48

49

50

51

52

53

56 | 57

58

59

60

61

62

63

64

65

66 | 67

68

69

70

71

72

73

74

75

76 | 77

78

79

80

81

82

83

84

85

86 | 87

88

89

90

91

92

93

94

95

96 | 97

98

99

100
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3. ST 99 & o9 Ja1 @ 4 € d 6 T YT YJ¥ I¢ JNfds I JuE BT
qJ :

1|2 @] 4 5|@|7 3 (@) 10
11;@13 14 (@) 16 | 17 (@@ 19 | 20
& 23@25 26 (€| 28 | 29 (€D
313233 |34 |35 @] 37|38 39|40
41 (@) 43 | 44 | 45 | 46 | 47 |@)] 49 | 50
s1|52(53 @) 55]56](57 5859 |@)

61 1626364 |65|66|67 68|69 |70

TV 7273 |74 |75 (76 |77 |78 |79 | 80

81 | 82|83 |84 |8 [ 8 | 87 | 88 | 89 | 90

91192193194 195]196 |97 (98] 99 [100

miferua gfent § onar fa arfds o fan S99 3 3 Jare S g
3 ufgst mr@=ar, 87 a3t Aftpret er s A=, I<ar | few &1 3, 4 T
6B HI. 12Jd<dr|
a(méwé?’émmm,aﬂwwﬁaéu—éuéww
e T BT T3 =93 AAE I6 |) fen 3gF wfeud Y-Sy Aft= 8 &
faforr=t gg=rear|

IS AT 8 MI 12 € JI=H &y |

ufgsrgar - 8T ISH =8, 16, 24, 32, 40, 48, 56, 64,72 .....

gaTEgT - 12€ IS = 12,24, 36,48, 60,72 .....

feat rent § fonrs 7% €8 w3 AfY v fau |

S IS :24,48,72 ... Mfe I5 |

Wuﬁaﬂgﬁv%%ﬁé‘zﬁzm@ﬁ%eﬂw
g8 Hg=eT o A 3 ufust faat gat '3 Haedr, S8t nirfe

gag< € ywait fafenret ot 3 7.2, € daeT dles f<9 <93 € HI3< EFar |

HUSH AHUS33d M3 SW3H AHUSTSH 77 \7/7)
| i
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€ AF € 3 U Al i[9 7Y gred & mid3 dar | ua fegt S5 Ag
3 8¢ AIY I § BW3IH AINUII3H (B AT fagr Ater 3| fen 37 8§ miz
2EBAT. 24T

+ €A @ 3 U AftpeT € 8¢ 3 8¢ AT gied, GaT Afumret g swsy
AHUEd3H (B AE.)Jer J|
+ Hag € 3t areht Afenret fSS° fea Aftr, gret Afarr & gea
J< 37 231 Aftprr E<t Afunret @7 s .2, I
BHT. § U3T I35 &t I bt featnt 05 -
(1) Irew feat (2) me Tresys feat (3) gmar feat
3.6 (1) B A< € e feut
fen feut mts ufost fE3tt A=t @ areq ugT Jatar | fer feg A9
Jeat & feds feuidr I8¢ 3 8" JSA B A, J|

S A, €t oA feut § J& fedt §e99s 7% Aune 3T A7 AgeT J |
@egds1: 3,6 MI 9T B HIT. UITAT |
9% 3T ASH=3,6,9,12,15,18,21,24, ..., ..., ....
69 IrSH =6, 12, 18, 24, 30, 36,42, ..., ..., .....
9T IEH =09, 18, 27, 36,45, 54,63, oty oy ...
3,6MI 9T AZ ITEH = 18,36, oty ey ey oo
fegast fe9 Ag I ST HIYTgIeH 18 J|
3,6MI9OTTHEAI. 18T
3.6 2) & A E. € mIH grIesus feut
fen feot »iuts AferT=T @ Ma™ JIesUs U3T J9idT | fed ATY Jreasdst
M3 gt JISUST T ISoeB T AL, J|

2112 2|48

12 =2x2x3 2__6 5 124

48 =2 x2x2x2x3 — 27112

A8 Jreads =2 x2x%x3 313 2701 6
&t qrEads =2 x 2 I 303
|

A"\ T@/ 78 af=3-5



|t
fegat @97 Wig™H JTesusT &9 2 U I U 979 =g wifemT g w3 35
U I 2y e =79 mrfemr J |
FTHI.=2x2x2x2x3=48
3.6 (3) ®.H.€. € gwar feut

+ fen feut Bt 95 foy I9td 578 FA.2. U3 I AL TT |

+ Ag 3 &I I "t 578 Sfgn 72 | W we i ifumr § 3
M3 7 Al FFPoAT B4t FiEhdt, st § ©F 39T I 9ot fefmrr
"<

+ oA 33 & &t mg™ Aftd™ 578 B¢ 3 Fan™ 7=, Ae 3 MHlas!
sEts ffe 1 aTom AR |

+ fer 3¢t YUz 9T AT MIH JSEUST § IS J9s I FAI. YUI
Jerd|

s A2, € g9 feut § 9o fodt @e€uds 5% AuRe i3 77 AgeT J|

Eas2: 6MI 12T B HE. IJ feut ©aT U3T ad |

\J

% 6MI 12T B HE.

216, 12
203, 6
303, 3
T

6MI 12T H.A..2x2x3=126€39
GEas 3: 8, 12MI 24 T B H . I feut ©HaT y3T a4 |

I&: 8, 12MI 24T B HAZT.

218, 12, 24

214, 6, 12

212, 3,

301, 3, 3
L, 1,

8,12 M3 24 T BHIT.=2x2x2x3=24€39

HISH AHTUSEST M3 BWIH AHUSTSH 79 \?7/7}
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. J&T fasgf Aftper aT S AE. U™ AT :

(a) 5,10 (b) 6,18 (c) 25, 50 (d) 9,24
. I&T f[ESh Afuret v s RS . U3T a9 :
(a) 4,8M3 12 (b) 6, 12 M3 24
(c) 15, 18 M3 27 (d) 24, 36 MZ 40
. I&T &3t Afanret @7 F H.E. M3H JIesus feut aat usT a9 :
(a) 32,40 (b) 24, 36
(c) 15,303 45 (d) 40, 44 M3 48
. I&T fESt Afamret @7 $ .. 39T feut It usT &g ¢
(a) 15,20 (b) 12, 38
(c) 30,45%3 50 (d) 40, 68 M3 60

. Bu St 3 St faust Afem I, 7 12, 15 M3 20 a7 ® yat-yat ST A= ?
. & 997 99 T9 35 S< &% HdeT I M3 g7 9T 99 8¢ E'% HdeT
J | A9 €& 99, foa dt feur &% ffq It Ags 3 feds &% Hae 76
3T &R 3T Qv faa g gmie a9 ffq Ag's 3 feds gear ?

. A3 f&T ufe uie fas 99 ¥z adie fa Gust fe9’ 99-979 »3 UA-
UH Sfomt Tt SBPHT gt A7 igE M3 aet < 597 et 3 g97dd
&TIT |

. Ag® &9 f3& urdtt giea 10 fite, 20 fire W3 30 fite gmie Saett
I& | Had f3a Urehdt i=d 08.00 =1 fead st @t I 3T gaaT faa
=+ feaabt ST ?

/ag—feawﬁ.lauga?;(MCQ)-—
. AY 3 &2t fAns mig Aftpur fagsta ?
(@ 0 (b) 1 (c) 2 (d) 4
. faostAfer srsAa M sT g T ?
(a) 1 (b) 2 (c) 3 (d) 4

80 afes-5



10.

11.

12.

. 70 T 80 3 faaztm™ Mg Aftet g5 7

(a) 71,72,73  (b) 71,75,79 (c) 71, 80 (d) 71,73 79
75M3 90T HAE. &t T ?

(a) 5 (b) 10 () 15 (d) 20

12, 18M3 24T B AZ. ST ?

(a) 72 (b) 36 (c) 48 (d) 24

J&t faghit Afuret 9" faaat Aftr & 7.2, 59t T Aae!, AT HAE. 8
gl

(a) 48 (b) 60 (c) 24 (d) 56

&% 3 37 fauar §137 I, 7 24 Hieg M3 30 Hiew et Haretnt § yst 397
HY A 7

(a) 4Htea (b) 5Htea (c) 6 Hiea (d) 7 Htes
fagat 8¢t 3 &t Aftrr I, & 8 M3 12 5% yat-yat 397 &3t et ?
(a) 16 (b) 48 (c) 72 (d) 24

26T 39T B HE. UITAT |

(a) 13 (b) 78 () 39 (d) 26

(a) 5 (b) 65 (c) 12 (d) 13
I &gt Rftmret (S9° faaat o Afaur I 7

(a) 43 (b) 23 (c) 21 (d) 37
J& &3t Afvmret (S5 faoat At 19 ev gea T 7

(a) 171 (b) 172 (c) 173 (d) 174

HUSH AHUETSE M3 SWSH ANUSISH (81)\;{@’%
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13.

14.

15.

16.

17.

18.

19.

15,45M3 105 € HAS. UST ad |

(a) 15 (b) 5 (c) 30 (d) 45
g MI'H Afer @ HA.E. dt g=ar ?
(a) 1 (b) 2 (c) 3 (d) 4

Aa® feg f3& Wbt grera 10 fite, 15 fite w3 20 fite smie Saeht a5 |
A9 35 Uit A=T 9.00 =7 fedatit Syt I€ 3T gaer we-we fas
eﬁﬁ Vﬂ ° \J ﬂ . ?

(a) 11:00 == (b) 08:00 =H

(c) 10:00 =H (d) 12:00 =+

fer Ueds & 99t IqT NS J YAs & 16 3 YAs & 20 IJ € A=y fe6:-
ufgst gt 1 =1 = 1x1
ufgstmt22id 1,3 1+3=4 = 2x2
ufgstmt3 e 1,3,5 1+3+5=9 = 3x3

ufgstr 4 1,3,5,7 1+3+5+7=16 = 4x4

ufgstmtgia 2 2=2 = 1x2
ufastut 2 farg 2,4 2+44=6 = 2x3
ufastnt 3 fars 2,4, 6 24+44+6=12 = 3x4
ufasbrt 4 fAA 2,4,6,8 2+4+6+8= 20 = 4x5

Gug &3 Ueds AHSE I, U8t 6 2ia Rftmmet T Az UST a9 |

(a) 30 (b) 12 () 25 () 36
€U &3 Ueas AHgE J¥, ufgshit 10 T Aftmret T A USTaq |
(a) 20 (b) 50 (c) 100 (d) 40
€T €3 Ueas AW J¥, ufasvT 8 fARS AftMer eT A UST &g |
(a) 16 (b) 24 (©) 72 (d) 64
€U €3 Ueas AW 3T, Ufashit 9 fARS Aftret v A USTaq |
(a) 19 (b) 18 (c) 45 (d) 90

Y/( 82 afes-5



20. €T AS € 57%-5'% 24 Hled € AN a1 3 HY &4l 35 | @R AZa € 578-
&% Ugat @ €9 30 Hied € is get 3 Bdl & | Ad9 ufast Uget €t @at
4y € J&S 39T € &% S4it get 9« 3T ufe-uie fgat gat 3 grat &9t 3 dwr
few feds gear ?

(a) 100 Hiea (b) 110 Htea
(c) 150 Htea (d) 120 Hiea
g9 J9d 39 :

+ o At e fearet @ 91T 0, 2, 4, 6, 8 3= G Afer™ 2 7% yat-ydt,
I3t At 7, < 2 €T AfgnT @7 Jresds T

+ fam Aftoyr @ fearet e oiq 0 w3 5 32, €0 Afverm 5 578 yat-yat
IS AT I, I 5 GF Aftor &7 Jresds JeT I |

+ fam Afenr e fearet & #iq 0 32, €9 Afvrm 10 575 yat-ydt S5t
7et I

o faw AfguT @ A9 viat @ 93 3 &% Sfsr A<, 89 Aftorm 3 a7 <
<3t A=t

mwT 7 fAfamr (Learning outcomes) .
. M?mmwwmwméi
&rar Jev | '
* HISH ANTUSIST M3 BWIH ANTUSISH U3T Jd6 BTl JSSHF
fegt, gma1 feut M3 g™ JTeads feut =93 @ Gard=7 |
+ Wy faedlt fE9 HI3H IHTUST3T W3 BWIH AIHTUSIIH Jd5 &T%
| HIU3 A=t § 9% dds € Warde |
|+ HIrEE St \ifiprret wet fmmg JeT

__________________________________________________________________________________

[ ———

e

[

. (a) 5,10, 15,20, 25 (b) 9, 18, 27, 36, 45
(c) 10,20, 30, 40, 50 (d) 12, 24, 36, 48, 60
(e) 16,32, 48, 64, 80 (f) 17, 34, 51, 68, 85

HUSH AHUS33d M3 SW3H AHUSTSH 83 \7{7)
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2. (@ 1,5 (b) 1,2, 4,8
(c) 1,2,7, 14 (d)1,2,3,4,6, 12
(e) 1,5,25 ) 1,2,3,4,6,9,12, 18, 36
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X 6 x 12 x 7
< 708 670 <3150
3350

34020

€e995 2 : Jo fadtut us gt § I7aT &9 |
(a) T2115+5 (b) T4992+16 (c) T 5785+ 13

T5: (a) 5)2115(423 (b) 16)4992(312

20 48
11 19
10 16
15 32
15 32

X X

(c) 13) 57 8 5(445

52
58
52
65
65
X

T2115+5=%423 %4992 +16=3312 X5785+13=%445

Geaes 3: g s e s 7415 T3t mifag 18 Ust - W U™ &9 |

J5 ffd U's aT & =3 415
18 U"sT & H& =3 415 % 18
=3 7470 €39

u% (I9wt) 125 \9{}@



Ceaes 4: g alm v Ws T 1135 T 3+ mifadtut 6 et & s U™
dd |
J% : ffa g e & =T 1135
6 TIHHAT TTHE =T 1135 %6
=3 6810939

Gurgas 5 : MEAIZ MUS A5H fes et ga8e ydtes famm fea
IS € Ude T 430 T 3™ ifAd 12 Ude €7 H& u3T a9 |

T feq 9@ @ Ude @™ & =32 430
129798 @ Uder a" H&% =3 430 x 12
=3¥5160939

Qeg9s 6: 15 TIHS JAT&IT @ HB T 1440 J 37 | €966 o& €7 NS
Uy3Tdd |
% : 15 T9d& Af&HT T H& =T 1440
| €9d6 ©TH® =3 1440 + 15
=396€39
Gees 7: | Uz < §9t €T W% 22100 J1 84t &9 50 faar. 45 T 37
fEafa.ar. dg e g U3Tad |
I 50 far. 9. 5 © & =3 2100
1 . 3. &3 € H® =3 2100+ 50 =3 42

1. 35 foftmre" H& ysT a9 :

(a) T258 x 17 (b) T410x20  (c) T518x 18
(d) T220x 14 (e) 206 % 25

2. I fafuf e g ugT a9 :
(a) 3120+ 10 (b) T1590 15 (c) T4272+ 16
(d) %4200+ 20 (e) T 6500 + 25

)

. BT aABTBeT T HH 415 | vifAd 17 ABIHed" & HS ©F |
4. TEF foeg fwl e W& T 435 T1 18 B fwE e s €F |

5\ T/ 126 aifes-5



24 49 T ISHT T HF 3 2,880 T | fEa I w7 & U3t 9 |

19 faGHedt gamt e H® 22850 T | e faGHedt sam e s u3Taq |
Ued® © e fBea e & T 73 T137 12 fEead Ueds - Ha on |

25 fa@arH gest e & 22000 7 | fEd fa@ar o7& e g U3Tdq |
| Hed qUS " W& T 500 T | 18 Hied JUZ " WS U3TaT |

10. St geisg:

(a) T13x8= (b) T24x 5=
(c) T24+3= d) T72+-8=
(e) T25%x6= () T100+10=
(g) T1000 ffeRgue e 5T IS |

A e B AR

(h) T300 ffEyaggue & & TS|
() T500fegsggue e &CT TS |
(G) T2000 ST dARgue e 52 IS |

/ gu-feasiud yas (MCQ)=

1. 13 U 50 UR & foue e o &ar faaar T ?

(a) T 1350 (b) T13.50 (c) T1350U  (d) et aat
2. 26 3yr fSg € € gue © fas fia I<ar 7

(a) 52 (b) 26 (c) 13 (d) 20
3. 993 ©f a9At e Hod 9% faggra 7

(a) ¥ (b) $ (c) £ d) £
4. fEq U's & W& #7d9 T 12 3@ 37 11 UsT & 45 faat It |

(a) T120 (b) T23 (c) T1 (d) T132
5. fea fa@arH AEt & H& 3 80 T | T fa@arH AEf €7 s uST a4 |

(a) T20 (b) T 160 (c) 40 (d) T80
6. ¥ ars UsAsT & H& T 60 T | ffT UsfAs & He an |

(@) T12 (b) T5 (c) T60 (d) T30

q?,-(aa'):ﬁ') 127 \7}[@%
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10.

11.

12.

13.

14.

[p——

o
1

220 € 7 &2 @7 H® faaT g=ar|

(a) T27 (b) % 14 (c) T 140 d) %13
480 UH & JuT ST san g |
(a) T 4.80 (b) T48.00  (c) T 480 (d) % 8.40

Hee s gAd f@e 25 ygg aad fag I M3 ERas I 25w o IO a®
gy f<e fas queg A& 7

(a) T25 (b) ¥5.00 (c) T50 (d) T40
210.40 +T 1530 +3 820 T W& T |
(a) ¥33.90 (b) T 34.00 (c) 30.90 (d) T339

fea anile & 1 % 999.90 T | gdsewa, feret MgHs3 He fasT yus
ST |

(a) %990 (b) %999 (c) T 1000 (d) %999.95
fea nirarg €t ysifes € a3 T 4 T | As<dt Hals €9 myaa at d®
S fast I=att |

(a) %124 (b) 12 (c) T35 (d) Z25
MSHS MUE A9 499 9 g9 3 3 5 g@er I | Haw Hals fee G
e fda gue se |

(a) %36 (b) T 31 (c) T 155 (d) T 150

8 Hieg JUF T H& T 680 J | fEa Hieg U e H& € |

(a) %80 (b) T 85 (c) 70 (d) %90
. T 519 50 Un € f&& fita Fear|

(a) 250 (b) 55 (c) 20 (d) 10

it 7 frfer (Learning outcomes)
JaraT faeart f&g gufeut, Ufmdt @t @93° JaaT fRfamT |
gufent & Ufimnt T geseT fifunr|
U5 & 7367, W8T, ST M3 I7aT JI&T HIUHT |
W@ﬁmmmw ffa Hs, wesr- aeﬁmaaw’r

1
[ S )

______________________________________________________________________________




€3ausr

——
mfenm™ 5.1
1. (a) 1500U"  (b) 813UH (c) 1263UW  (d) 1350 Uw
(e) 9875 UH
(a) T7 (b) T9.25 (c) T19.72 (d) T28.16 () %36.50
(a) 2 (b) 5 (c) 3 (d) 10 (e) 4
Mg 5.2
1. (a) ¥2365.90 (b) T5692.18 (c) T9410.96 (d) T5741.3
(e) T 7668 (f) T3247.22 (g) T408.32  (h) T2028.54
() T12225  (j) 85583 (k) T968.11
2. (a) £5262.80 (b) T9673.17 (c) T9461.45 (d) T2288.24
(e) T3096.08
mfgm™ 5.3
1. %325 2. 3265 3. T50 4. T 258
5. %3417 6. T350 7. 11725 8. T3916.3
mfgm™ 5.4
1. (a) T4386  (b) %8200 (c) 9324  (d) T3080
(e) T5150
2. (a) T312 (b) T 106 (c) 267 (d) %210
(e) T 260
7055 4. 77830 5. 3120 6. 150
. T876 8. T80 9. 9000
10. (a) T 104 (b) %120 (c) T8 (d) T9
(e) T 150 ) 10 (g) 10 (h) 6
(i) 25 G) 4
1. b 2. ¢ 3. a 4. d 5. ¢ 6. b
7. ¢ 8. a 9. c 10. a 11. ¢ 12. a
13. ¢ 14. b 15. d
us (IdHt) 129

——
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mifonfe - 6

Gew: 1. &gEt, 979 M3 AHIET bt gt feamebu™ (standard units)
g9 A'EaTdl €= |

2. IAST AlEs bt JiSifeutyt &9 &9vet, 979 W3 AHdET
ot fearebdt € @93 995 @ WaTt IS8T

3. fefemraghyt e Sfaa fea™m J9aT|

4. Fgret, g9 T AHdET GUT 99 Heshit faforet g9s <
War IS8T |

5. AU9S I&3T fEg AT wi=dt U3T 9957 |

6. HITg® Tt Yiftr=t Bt f3nma JaaT|

g9 Jd fAytar | fer 3° ufost fue® Jiz o
o ©JdTel gdv I7 |

afes-5




NE&ED

1. 30 Hiea &=t It <" 2 viea € fada Zax d¢ AT Aae I& ? ©F AT Int
& faat =g dear ?
2. It et Agent & forms &% €8 W3 Ust Ag'S 39 ¢

Adhited | 200 400 | 500 | 300 | 600 800
Hiea 2 6 3 4 9
fa@am| 3 5 2 7 | 8|4
3 | 3000 | 6000 | 4000 8000
H&T fsea | 4000 7000 2000 5000
fgeg 4 3|14 8 23 9
6.1 g€t (Length)

g< 3 At dgret St IF firat feamet (standard units) 79 U
do I7 | W& g wiHt Sgret ghdt fiprat feareh™ ferag &% adte w3
&t € Ut FET g9 S AT |
fadiites | Jaeted | Famited | viea | 3hited | Achitea | fwshites
1000 100 10 1 L L !
10 100 1000
+ Jot &3t Aot § fors &% €y fa fam 397 <t feaehd &

gt W3 gt fearetnt § S5t fearehut <9 et aisT

AgeT J |
( - L= =4 » 0 At 7
HY &t SY-2Y feqaret § niun &9 aeser
i
g =1000
 a@Hied = 100 ""m
x 10 g
~ Faniteg =10 qm
[ <10 -
~ < EID
m" | S¥hited = 1/10 = 0.01 =0
[ 10) ‘ Hehitza = 1/100 = 0.01 &
Y ol
firhed = 1/1000 = 0.001 Ay 10
8 S
W 131 \h{f‘:
1_‘
t
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feng Jot fat ITEet 7% we 3T AT AdET I |
\/ = = 0 ()
A& d Juit sm—aﬂtr § H&laﬁ
famﬂzaﬁaaﬂzaé‘mﬂza

wma?ﬁ-m’r

SHhteT ﬁ?hﬂza ﬁ-rss’hﬂza'
daeT Ates fEg aifexs (Math in daily life)

Afgg 3 I¥ g9 Ea iz =i 3fenm 3| far e samr 9ot fesr J1ag
etas '3 fils fEg Wiy faar I

g @8 3w ISt Sy-y gatusT a9 ¢

1. DFABSE Swfemt) ... .

2. BZE(CW3 DS dwfen) ... .
3. ASDBmMI Cfeg dwufen) ... .
4. A D FmMIERT Swfent) ... .
5. BZF (DmI Efes swfen) ... .
6. C3A(DmI Ffeg dwfent) ... .

%@TE/ 132 aifes-5
|
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2 =~

MuE U9 § A'e d9 §3 d¥
USfA% 5% Outline 99 | feg Ad® 578 &4
JEUT AR ST NU I S AT I TS U & . —~
Juya 3¢ farest ag fa It fas Ua 95| -
3UF & 3 I3t It get usT AT I g =
fefenmragin % <t fen € 3BaT ad |

H&HI & Ud € 97¢F =22 cm
89 ¥z € He's 39 faa U 9f&mr =348

Hon3 28 3fo i3t aret gat =348 x 22 = ... At
= e, HE. oo, At
Ge9s 1: Jot fefiout & T T8 vy fé9 5e8 |
(@) 6.15HF. = oo, AT
(b) 4.823 fa. HF. = ...cocoooe HT.
(c) 0.58 FAT. Ht. = ooev. oMt
(d) 47t vt = HT.
(e) 257 A. HY. = oo, JIeHlea
y 615
I% . (a) 6.15 Ht. = — Mt
100
615 -
= —— x 100 7. Ht.
100
[fa@far 1 1t. = 100 7.+t ]
€39 =615 7.\t
4823 4823
(b) 4823 fa. Wt = —— fa.mt. = x 1000 Ht.
1000 1000

[fa€fa 1 fa Ht. = 1000 Ht ]

€39 = 4823 Ht.

2|

133~ /@



(c) 0.583aT.Ht. = — FAT.HT. = —x 1000 7. Ht.
100 100
[fa€far 1 amited = 1000 7. Ht ]
€39 = 580 |. Mt
4
) 47Prof =
1000
. 1
[faQfar 1 fir. vt = —— ]
1000
€39 = 0.047t.
N 257 .
(e) 257 H.Mt. = —— Q.

10000

[fa€fa 1 7. vt. = L J. Mt ]
1000

€39 = 0.0257 3. HT.

1.
(a) T T,y
M. fait.= L FME. mt. ot = L RO
(©) (d)
2. YT ¥z ©F Suret Aeleat f@g T M muet gt 3 576
(a) (b)
) — (d)
(e) ()

%E\ T‘?/ 134 afes-5
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3. US A& 39 :

(@) 3.45 Ht.= oo, M. s .Mt
(b) 5.75 Ht. = ol HE . s Aot
(c) 10.850 fa. Ht. = ..o, fa Wt e, HT.
(d) o, Ht. = 4Wt. 25 7.t
(€) e fa. vt. = 7fa. Wt. 375 Ht.
4, €8 :

(@) 45 At & . fRT (b)) 270t & fa. vt <o
(c) 582 fa.vt. &vt.ffg  (d) 0.65+T. A . ST
(e) 18 .t &t <o
6.2 39 (Weight)
AT faealt €t Gewes - feg Hee WY € A0 3 59 I o Aat §ra
7T &% It 9%eT I | &0 Y 59 €T 979, a1 €T 979, §4T €7 g9 wrfe |
QeT9s 1: geq &t =t % 4t At 73t 99 39 AL Ag® AT I
ufgst, fea ufer mrue W3 7t 7%, 43T {9 8T (a=a
€ fie) goret At IAg® 3 77 d aH & feg Gu fea e gt
garet | fer 3gT QU gg dw 5 fa. a7 &< feds a9 Bt mz
gr e w3 At 25 fa. arr. v (Y3t few) feds ag 3€ 1 &7
31 W3 G W3 At 1 763 fe9 fas fa. ar. €< fedo
a9 BT HT ?
3% : | fes ffe A3t ee feds gaet g =5fa. ar.
| fes R A3t € war At v feds qae 96 =25 fa. ar.
| fes ST €= < fedo qae 5 =30 fa. ar
7fest (19=3) e feds aid @ =30x7
=210 fa. T
s Atz e st/ & 1 ge3 fTu9 210 fa. arr. < feds a3 |

IS MHAT 979 Ehdt fearett @ ASY '3 9997 JadT |

fa&army | Jdeary | Saary | Iy | SHISMY | Adtary | fHstarm

1000 100 10 1 L 1 L
10 100 1000
Wy 135 \&‘.”A



9 HUE € HS fearet arH T |
» QUIIZ AIET fEg g9 bt fearebd™ e wrurt AT egrTfomT fapyT
I
gt feareht § 3t fearehnt &9, I9€l® d95 St eaysT

fagr fapur T
“>
[ <10 o
@ T __aD
[~ 10 | /',73 . | an
@, s « D
L1 ) 5 - aD
W AR
fsstar - G
fend Jot fodt Iadet 7% we 3T A AdeT J -
amr El'!.ﬁ 3131? S H]Eﬂ?;
ﬁwro'[r}r aazarrn
SH FrFB’r ﬁm’r
SHiaTH H?hrﬂr ﬁm‘o’[ﬂ{
Q95 1: ygt grer 99
(a) 2500 I = covovee, fa.ar
(b) 4IMH = oo, fi. ar
(c) 4. M = I
(d) 3fa. I 250 = ...ooece. ™
(e) 8590 ATH = .coooveree. fa. am
136 arfe3-5



2|

J% : (a) 25003?”:% far. amHr [larn{=ﬁ’ﬂ.
€39 =2.500 fa. arH
(b) 434 =4x1000fH. I [13H = 1000 fi. IH]
€39 = 4000 fi. I
(c) 4fa.3m =4 x 1000 3rH [1 far. 3 = 1000 3]
€39 = 4000 aTH
(d) 3 fa&. 3 250 I = (3 x 1000 + 250) I[H
= (3000 + 250) I
€39 =3250 I
8590

(e) 859034 = —— fa.qr.
y 1000 :

9]

€39 =18.590 fa. 9.

1 fa 3 3 500 I = 1.500 far ar.




2. I fat 379 set fagt Sfewi €t ages uqalt, Qust e Ia7 (V) e fams

Barg :
& G \\ /~
v & @ |e|s
1 far. 3rm. | 500 IH [ 200 I | 100 3 | 50 ITH
(a) 1.600 fa.arr.
(b) 0.850 fa. ar™.
(c) 1.050 fa. 3T
(d) 1.700 fa. 3T
(e) 1.250 fa. 1.
3. USRS 39 :
(a) 2850 fa.ar. =......... fa.arm. ... arr
(b) 157903, = .o G LU fi. ar
(c) fa.ar. =12 fa. 3. 625 3T
(d) fa.ar. =7fg.3r. 759"
(e) arr. =103r. 800 fHarT.
4, €8 :
(a) 3.275 I(H & MH&tet feg
(b) 8050 IrH & fa@amit few
(c) 4.2 fa@amH & ot few
(d) 865 fvatarH & amvt fiee
(e) 520 I(H & faBarH f<w
aife3-5

%\5\ r?/ 138
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6.3 AHJET (Capacity)

feg fAst 9= A Aaet I G0 €7 993 <t
U9&E AHIET J |

fugst iz &9 wirt midar St gt feaebdt (standard units) 79
Ug 9d It |
fegst © WUt AT g9 ATSIE |

fa8fecg | Jacfseg | Fafseg | foeg |3rifseg |Ad s | Hstfseg

1 1 1
1000f®. [100f®. |10f®. |1f®. Eﬁw. ng‘ mﬁw.
AHET €t HS fearet fgea T 1

fors 57% €4 |
M 139\4@%
il



AHIET bt [y-2 fearehnt & mmur i< gese|

(0]
~
o P — At
m’y fges "m
e | Britfes *
m,., fefeea At
fweifses < &
AN J

fen & ot fot Saa<t 7% we 3T AT AaeT J |

ﬁmmﬁzﬂa”lvaw

fagfees Jacfoes 3arfeey

Q'HHHBTﬁ-m’r

éﬂﬂfaza'ﬁ'z‘ﬂ’azaﬁm’rﬁaza

B U
G951 Fot fiddr yet gt 35
(a) 10 fs. = fs.
(b) Rfa.f& = fs.
(c) Sf&. 465.f&. = v f®.
(d) 83563H.f&. =i, J.fs.
(e) 5627fF. = oo, J.fs.
5 () 106f5 = —— f. [1 1. f5 = — fas]
1000 1000
- L5
100

%\5\ r3/ 140 aifes-5
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(b) 12 fa fs. =12 x 1000 f5. [1fa. f&.= 1000 f& ]
= 12000 f&.
(c) 5%.465 M. f& =[5 x 1000 + 465] 1. &
[1f®.= 1000 1. f& ]
=[5000 + 465] 1. f=.

= 5465 . f=.
= 8356 -
(d) 83563HTf®.= — T f=.
1000
= 1 2
[137t.f8. = —— T.1% ]
1000
=8.356 9. .
5267 = 1 =
(e) 5267f8. = — 7. 1%. [1f8s.=— 3.5
100 100
=52679.f%.
1. Hyat &g fa3 WS af 39T feeat fea fay :
2fg_— 2&@_— 2ﬁ=r_— 2ﬁ=r_— 21‘5_—
1500 frfs. [ — | 1s00firfs. — | 1500firfs. [— | 1500 frfs. — | 1500 fir fs. —
wE | e | we | B wb
500 fir f&5. |— 500 i f&5. — 500 i f&5. — 500 i 5. [— 500 fir f&. [—
0 firfis b 0 firfis. = 0 firfis. 0firfe. | ofirfs =
I ] O ] T
1. 300 fr f. 5. fifs. fs. fifs.  _ fs._ fifs. 5. fufs
=1.300 fs. =_,_f§§, =_,_ﬁ°§ =_._f5 =__ﬁ°¥
(a) (b) (c) (d) (e)

2|
[u—y
=
[
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2. It fEg Hyat &g st aret 39T mMeAg dar 39 ¢

215 | — 2fg— 2fs | — 218 | — 2fe | —
1500 fir 5. E— 1500 mm-,f— 1500 fir f5. E— 1500 fit f5. E— 1500 fif f5. E—
1ﬁ=s.f— ngf— 11”3.3— 1fe=;.f— 1fg.f—
500 ﬁ{.f’s.f— 5ooﬁ;fsf— 500 ﬁ{fa,f— 500 ﬁ{.ﬁ:s.f— 500 ﬁ{fs,f—
ofw.fs.z_ 0 ﬁ{,ﬁvs.E— Of}f,f"a',z_ Gﬁ{f&',z_ oﬁ{.ﬁz.E—
1300 f&. 1.800 f&. 1.400 f&. 0.900 f&. 1.100 f&.
(a) (b) (c) (d) (e)
3. USIAES 39 :
(a) 3.125fFeg=.....f&. ... i,
(b) 8.20fx.f&. = . fa.f&. ... fs.
(C) wee v e f&. =41z 948 1 f=.
(d) oo, fa. fs. =15fa. f®. 650 f&.
(e) 18.045fFeg=...f&. ... v f=.
4. 98 :

(a) 7.6 feea & Heifgeat e (b) 250 sifses & faeat fev
(c) 425fafs SfeearfSd  (d) 0.845 feq & eifaes fee
(e) 92 f@eqd & fasfgeat f[ig
6.4 HY &byt fegretut &r A3 /W€
IS I wHl MIBIT-2 WU St fearehot (Faret, 99, mdEr) & fEa
fearet 3 gt fearet ffo geser fiftr 91 g wAt Gos™ WU et
fearett™ @ mrur fE9 A3/We™S 979 999 Jdtdr |
fog feg 3% fours @< Gar I fa 73 77 W aae av° Wiy & fea
faat fearet 3= | fa= fa vieg && vieq, fa. ar. &% f&. a1, f8cT &%
foeg nmrfe |

%_5\ e 142

afes-5
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Gegas 1: 73
(a) 3fa.3r.8003r. w3 7 fa.arr. 170 Irr.
(b) 5 fa. Ht. 560 WF. W3 3 fa. Ht. 850 .
(c) 4fa.f&. 2255 w3 5 fa. f®. 980 f=.
9% (a) 3fa.3r. 8003,
+7fa. 3. 17031
10 fa. 3. 970 31

(b) 5 fa. M. 560 Mt
+3 for. WT. 850 Mt
8 far. vit. 1410 M.
fa@far 1410 Ht. =1 fa. Ht. 410 .
few &, 8 fa Ht. 1410 HT. = 9 far M. 410 HY.

(c) 4fafs. 225f1%.
+5 fa f&. 980 fs.
9 fa f&. 1205 fa fs.
fa@fa 1205 f&. =1 fafs. 205 1.
fem &et, 9 fa f&. 1205 f&. = 10 fa 5. 205 .

Ceuas 2: we§:
(a) 7faar.2003r. f<9°3 faar. 150 arH
(b) 13 Ht. 400 i t. & 17 Mt 300 fr it f&5°
(c) 4T . fe9° 3 f®. 650 i f=.
I&: (a) 7 fa. 3. 200 3.
~3fa.9rr. 1509,

4fg. 3. 050 3T




(b) fem yms fSg =t 17 Wt 300 frHt. & 16 M. 1300
Y. feutar | fa@fa 300 firdt. 97 400 it &
wetfenT &4t A7 AdeT |

16 Ht.1300 T M.
— 13 Ht. 400 fH M.
3 Ht. 900 fir Mt

(c) feg w4 f&. & 315 1000 Bt 8y g we§ gae
o

3 f%. 1000 v f=.
-3f®. 6500 f=.
0fs. 3500 f=.

Qewas 3: g9 & 3 fa. arr. 250 I ¥iw, 5 fa. 9. 480 I AY yatE
8Wa fas fa. . 8% wate ?
IS - wig ydte =3 fa. 3. 250 9T
A yate = 5 fa. arr. 480 3T,
4% 8% ydte =3 fq.qr. 250 ar.
+ Sfa.3r. 4803r.
8 fa.arr. 7309r.
fen wet,Ig & 8 fa. 9. 730 Ir. € watd |
@e99s 4 : foa AHTIT BTt 44 f%. 900 i1 f&. TT ydifemr fapdm | mga
¥9'% 33 f%. 500 1 f&. €u =afam fapur| fasT €U g4t
gfemr ?
I% : AHTIY BET ualfemT €U = 44 1%, 1000 T 5.
ANTaT B9 F9famT U = 33 f&. 500 i f5.
gat gfemT €0 = 44 f&. 1000 1 5.
- 33fs. 5001 f.
11 f&. 500 o fs.
fem et 11 f%. 400 1. f&. €U gat gfomr|




2|

@ew9s 5: Hus & U &t 1 M. 05 7 vt., i &2t 1 vt 50 APt i

UA™ SE 2 HE. 40 7. U™ ydtfewT | Hos ewmar yate
IE JUF < ST UIT T |
ar Ue st quzgryatfenmT = | M. 05 7 T
IHIHE Bt qusT ydtfemm = | . 50 7Ot
UA™ BE JuST Hatfemt = 2 Wt 40 BT
HI& ©MdT yate U S &gt = 1 Wt 05 7.t
+ 1 Ht. 50 7.t
+ 21, 40 7T
44t. 95 7. Mt
fer BE Hos omaT 4 Mt. 95 R M. U™ yatfemT faprm |

(a) 7 fa.Ht. 750 Wt. W3 2 far M. 575 M.

(b) 4 faar. 5003r. M3 9 faar. 825 T

(c) 5 f&. 925 fs. W3 71%. 650 W fs.

(d) 10 HT., 3Ht. 85 7. Wt miF 6 Ht. 25 Fr .t

(e) 8 faar.700arr.,975ar. w3 2 fg.am. 350ar.

We 99 :

(a) 12 faHt. 300 Ht. @9 7 fa HT. 625 1t

(b) 8faar. &9 3 faar. 6503r.

(c) 10 f&.350 W fw. f<9° 5 f%. 850 i f=.

(d) 15 Ht. fes 9 Ht. 60 7. .

(e) 25 f&. 765 f&. feg 13 f&.

wée & 2 faar. 350 3. furrm, 1 . 317, 750 I(H o yale | §Fe
fast radt yatet ?

WMa & 150 fa. Ht. 400 Wt. &7 AT 57 ©aT, 120 fa. Ht. 650 HT. 7 A=
SIHT gniraT 3 J137 | GHS fast gat 3w aist ?

. A9 d9 .
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5. f3& ga3at feg 3® & W39 gu=9 10 f&. 350 Wi, 9 1.
850 Hf®. w3 11 f&. T f3a ga3a fSg 3B ST B HITTU3T T ?
6. MBIIT & 7 M. 30 W MY, duzT watfew | GA& MuE He &t 2 Mt
50 A Mt. SUST =93 o™ | Ma13T 9% 59 JUT ©f S9TET U3T 4 |
7. feg ufseg fee g Hats fee 10 fa. . 750 a7 Iea M3 4 fa. 31
500 9. ITES € YU g€t I dd M3 TS ©F 4uI T 739 u3T
dd |
gedt JHIT MUES YAS (Value Based Question) :- ARHIE MTUS HT3T-
fugr /ft 5% a3t 7t § g 77 39t 9, 7 fa g9 afde a5 18vs™ &
ufgst g7 &9 18 fa HT. 425 Wt W3 feg mire &9 4 fa Mt. 215 vt. A=T 3fT
137 I &0 Amfls T wa T G T saT-a7at At Er wa fast ga I°7

HYY byt fearetut (units) @t areT / @5
96 At U Thut feamebut (units) ©7 A2, WS iy 9 T | I WAt Y
ot fearebut € Ire W3 <3 (I791) fRYfaT |
@ewgs 1: g g9 f&9 e et 3 W, Ju3T &< famnT | gdaeg
& BA& % 152.50 Y3t viea © fone o7& JuzT f€371 Gwg

foa qug e U ?

I8 : 1 Hieg Juz T W& =3 152.50 152.5

IMeg UB NS =3 15250 x3 %3

@39 =3457.50 457.5

Gemes 2 : | Ay &t Ut T 979 16.80 fa. arH T | gt 12 UShot &r

979 faaT g=ar?

cro | FEr @t Udterg@ = 1680 fx. arw 1680

12 frat &t Tt er 9@ = 16.80 x 12 ;3;3

=201.60 fa. arH 16800

€39 = 12 AT &bt Ut @7 979 =201.60 f. I 50760

@egas 3 : foq 993 &9 22.75 fBeg Sum@er I wifAg § ga3at f&g
fa® feeg dumr=ar?

/g‘;r\_\ v 146 aife3-5
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2|

J% : 1 993& fegduatuzar =22.75 . 2275
8 gg3&T fog Tu Tt wrgar =22.75f%. x 8 x 8
€39 =200.00 fgea 20000

Geraas 4 foq 18.3 . St It § 3w garga fIfmt g SHfamr fapur

Jdq fIm St BTt Uyt a9 |
9 o o . 6.1
J% : At € 9% FgTEt = 18.3 Mt 3183 (
Jod fIH € Fget =18.3 + 3 ~18
@39 =6.1 Ht. x3
-3

X

Gees 5: ffaq §at ff9 46.5 fa. a7 <% T&5| Taaed TS
¥ 5Ude g=8er g der J| J9d Uae &9 fas o<=s

WQ=ar?
o - v U 9.3
IS . gdt feg d® 9<% =46.5fF. ar.
o o~ . ) 5) 46.5 (
I Uget gt farest =5 45
| Uge R =% & W33 =46.5+5 15
€39 =93 fx.ar. 15

L {65 N X

. fEa viteg U € JUz & W& 2 265.50 I M3 Yd g% &9 24 Wt Juzr
JIT TS ETHB UIT AT ?

2. e wigt &t Ut v 979 324 fa. a7, | gIse9@ Gnd 6 fEefenmt
f9 gogg u@er gder 71 o9a feee v fas fa. oy »iw
Uar?

3. ffa wa3s <9 28.5 fgeg €0 J1 W 5 ggvug fIfmnt e <3
g &¢ g93aT &g ufowT fapur J| feq 8¢ 9935 9 faar €1
T ?

4. feq anitt € 3% € 979 9.8 fa. . T I wifAd 14 gt & §3% &7
T U3TIG ?

5. foa 231 € Fgret 12.7 Achited T | mifaadtut 7 23t €t aret faat
J<4it ?

ok
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AHT (Time)

ge w9 e o st ot S s

WA mue efed dies 9 ‘AT mae & =93 »dAd ode J7 | WAt AN
ot SU-2Y fegreht fa=’ i, HataT, 9837, few, Wrer w3 e wirfe 3°
ufgst It arg o | St Het 3T wirt fiie § ot An et 8t 3 et feaet &
gy &9 ytiar gae At | i & Hue &t fem 3° = 2t fearet gt J1 fen
Het ffe wrt fen g9 9997 J9far |

Had f&q e € #igg® § 60 mits gmart f&g Sfsur A= 3T fegst
fS9 g9 97a1 § Afds faar AT J1 fen e, i Tt Y-y fearetmt
fegarg A¥U 35 89 MgAa T -

1 & = 12 HdT®& =365 AT 366 fes (BU =7 i)
IHateT = 28AT29AT 30731 fes

1983 = 7fes

1 fe = 24ure

1 ¥rer = 60fe

1 fife = 60 Afaz

%:{r\.ﬁ/ 148 afzas



6.6.1 24 ulfen™ =&t AT W3t (24 hour clock time)

MU JaaT © Ales f&g wirt 12 ufent =&t ait w3t e y&ar dae

gt M3 A" AUt dEt Ha &7 39 fen € &t ot AR9 (AM) A7 B (PM),

gufag Af »idt 373 »irfe weet € y@ar gae I7 |
Ud Jet fegmar fam 397 3&<, g=Tel e wirfe fern 39T & g& fagt <9

24 Ufenit Tat AMT WSt T ywar a3 At 91 12 dfert @t i3 24
ufen™ Tat Mt w3t &g Ady Jat fe3 migAa J -

2|

(a) 3:30<H A=d
(c) 11:2089 T3

12 ¥+ IS AHT 24 T+ IS AHT
12 =0 wiut 373 A7 00 =4 00.00 A 24 ==
| @9 A=9d 01:00=H

2 I A=d 02:00=H

3 S A=d 03:00=H

10 ¥7 A=d 10 : 00 =+

11 7 A=4 11:00=w

12 =# gufag 12: 00 =w

1 ¥+ gwe gufag 13:00 =+

2 I+ e gufag 14:00 =+
1029 I3 22:00=H
117 T3 23:00 =+

12 =1 wiut 373 A7 00 =4 00 : 00 =H AT 24 2w

€vuas 1: 24 =1 I&F AN fET 98 -

(b) 6:30=H HH
(d) 10:10 =+ A<d



I%: (a) 3:30FAA=RI=03:30=H
(b) 6:30=HAH=18:30=H
(c) 11:20=8ATIF=23:20=H
(d) 10:10=AA<RT=10:10=H
@Ewgs 2: 12 = & AN ST e
(a) 24=H (b) 13:50=H
(c) 20:00=H (d) 08:40=H
I : (a) 24=H =12WUt I3
(b) 13:50=H =1: 50 g gufdqd
(c) 20:00=H =8<H I3
(d)08 : 40 TH =8 : 40 A=Y
6.6.2 AN &t fearebut (Units) € A
AN & HU & A3aT a7l MATs J | oAt Afdst § Afast i, fifet & fitet
feg w3 uifert § Wfenwt fS9 A€ o7 A9 Afast aF fifet € farest
60 3 Fu ATEt I it st § gHeTe fifet w3 Wifewt fg ge% fée ot
Q?"EIH?;'3: i3 dd :
(a) 2ure 30 fife 15 Afas w3 4 ure 10 fife 30 Afas
(b) 3ure 40 fife 30 Afas w3 4 ¥re 30 fife 40 Afas
9% (a) 2 W 30fie 15Afas
+ 4 ure 10 fife 30 Afas
6 Ure 40 fife 45 Afas
(b) 3 ure 40 fife 30 Afas
+ 4 ure 30 fife 40 Afas
7 dre 70 fife 70 Afas

g< 70 Afaz = 1 fie 10 Afas w3 71 fife = 1 WreT 11 fife
fem ®et, 7 ure 70 fife 70 Afas = g Wie 11 fife 10 Afas




@ewds 4: gz 55
(a) 6H™® 5 HITS M3 3 A™S 2 HAT&
(b) 5HS 8 HITE M3 6 A& 5 Hat&

I% . (a) 6 A% 5 HITS
+ 3 A% 2 Hdts

9 'S 7 HJ1&

(b) 5 A% §HITS
+6HH 5SHIIE

11 A& 13 HJI& = 12 A& | HateT
(fa@fa 13 vatd = 1 7% | HataT)

1. A dd:

(a) 2ure 10 e w3 1 e 20 fife

(b) 4ure 35 e M3 3 ure 40 fife
2. A AT :

(a) 1urer 10 fife 20 Afas w3 3 Ure 20 fife

(b) 2 ure 50 fife 30 Afazs w3 1 Wrer 10 fife 30 Afas
3. A9

(a) 7HIT® M3 2 A™S 3 HATS

(b) 4 A% 5 HIT& M3 | A'S § HA1&

6.6.3 AN Tt W€

2|

n{m: Aﬁﬂ o ﬁV\—n Aﬁﬂ 0 ?:)_ ﬁn . ﬁUh-«- ﬁﬂ . émg\_ nﬁ . ﬁu-a. nﬁ . é
WeTeT IT| Aad W AT @8 et A Afast o fare3t <u 3= 3 wint
1 dreT = 60 fife M3 1 ffe = 60 Afas AIT & & & WS Jae It |
a5 5: #igg uzTHT -

(a) 4ure 28 fife 30 Afas w3 2 Wi 12 fife 10 Afas

50~/
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(b) 5ure 30 fife 10 Afas w3 1 urer 40 fife 30 Afaz
9% . (a) 4 W2 28 fife 30 Afas
— 2 urg 12 fife 10 Afas
2 e 16 fife 20 Afas

(b) »HT AT=e It 1 UreT = 60 fife W3 1 fife 60 Afas
few wet,
surg 30 e 10Afas = 4 uie 89 fife 70 Afas
— 1ufer 40 fife 30 Afas = — 1 uieT 40 fife 30 Afas
3 ufe 49 fife 40 Afaz

[fea 30 fife = 29 fite 60 Afaz W3 5 uie = 4 e 60 fife]
@EUIs 6: WG -
(a) 2 A 5Hdlfentt & 7 A 9 Walfeut f&9°
(b) 3 A& & Hatfam™ & 6 AT® 3 Hatfemt &<
I% . (a) 7 A& 9 HIle
— 2 A& 5 HIt&
5 A% 4 HaT&

(b) fa€fa 1 e =12 wals
fen T, 6 A& 3 Hal® = 5 7% 15 Hate
5 15 WAt
~3 A% 8§ WIS
2HS T HITS

€EWTs 7: INE MTUS WT T €39 'S BT AST 8 : 20 T HUS WI
3 9BET J MI €e3d A= 9 : 00 4 ygger J1 GT ve3q9
s &t faasT AT sarger g ?

J& : AT feg Mt WS J9d YU &9 AdE J7 |

&A’fx\\ - 152 afes-5



Gvgas 8 :

Gegas 9:

2|

feg 9 =7 = 8 uie 60 fie
IHH § T30 YIS BeT &IapdT AHT =
8 ufe 60 fie
— 8 ure 20 e
40 fife
fer s, o § T=39 Udoe &t 40 fife Sare 75 |
10 : 30 @1 I3 M3 WIS fes A=d | : 30 =« &9 fasT
HHT M3d™& J |

oMt Aaee T fd 4 e asa M ffRE 10:30 A a3 &

22 :30 FH MI 12 9 MUT T3 =24 <A
fen T, »igt 373 M3 10 : 30 TH I3 T AT H3TH
23 Ui 60 fife fa@fa 24 =7 =23 Wre 60 fife
—22 Jre 30 ffe
1 ufer 30 fife
J< MUl 373 3 AT 1 : 30 0 3 &7 AHT wiga® = | UeT
30 ffe
few &et, % At wigas
1 ufer 30 fie
+ 1 urer 30 e
2:dre 60 e
fem et &3t it »iga® =2 uie 60 fife =3 U
d3terg 3 fea 97 A=9 8 : 30 v I®et I M3 Tufda
1 : 30 =0 &=t ygw A<t 71 93t 3 &=t udoe =t
g7 & faaT AT SarfemT ?

: °H gTaT FarfeT fapdT AT U3T J98 Bt 12 uie i &

24 UIe &I AX° ‘T 391 99 |

8 : 30 A=d = 08 :30 =+
mMI  1:30<FH gufad = 13:30=H

)
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fest ydgs e At = 13:30

TSZ I IS AT = 08:30
Bfaprr mit = 13 : 30
—~08:30
05 : 00

fen wet, o7 9Stog 3 fE=t ugus wet 5 e sarg<t I
€e9s 10 : foq Ag® Jrat Tt g2tu =T 21 Wet § &e Jfewm wig
5 g®Tet guTar Yfen | Ag® fas fest Bt &< faor?
9% . 21 et 3 31 HeEt 3 feast &t fareat = 11 fes (31 -20=11)
76 € Ha16 € feat &f fareat = 30 fes
HBTE @ Has € fest &t farest = 04
asfes =11+30+4=45fex
fem wet, Ag® 45 fes g foar|
€99 11 : g 3® i3t daaTea WaUR Haw=d & AT 6 =+ et
3 I%d §ULT § T3 9 T4 §IBd UJY el I 1 EF fa 3%
st & fE3t 3 G987 udgS BTt fasT AHT HarfemT |
7% . st 3 98 o AT Ha®BeTd A=Y 6 = ©F 3 d1%d
Yd9< €T ANT §US9 I3 9 = J |

fen g, AT = 9®< 9 A=d 6 1 3 §USJ A=J 6 <4 3
=24 e

JUSdASd 6 I TI9Ta 3a = 15Ufe
few oet, d% fomr fapm it =24 + 15 ufe
=39 ufe At
1 fes 15dre

1. 3T &n:

(a) 8Ure 30 e w3 2 uie 10 fie
(b) 10 ure 30 fife 20 Afas W3 § Wi 20 fife 15 Afas
(c) 11 A& 5 HIl® M3 6 A& 2 HdT&

4]




(d) 7 7® 2 M1 M3 3 A& 6 Hal&
2. AHTU3T &9 :
(a) 5:30=H AN 3 4 Ue ufgst
(b) 11:00 T A=T 3 2 Ul g™iw
(c) 4:30=H A=T 3 6 Ure ufgst
(d) 8:30=H A=d I 1 WIS 45 fife gmiw
3. fegda®T AHT €F :
(a) 3:00=H A=T 3 10 : 00 T A=J 3
(b) 6:00=H A= 3 1 : 30 = TuUfad 3
() 5:00FAANI 10: 4533 3
(d) 9:00=H I3 3 »IB fes A=d (AT 339) 2 : 30 =49 3
4. feg §F A=T 9 : 30 S Yfewr miZ A & 5 : 00 = g€ Jfomm | &7
g9 fas A &t yfgmr?
5. ffq 97 9319g 3 A=d 7 : 30 3 9% & 10 : 50 =« gufag &
udgdt I | 97 faH®T ugae et fdaT adt &arg<et g ?
6. €T B3 A=Y 7 : 30 TH AFS FET I M3 TUF W3 TUfgg 2 : 45
TH UJ9eT J | B3I I & fdaT AMT Wd 3 97ad dfder J |

V- feastis s (MCQ)=

J&t fe3 yast € €737 9 Aat €39 3 fors Bar€ |
1. 8HT. & A led i[9 gese '3 af €39 YUz d=ar?

(a) 80 7. M. (b) 800 H". Ht.
(c) 8000 A" M. (d) 80 7. Ht.

2. 16 fa® fweg § faeat fi<T e '3 39 af viear ?
(a) 160 fs. (b) 1600 fs.
(c) 16000 f. (d) 160000 f&.

3. 10347 gr. § ardt &9 gese '3 &t €39 yruz g<ar ?
(a) 100 I (b) 1000 IH
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10.

11.

(c) 10a™. (d) 10000 I™H

1000 IH &< fas fa@arH geaar ¢

(a) 100 fa. arH (b) 10 fa.amH

(c) 20 fa. a9 (d) 1fa@dam

3 fgeq 175 . &, & emvs= gu <9 fam 39T fauiar ?

(a) 31.75f=. (b) 317.5f=.

(c) 3.175fs. (d) 03175 f@eg

3.5 fa@teg = ... Hea

(a) 350 HT. (b) 3500 HT.

(c) 35t (d) 0.350 Ht.
TAGEd Aud! S99 B fan 3gt & vu-3% <t fearet g93er J7?
(a) fBegm3 fa.fs. (b) Hea m3 fadrites
(c) IMH M3 faBarH (d) fegst {9 aet &dt

fom €t =93 Fatar?

(a) f&eg (b) fa&ar

(c) Hiea (d) fegst &9 det &qt

a=% & HEdt W3t &9 6 fa. ar. W3, 3 fa& 500 I fuenma w3
500 IH 21T Hale | 7 & fas fa. Iy Aewt vatet ?

(a) 10fa. 3T (b) 6fa. 3T
(c) 3fa.ar. (d) 11fa.3r.

JIYZ & 10 Ht. JuzT ydifen GAa Gw 9" 6 Hieg 50 Adhites
JUIT He g9 Bel =93 a3 | G dF g fdaT uzT dfem?

(a) 2Hted 50 Achitea (b) 44t
(c) 4Mt. 50 Aghitea (d) 3 Ht. 50 Adhitea
1 f@hites &g faa Hicg g g5 ?
1 1 1
(a) 100 (b) 1000 (c) 10 (d) 100

Xe}\ 156 af=a-s
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12.

13.

14.

15.

16.

17.

18.

19.

[

| JaeHtes feT fas Aehite d¢ 05 7

(a) 1000 (b) 10,000 (©) 100 (d) ifiii
1 faBam f& fas JaearH g€ 7 ?

(a) 100 (b) T%6 © 10 d) f%
foa fasfeeg f&9 fad af®ed g€ 75 ?

(a) 1000 (b) 500 (©) 200 (d) 100
fea 3rtfeeg fev faa atfgeg g€ a5 ?

(a) 10 (b) 10000 (©) 100 (d) 1000
U e A feg fas fes e o ?

(a) 364 (b) 366 (©) 365 (d) 363
B & A8 feg ed=dt Hats g fas fes de a5 ?

(a) 28 (b) 30 (©) 29 d) 31

3: 10 gfw gufag § 24 Wie 781 w3t © AN vigHd ©F |

(a) 23:10 (b) 25: 10 @© 15:10 d) 13:10

22:25& 12U T8 WSt € AN »igHd ©F |
(@) 10:25PM  (b) 12:25AM (c¢) 12:25PM (d) 9:25PM
1 uie f&9 fas Afas g€ a5 ?

(a) 60 (b) 3600 (c) 360 (d) 300

wHT 7 fAfPHT (Learning outcomes)
BEEr, 979 MI AHIET TPHT fipdrat feameit (standard units) €
MTUAT AU 979 76T M3 d0'6" Ales €9 <93 € Ward<' |
BETEL, 979 M AHIET §UT HEs T fafonret 95 € Garger|
AHT MGt U3T J96 & Har J<T | :
HIgS et Yt et fanmg g |

______________________________________________________________________________



3. (a)

(e)

4. (a)

(d)

€3amr

—
mMfgM™ 6.1

3 Mt 45 7T (b) 5HE. 757 Mt

10 far. vit. 850 7. it (d) 4.25Mt.

7.375 fa . Ht.
45 T vt (b) 270 far Wt (c) 5820 Ht.
65 H.Ht. (e) .018MT.

MfIA™H 6.2

2 far. 3y 850 T (b) 153r. 790 fH. 3.

12.625 fa. arT. (d) 7.075fx.3r.
10.800 I
3275 fH&tarH (b) 8.050 fa. I
4200 I (d) .8653M™
520 far. T

M 6.3
3fs. 1250 1. (b) 8fa.fs. 72015,
4.948 . (d) 15.650 fa. fs.
18 f&. 045 i 5.
7600 . (b) .250 1. .
4250 f. (d) 845f1.fs.
092 fa. fs.

Mg 6.4
10 far. Ht. 325 Mt (b) 14 fa. 3. 3253,

13f&. 575 . . (d) 20Ht. 1 7.+t

12 far. arm. 025 3T

4 fg. Ht. 675 Ht. (b) 4fa.3r.3503r.
4fs. 500 . fs. (d) 5HT. 40 7. Y.
12 f%. 765 1. 1.

afes-5



13.
19.

2|

4 fg.3rr. 100 9rT. 4. 271 fa. Ht. 50 Wt
31 f&. 200 fH. f&. 6. 44t 80 7.t
6 far. arr. 250 3T
mMfgH™H 6.5
% 6372 2. S4afa.ar.
5.7fs. 4. 137.2fx.ar.
88.9 7. Ht.
MfFHH 6.6
(a) 3ufe 30fHe (b) 8uie 15fHe
(a) 4ufe 30 fife 20 Afas (b) 4uie 1 fie
(a) 2°S 10 HIt® (b) 6 S | Hdl&™
Mg 6.7
(a) 6ufe 20 fife (b) 2ue 10 fife 5 Afas
(c) 5°% 3 Hata (d) 37 8§ HdTS
(a) 1:30 9= gufga (b) 1:00gufag
(c) 10:3033 (d) 10:15A<9d
(a) 7uie (b) 7uie 30 e
(c) 5uie 45 e (d) 5uie 30 fie
(a) 7uie 30 fie
3ufe 20 fife 6. 7uie 15Me
sofeasfua yast € €39
2. ¢ 3. a 4. d 5. ¢ 6. b
8. a 9. a 10. d 11. b 12. b
14. d 15. ¢ 16. b 17. ¢ 18. ¢
20. b



nifanfe - 7

3yT gifes

Gem 1. fefenmagt 2D w3 3D nirfag3tut f&g »izge Hivar d9& € Tar
J I |

2. JursT fraedit fSe de € Aasy § mge € §aT J Aa< |

3. mde, faBs d 3 »fug d< 979 AMY< € War J A<l |

4. fefenragt 2D w3 3D nifag3twt ffe miH3t mige € @ar d
AadT |

WAt fRTtt W3 =99 JyTet, garet w3 fasTfont g9 fugst s g
Uz da It | fer nifgnmn &g »imt fdg, 3ur, gur d3, fags, d<, 89 d<, 2D
w3 3D Mg 3t g7d UZTar |
7.1 f&g, Iur, Iur-43 M3 fags

ffeg (point) : fig & (1) 3% wifaz &tz Ater g1 fdg & Wt Usfis
A7 U5 & 37 &% aut € U& '3 Bar & ganT Hae of | fdg § wiaest
TISH®T & IF niydT fA=” A, B, C wfe AT JoWdT € <9&T €, o, T wirfe
&% SIHTTEHT JET J |

fre far A B & € g’

L4 °

C o
auT (line) : féq grar (A7 IA) famg fa fegarad fan <t € fdgmt Am=
B (939 fS9 €an™® mgAd) T R o USAIHT fapdT J | Add »wt fere a<t
fafent & wia3 3 =g T¢ie 3t feu fEa Jur g 7r<ait |

‘T\ Y@/ 160 arfes-5
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foa frgt 3y € &7 3T Jet 93T Jet I I &7 It Heret | feo @ €%e
fewret f&g ma3 gt 37 o%<t I 1wt fan =t ur & yas 39 '3 &t ganr
Ao, Ud fea f93g € gu <9 ugedfma a9 Aae It |

A B -
e «> JUTAB
151 "o
e o> JUT &
= > | qYT

39 € fours TanT 37 U5 fa wrt Jur § €< U #is3 gat 3T =T
Aoe JT | 3uT @T gt wig fig &4t Jer|

JgyT 45 (line segment) : Had WA IUT T I¥ fIAT FEe 3T fene
fafenrt 3 39 € forrs &4t Sare Afe | Jur © fen Afuz gar § Jur d3
fargr AteT I 1 Jut ¥ € € W3 g J© 95 g'< fenet et fonfaz gt 91

Ae B JYTHF AB

faes (Ray) : T mrust JamaT fiealt ffe =, gor €t fagst &r
yGidr gae 9t | feg fagat gar 3 fiutt uast €& mr et g5 | fea fags er
fifar gz Jer 9, faver & faer fea fenfaz fde der g, ae fa ferer enar
e &3 gat Sa gerafder 7 | fam 39t fo3a e feufenr famm T |

x s > fads AB

foq fags & aet farfals saet adt Jet | i fags er s € »Wud &
g fafar 77 Ager I1 ufgsT »iug fags € mdg fig W3 grAeT »ug faas
Sug 5T fan =t 39 fdg & saAGer J|
+ fads AB, fadd BA 3 w&ar Jet J|
+ fags e feq gt ¥z fag ger J|
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HEHIS M3 ISHIS € AusMT I | §uat § Ed g1 &% us<e ff9 Har
w@?almhw@vwﬁnwmwmrwmﬁam
v fEa g Tt wrfg3tt & 24 fast & st et Su-=y mirfg bt
geET o5 I fAe: —

S

Qust TuraT gTTET wrfg3tT § BY J, HEHIZ € <31 9T EBAI3
Sust & U<t T fa feast &9 fausht nirfgatut de 96 w3 faaghut
Y&t I8 ?

o4 Ufg® 939 3 faat Ardhdt wirfa 3t 92 g5 |

at gt ©F Hae J {9 feg de wrfgstt fea grg 3 fam 39t »iwar o 7

8339 5 e '3 €813, Guat § € 3BT 7% det Mgt sefe
el afdet T16T €8 35 &t ag mirfgatt s @bt g |

I< ©BAI3 onet J fa Irt 7 mirfa3tt seretnt g5, Quat feg ast et
SIT J |

HEHIZ M3 ISHIZ Ugeit I - €let ‘d’ at Jer J|

eBAI3 enet J fa fig € st »irun 1S9 fedstt féq /g fdg '3
fHset g5 3T Quat € fegdd g geeT J |

H&HIZ : “nigr &<t fen Be A8 @vmar getit g€ nirfg3tt nidar-
WBaT A, fabfa ot feg d=t e gaa At |

A% © fagst AT € Jur-uz Eq Ay »ifan-fig '3 fge 37 d< geer
J | AigT #if3 fE < e g Jer I w3 €< fagat A Jur ¥ d< et
gATe JebdT I& |
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ﬁsa%am?}ém?&zﬂgiw%?

\\\\\

C
wl\)r—gl

WWKH%W—WH%H—%HW
Tt g Mg 3t g6 |

HTfER Tt 6 STBHT &7 e AfenT 6 g=et aret
J1g< & st ger & few 39+ 94 fa Afvnr 9 5=
< | IfAT Jd |

o

7.2 &€ €T SHAIS

g MT@IPdT 19T I T STHATS =t Hagd! A7 AT @ WydT 7%
g3 AT J1 fAae fem § d= ABC ufgwr #@ier § w3 fous <@ feng
Z/ABC AT ZCBA f&fiur arer 31 AigT fAyg B fegard f&fomr arer 31
fend et @79 «B <t & AfeT 71 g € 38t &< W3 Gust & fem
39T 4 fa Quat € fAg f&a »iz '3 s | g Sshot e fea 99 Az fem
39" 56 fa Gv ufas Az € ¥& fafedt 3 s | few 397 feo de wrfgst 5=
ﬂﬂéaﬂ|a°r3ﬁfenwf§(3°r€réu—éuéa+€rwf$u/€nﬂa—€rﬁ?

A

7.3 fega (Divider)

————

mfoua fefenmaahdt § g@et et € 35t BT et vimdar |

@awawfemﬂnve’rmwfmsq- A3 fa €< faad st &%
WHE A7 Aa< | g fefemmagt mus Wa-ons

ge Y 29 et § fen 5% wue | g wformue
fefenragtnt & Ugar, ot 303 fAadedt gan <9

few ggreT aEt Wazg I?

S atfes 1635\@7(-:}]9




MruSt Jfeg <f fa3™ M3 298 @ a9 e ac HU w3 fegwa
(fe=retza) & eu feg »iaredt @ »iug L €t 397 4% fapur I |

a1

= 7

feg fea miae T
Y fere ®et L fgue ot |
87 d<, A »fexdd gde € d& a1 7' fa3™™ € d& Far Y313
J<, 89 d< AT AHd< miy=Tger J1 few d< € HTU 9HmT 90° der I 1 M3
feg igrdwt € »iyg L’ < 397 feuret feer a2 |

MJIoT
A ] =
9g AL
1 > v

s,
S,
.
",
",
.
.
S,
s,
S,
S,
s,
N o
S, *
S, +
S, 0
., R
. ,
s, 0
~ R
s, ,0

frviedt gram e yuz de vy § fan =t oirfg3t '3 sar o gue 3
O mfa 3t fe9 39 a< ©f ufgere St A7 Aaet T
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7.4 d& w3 fen et famat

fea fdg o8 fan fags € WS (Rotation) &
de fagr Ater 31 Ay muet &9 mwe st A9 famg &7
TEMT € fagat f¥gamg d< geer I ds & Hue & x
v fearet faaret 91 foraes

g 7 fami € g€ 95 — fiAsg d<, fa@a d<, mide, nifuad d<=, #es
d<, faedan dE M3 Yas a= |

9IS mfgmm &9 AsT femr faGs de, mide w3 wiug d=
3a Atfwz J1 fen et, vt fage feust g9 ot feg mfewm 9 uziar|
miftue 893 §*Ua wigrddt € g% »iugt & feur & feast g9 Ysar|

(a) (b) (c)

fegst fe9 fagsT d= 90° &7 T, fagaT 90° I & I W3 fagsT 90° I
IITI?

AHaE (Right Angle) : f&a d< fameT U 90° T, MHaE my=8er J1
few v fows || der 3, fAs 939 (a) 9 »igrgdt €v»iyg L’ J|

fs€& < (Acute Angles) : f§33 (b) T&T d<, 7 0° 3 T3 T MF 90°
3 8¢ 9, fa8® d= my=@er 3|

mfae & (Abtuse Angle) : f9379 () T®T d<, 7 90° I <37 J, Ud
180° F &< I, mifud d< my=@er J|

(®) 10 aifes et yAzat & fea g7 © Gug
d4 W3 oA<T Ui3d & eu'e fu gy fem
397 Ju fa AsElF g A= |
(f) T fedt arstfent & yrgaT &% g9 |
+ I J9d YN &% g ABTES I3 fea
Jgre § Bug 3 Jot I |

+ faust meElE 3 die U 3AT IH
fosgatt ?

¢+ JTSTHABEIT T IS T ?

Iy afes 165 \"Yﬁ{)
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U3 @ Hos &g de
996, 43 @ Hes fSe Sy Sy s uge -

N
+ 99§, gz wiegn et Bt w2 Arfeas €
feQu & =r8= &t gu3t € a2 B |

* HTfOW T7 HA™® ST q&%T fJA™ 7e 9 |

+ 35 3Bt w3 Afeas &t feQu € @<t &t gaat &t AurfesT
&% fEa f3ga g=G |

+ fen 3g° € TB T 93T € a3 M3 HON Tt st & vee
&% 4, 5, 6 FATT THBAT Mg It 5765 |

00

U3gT BIrg fa goa mirfa3t f&9 fds d< 75, 8ot '3 foms sarG |

g€ I9 wig3t & »Mrust €9 &% Jof ¥% e | df €% &%
0T '3 wfg3t € df 9 gus= Jer I ? u3T BIr§ W3 wusT
A< Jot Aract feg &8y -

ﬁ?‘\ T,__7/ 166 af=3-5
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d< &9 gew= (T/519)

O
-
A

¢ gEsEMt wig3tt arSifedt 3 &t At wiew &ar Aae I fa
HtsTat/yst nrfe f&9 f3gw &t =93 faf aist #iet 9 ?
¢ WMUS WMB-ES JF wiaatt gt &7 u3T d4, st fea fggw &t

=93 Jet J |
Gewas1: ﬁ?ﬁ@ﬁ?ﬁ*%ﬁ‘ﬁﬂ%ﬁé‘%@ﬁé&' Migd d= M3 B9
d< (AHAS) I& ?

S Y3
W

Iy afes 167 . ﬁ
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©(a)

(b)

(c)

(d)

(e)

()

N

&% feg fAt eveeg yr 576 |
feg d= B9 d< @ »ed® UH J,
fen et feg fa@s a= I

fegggad= J|

feg d= B9 d< & »edd U J,
fen et feg fs@s a= T

feg 9= B9 9= €@ TII% UH J,
fer sat foeg mifua d= J1

feggga= I

feg &9 d= € g93I% U J, few
Bel feg wifug d= T

1. It fafont ST f6@% I, mifuq d& M3 AHAE Us'e :




MG fsaet wst gelie

1. oIy fe9 fda gag d<e |

2. femd »fur iz fe@ |

@
(N

AN
K

4. fevd foa =3 fog = fe@

5. IO & 4% | IIT$ AN < 939 &t 397 Jur=t
feuret e=aitwt |

6. fram 3gt foze i< feufem famr T,
87 €3 0°, 45°, 90° MI 180° TG |

7. fewd fa yare a3 €3 fouar fef |

8. ded 3, On <9 ffq pet 5=

Jur aifes




9. W a8 ffd 7% pet g€
w3 fUs € Hew &8 fegaq, feg
ferr 3¢+ Bar€ fa feg W Aa |

few 397 g3t fsaet wat famma T
+ {399t W3t € ATTfEST 5% MTUS USTHS 9o € AHAE HTU | AHa S
THY oo gl

1>

- o 90° & d<
* AHa< e fea-faaret ... e 5 s |

d& HUA (Protractor)

niformus fefenmagtnt § M3 f&9 de g A Ueaeq (1) feurear
w3 Year fa feg ot I ? g9 fefenradt Snear fa fend 3t afde a5 1 Aaer
J fa fam fefenragt & ferer & de HUa A Ueded U3T 9= | I Mfmmud
»TUST 3i% 973 H 4T |

HUS Jfde J7 |

g< 3 wiAt vieH 578 {688 de, mide w3 »fug de g9 3% A3t
At 1 Ug d< Hua € AoTfesT &% wint d< & faaett ffe vy & d= =
HU M3 d< <f faAy 979 Tats 7% Jfa Ade J7 |

i@\ T,__7/ 170 afe3-5
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& Hud (51) ebt fermasret
¢ I HUF €t HaS MaledT € »yg D F9ait J, few st feng st <t

forgr AreT I |

+ de WU f&9 € na® Je 98 - 1. »iegast A 2. 79t Ad®

+ niegat mas §ug 0°, 10°, 20° ........... 180° ¥¥ 3 He f&femr Jer I
(Wt <t fenr f&9)

+ grgdt A& §Ug 180°, 1700, .......... 0° 49 3 A &g der 3 (w3t
o famr f&9)

¢ 0°3F 180° 3T &G ==t fidt dur & »rurg Jur fagr AteT J|

+ fegag oS fdg & d< Hug er d'ed fagr Arer J|
qE & HyeT

wQ 9fe6 | g it de HueT fiue of | g vt far &t de £XYZ
T HY U3 JIT |

1. A8 3 ufgst d< Hud & fen 37 dumal fd Hud € d'ed d< © fiug
Y ’3 M3 Mug 3uT fags YZ & ydt 3¢ 2a B |

2. IS IS MU & §T Aa® eF, fAam € 5% YZ
gaT, 0° 39 Hset T1 85 0° g9dt AT YZ gA7

&% fHs<t T v s
3. d< U & 99t Aa® 3 Qv fomas €4, fAg d<=
ot fads YX Swet J|

feg YX gaT 50° @ fows 3 swet I, fen
et ZXYZ T WY 50° T | fend wint foy mae ot
ZXYZ =50°




©(a)

feg 50° I fors =
§ar 9% J fa feg g
130° &9t T forrs
gd,fegdes dgds T

(b)

Wed® UH J|

feg 140° = = JI
fous €< Gar 9i% I
fa feg a= 40° &41 T |
fors ad, fegd= &9

(a) 48°
(e) 79°

© (a) 48°

(b) 118°

(c) 125°

(d) 65°

(e) 79°

ST IgIIB UH J |

: Jot fou det &9 fafs de I mfug de usT a9 :—

(b) 118° (c) 125°  (d) 65°

feg = 0° WI 90° € fegarg J, fer Bt feg
fe@s a= I

feg 3= 90° WI 180° & fegarg J, fer et
feg mifug a= J1

feg = 90° W3 180° fegarg J, fer Bt feg
fog d= J|

feg d= 0° WI 90° fegara T, fer et feg
fe@s a= I

feg d= 0° WI 90° fegara T, fer et feg
fe@s a= I

1. SeHUF €t IgfesT & I feg ST HU UST a9
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2. I& fod WY € 3, € HU & AafesT 518 5879 ¢
©) 15° () 40° () 42° (M) 53°
(T) 65° &) 75° (1) 90° @ 110°
w) 117° () 135° (F) 157° (&) 180°
3. I3 fafmt @5 f5@% d<, mfua d€ M3 AvdE ©F ¢
®) 35° () 89° (g) 120° () 100°
(T) 96° &) 74° () 62° @) 166°
4, UBtgetIq .
(i) 0°F9°efegdaaEe AT S oo fagr AreT T
(i) 175°TTTS oo d= JI
(iii) 3 =7 WSt St gEtut ... fsaet T d< s @=athut |
(iv) Sggm3dysefegaa ... fgaret € d< gSar|
(v) fa@sde, mae3 ..o derJ|
S ates



5. Aat A 1S3 &y
(i) FHIE TTHY 90° JeT T |

(i) Ma< fa€s d= 3 T3 Jer J, ug mfug d= I ger gev J|
(iii)) dSHUF T HiEgat M3 TIdt HA® ff 9 90° ST Hru fafumr Jer
JI
(iv) 85°TTd< AHIE T |
(v) 115° e g wifga g J|
(vi) 90°erde fsGs a= J|
7.5 AfHST (Symmetry)
MHH3T Age € A9ef @ W& AW + U3t 3 gfewr 3, farer w9g T 9959
WU | 8T Jur 7 e fo39 & © gorge € fag gwart f<g <3<t 9, § mifust
JyT gfde 75 |

WWWWlWWWWWlWHW

"I wirt Suiar fa Uug € gareq e fag fdfmut fEe s faprr T 1 femd
M wirfa 3t fagr AfeT T

yyg <9 fAam g7 '3 aam ’é’sfdaé—clﬁl@trm-rﬁ-@ﬁwﬁﬁfrl
miftwryg fer 397 fem arstfedt Uty § 93 @@ UG HE @
TIITEdT |

0174 afea-5
|
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few 397 dfe€ | faw nrfagst ot e 3 < s |
T5 |
J&T I¥ AHTHE AT Ehit IR=at fegt .

7o ' N E—

7.5.1H’Hﬁ.|’3“"m1f§_3c_byrr

Ae fan mrfg3t & »rag UF € g9 gar fI9 e 7 AgeT 99,
3t wfrdt nrfgst & Mt wifg st faor Arer 3192 sovee {97, ffa en
e 23UT Ha® 39 I3 |
I

fA< far Jyr=t Jahut

’ gaeT %t f3as et 35 AHfHST duret Jebdt a5 w3
=gaT St 4 AT Syt St 9w | e

1. ot Fbt nifigabut (45" AHHIZ wifagiort °T S BaT -

Jur afes




2. fE3 fa3af ffg mfist Jur 56 .

ALV KO

3. It fEStut nnfgabut & mifust aur fde -

! J

4, 5. 6.
4. fdgea Iur § mist qur Hoe Je fasayaraq :

éuwa’r»@l%xuwa’rwfgﬁwr‘r(z:n and 3D)
nifommue fefenmaghnt & oy =agwt feyrear, fas fa

( %’l" 7
N

L
[}

|




miue TRaT fa U™ W3 wferg iy d& f3& U™TaT (3-Dimentional
(3-D) W I& MI UUJ Hlie € U™TaT (2-Dimentional (2-D)) I few &et, umr
M3 MEIAGIH d& 98d 8§93 '3 &4t 9T AaW | fige Gust & wanfemT ot
AT AT J |

+ {35 yHSt g § 98T 895 3 e a4t A AT, fAge Gust
3 IO AT 98 995 '3 TIHTEHT AT AdET J |

+ -y THSAT € fige € uTH (Farel w3 93l IF U6 Aeld 35
Ut TAgHT € 35 uH (Baret, 93Tt M3 el g€ 95 |

1. It [t areht IASTST 9" 2-D M3 3-D SAIMT §7¢ | 2-D AT
3O m33-pamsi’3 /\ 5 :

P
‘..'
“l

7.6 2D mifgstet 3° 3D mirfgstut se@er

fas fa wrt fem wfoufe fS9 ug 99 oF fa o
g3t At 3-D (3 uArat) =wgwt 2-D (€ uAm)
THIAT I Suatt JEtit 5 |

Fur afeg 177 ﬁ%
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1. MUE s es S5 Is faumt nifgstmt €t fiéa Geraae fef :
mfgst Geage

weTe

us

GE]

fAgsq
2. T &3t (€9 faoa we ge Aawe g8 ? aam € fEa dag '3 fest
& 9T M3 myeT @39 ®9 ¢

©) () ()
(H) () ()
(o) (@)

3. I35 fau gt 3 fagadt mrfgstt geehit a5 :

w

(a) (b) (c) (d)

T ifes 179 ﬁf@%



4. IS fEStT nifgstn & As &% Heg :
(a) |

(b)

o &

yggqdadesw 0

AT fSeb =78t | '3 W w3 wEe e Ay .
g&T Aad JT | : c d
Qurgds € 39 ‘I At WS 9T I TT|

niftmrye fem asifedt & fefenaeint § € a &3t Mie '3 we=
g8 et Ufaxs qaar|
HISTYIS HEE
2-D g3t - fAagt miig3hut @ € R (S8t M3 937eT) I 75 |
3-D wrfg3tit - fagt wfggtt € 3 uw (Fgmet, I3 w3

g9l Je s |

BY gyt - fAoshdt Ju=t feq g0 &% 90° €F d< gegendt
J& |

I U - f€a &39, fAn &% d= WU A€ I& |

fsarat - d< Hua <t fearet

fa

%ﬂ -~ 180 gifes-5
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»

AT JUT=T € gre fig '3 dT geE IS |

I T SHIIS JI& <% ATYT fAug fegara fafumr Arer I

d< HuT & 4% fearet faamet 1

0° 3 90° fegad U 78 de fa8% d<, 90° HY 8T d< AHd<, 90°
3 180° fegamd HY =& < #fud d< my= 8 75 |

< § A HUS &% W™ AT g |

A fan wrfg3t & »irarg Uo° € g9mgg gart f<g S A7 Ager 3=
It wifadt wirfa St & mifug wfaat faor aer 31

At & frRfamT (Learning outcomes)
2-D M3 3-D mrig3tmt f&9 »iga mgeT|
d< € HE® Ha®U 979 |
gt &t faaHt g7d |

______________________________________________________________________________

mMfe™H 7.1

. (@) fs@sd= (b) mfugde (¢) fa@sd= (d) M=

(e) Mitgdes () fa€zde

mfe™ 7.2
®) fs@sd=s () fa€sde (v) mfutgde () »fugde
@) »fogde @) fa@sde ) fs@sd= (@) rfugde
() fe@ade (i) mfugdes (i) MaE  (iv) 180°

(v) 8T
(i) wat (i) wAat (ili) IBI (iv) IB3
(v) Adt (vi) IBI
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nifanife - 8

Qe

Gem: 1. fefenmragnt § mruet arfef3a 39a Aa3t & =93 J9aT

2. fefenmaahdt § miue wd-em®@ & 439 €7 Hdt UfoHu w3
Y3de® @ MY U3T Jd& & Wl 575 |
3. dfent & IaeT-rles ff9 ufony, ¥39e® W3 mrfess Aaat

M et g@g s € Gar ge8eT |

4. gfez fen madt dfent € He 'S 39 § g JIaT M3 ITa3T

UaT JI&T |
5. gife3g fed € HI33™ AMSTEaT|

e ufoge 4
8.1 ufaH™u (Perimeter)

g6 | fugst mirs f<e 3t ufowy g9 feras ya=a ufgnwr I fa fam
St g€ AH3® g3t €t gradt ATt Faret € A3 & BF wrfg3t
= ufoy fagr AfeT I | AU meet {9 fan mis® wiatg mifa3t Shut
ATaPHT gaT=T & &gt € A3 & Gner ufoury fagr Ater 31 few gmar feg

WMHT daT M3 el & Ufgu™y 979 9997 adar |

8.1.1 €JdT (Square)

29dT 979 gAT=T =Bt QT g€ wrfgst It T, fAan Ebdt Ardbrt gar=t
999 JEMT I& M3 IIF aE ANAS (90°) € JeT I | Mg Jot &3 =aar

< fag9t '3 fegg adie|

[

O

3HH SHH

) 182
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2JaT T YfaH™U SddT €™ ATdHT gAT=T @ A3 © S9'9d J<dr | few et
f€3 ATg =9ar @ UfaH™y »iar {8y »migA™a J=ar |

<94 | ST &t AT 2941 €7 UfaHU - Arabit ATt @7 53
©) 3 7 Mt B+3+3+3)MH=(4x3)AH=12m4
(") 5 7/ Mt (5+5+5+5) A = (4 x 5) A =20 AN
(®) 7 7 Mt (7+7+7+7) A =(4x7)Ad =28 AN

WAt [Ue I7 faq TIa1 =7 UfgH™y = gAT + gAT + FAT + I

=4 x gAT
- =gar =7 yfoury
M3 gAT = 2

8.1.2 mfes (Rectangle)

wfeg 979 gAT=T I g€ g3t gt I, fen It medy (o)
gHa™ET T9T9d JePdT & M3 J9d a< 90 f3Idt = Jer I | wmrfeg bt
ST It gAT=T qu3ET 3 ST JeT 3% | fed &Et, mitfeg e ufany
fegst AT gAT=T € A3 & §9'9d d<dr |

5 A9
4 AH
2 AH 2 A4 3 A9 3 A4
4 AH
®) 5 A
()
& AH
4 M 4 AH
& AH
(¥)
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fer &t Ag mifeat & ufauy »iar iy MigAg g<ar :
wfeg | Saet | I3t 94T & UfaHy = gt garet a7 A9
@) (4Rt 2 Hh |G +2+4+2)AH=(4 +4+2+2)AH =12 74

() |SFHE 3 HE|[(5+3+5+3)AH=(5+5+3+3) A =164

@) |[8AMH: |4 M| (8+4+8+4)AH=8+8+4+4)AH=24R4

WAt at YT It 7
wrfeg e yfaHmy = Fgret + 93Tt + gret + 93Tt
= YTeT + FgTEt + 93TET + 93TEt
=2 x &gret + 2 x g3t
_ 5« (et + Fah) e E
saret
w@gam/asra:(mfm) B

miferua fefenmagtut § 913 © SYT-TUJ W'Y © F9dT M3 we3 oe
g fenr@e wet adar | feg Guat & GrEtdt 9 gA™=" & HUS Set Jdar
w3 feg ot € 73 I3d UfgH™y =< et JIdr |
WG, g for &% Afug g3 Gergdst adie -
Gegas 1 : fEa wifegTarg uad ©F Faret 48 Hied w3 I37et 30 Hied
J | fer @ 979 U™ 379 BIrQST I |1 9 & FITE UIT AT |

&5 . ured Ot e = 48w 48 T

UTId ©F 93TET = 30 Hiea .
feg yrga mirfegrara J1 uger =
fen ®et, mirfegrarg uad @ ufoumy

= 2 x (BgTEt + 93T

= 2 x (48 Heg + 30 +ie9)

= 2 x 78 Hteg

= 156 Hieg

fen &gt uytda € 979 UTH 156 Hied 379 &Jiait |

%?-\ T/ 184 - —e




Evgas 3:
: Zgar " UfoHy = 32 Adied

. 2391 @7 YfgH™y u3T g9, fAret gaAT 5 AcHied J|
. IITE AT = 5 Aehited

SIIr v Ufady = 4 x gAT
=4 x5
= 20 Aeted

5 7. HT.
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11. fanget © fEa Uae &t gt 15 A, I3t 9 At w3 €9t
6 A M. J1 79 fEa Uae f<9 g% 30 fange I 3+ I9a famae @
Mfe3as U3t a9 |

12. feq 2ast feet a7 yat 3ot Jet J | fen caat &t &uret 4 vt I3t
2 Ht. WT 3wWrEt 60 AT, J1 e foe &t dgmet 20 AMY., 93
10 AT, w3 €97et 6 AT, T | 29t fEg fastut feet gearmt ?

13. Y&t g=i3q :

() WSTUTESE = oo X e X oo,
(i) WS THTEIE = oo X e X e
(iii) fow SHEMaT UGt It ar QA AT ... Mye I |
/agr—fea?;ﬁ.lau,ja?;(MCQ)-
1. Adt €39 € AOHE 31 (V) & fams &arG :

(i) 9 A FAT TH WS T el J<ar:
(a) 81w AM. (b) 90 W= A Mt
(c) 729 W= A Mt (d) 8w w Mt

(i) ffx were T wifezgs uzT a9 fAw < &a7et 6 A M., I3t
4RM. M3 Gt 2 A T

(a) 24w AMT. (b) 28 W= A Mt
(c) 64w AMT. (d) 48w AT
(iii) mfe3s €t ¥ fearet fagst sdt I 7
(a) W AMT. (b) =gar Ht.
(c) w= .t (d) w= T
(iv) fam wer= € A9 faa™d 999 9 €n & fagr AT T
(a) =Iar (b) W=
(c) W= (d) wfez

é\\ T/ 204 ——
1
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e ® 3w

10.
13.

1.

At 7 fAfgT (Learning Outcomes)

WS M3 WST=ITdT AgHT Ef IBST FI5T

WMTfE3s & MEAd 33319 &7 |
AT & At HrueT fifeenr |
——
€ sasr
—

(mfem™ -9.1)
(i) 4w 7M. (ii) 40 W 7M. (iii) 36 WS A M.
() 6w AMT. (i) 24 w= it (iii) 6000 W Ht.
(v) 343w AHt.  (v) 400w Mt
() 216w AMt. (i) 512w Ht. (iii) 3375 wE M.

(iv) 9261 W= Ht.
() 162w AMt. (i) 432w firxt. (iii) 2340 W= At
(iv) 4224 wE THHT. (v) 12075 w= Mt

480 W A MY 6. 48000 W= 7 M.

TJ7 T §9TH 1200 WS A T

16200 W 7 M.

WS Mt T 32 WS A M. R0 T, WS WdTdT 39T =T UAE 7T |
3750 f&et 11. 27 W< At 12. 4000 f&et

(i) AT X FHAT x g
(i) Fgret x I37Er x Ggret
(iii) Wrfe3s
g feasut yrs (MCQ)
1) () (i) (d) (i)  (b) (iv) (b)

205~ f‘L
\7: A

e



nifanife - 10

1. S4-JY riafant & f93dare A7 &3 Jre Idt UH J9sT |

2. &3 Jre {9 vige Areardt § ugsT w3 fenfanT gaat |

3. JY Y ridfawt § uret gde ST Un aad fem v Jaat |

4. vigfant € € umrdt fagus & mig o fenrfor w3 38T
J9d fag3 dee|

UTet 9Tde AT 3% SIHT
mfommuar - funrg 996 |t AT wiggrat few, 2t <t €*ua feg fagtmt
IJA<IIT edtT 95 ?

%t‘z‘\ 206 aifes-5
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mftwrug - mEH Sf96 ! wAt fegst fo3at/aret § wamg &t
St muEet A7 Homlst ff9 Sue It feg are A g
det €t Areddt A gesT 93 If MO I9d FE w3
gg3 I1 A%at AHgT fee g5 | af 3ug feust Su-=y
formit € gret A f939 g9 ATcardt J7 IB wiF At
fergrayg=a feust g9 uSie |

niafant & f8a39 a9& g9 »t fugstt a3t 3 ot a7 of | wint

fegst viafant & ‘Araet’ € gu <9 Af feg ‘939t Ifdt yare a9 Aae It |

10.1() fgsg9are : €3 g »iafant § fozg fogt odt @3e s
nEAg) TamgeT fo3dars mue@er T fozdaret & At e
gu (Horizontally) A 83 ¥g= gU (Vertically) €9 €an™ Aae It
(i) &= are : 83 Ire Qv are J fAam gt wrt wiafamt & vz
= AT »rfegae &3 © gu &9 ©on Aae of | mifesae &3
o Sgret f€3 are »iafawt §'ug fsaga aeet I M3 fen & I3t
feq M gt J1

(iii) uet s@e A ge sanr : Hidfawt § fgeaa gu <9 yare J9s

et Ut g7de A 3% saW € 93 JI13t Aret I
feg foua@= et Ufaz ad |
et fefamms 207\@7@

3 ‘i?
|
(S




Gewes 1: fa yferdt ng® €t Sy-Ty a3t &9 ugs =8
fefenmmaghut &t fareat JaT f&3 MgAa I - —
TS 1 : 50, A3 11 : 45, AT 111 : 56, A3 1V : 36,

IV : 60
I% : wAt QUi Areardt § AT € gy <9 Jat €3 »igH

feyr Aae Tt :
g I nm| m | 1v | Vv

fefenragtut at Aftur 50 45 56 36 60

€vgas 2: UA fda-fds mfuat dav, ufewrsr, gfé3T, Aafde w3
gdteae &9 AZ99 Hats feg SghdT arghdt grat ot AftprT
Jot fE3t aret I |

gyt arehut arat | 600 | 300 400 | 200 | 500

TSI ger J|

%ﬂ Y@/ 208 afe3-5



Gvgas 3 : JoT fE3t Aact &9 fan wfoe fev Uav vatfewt feT Jet
I (in mm) € ATSITGT fE 3t It T

HJl&™ [=IYT (in mm)
et 10
% 45
asret 50
MITAS 35
399 20

QUdas AedTdl § IS ET €3 I 3 ad |

&

50 +

? ||1

0wt =& a%TE wEm3s A3E
Hdl&d — >
Gewes 4 Jof f€3™ &3 are gauis, aisT, ag w3 geyis € afezs €
e f<9 yuz Ji3 wiat & Tanr faur 9|

s fefamrs 209 N?@%
i

[ ] LS [ 5] s i
wn <o wn o Ln
l 1 | 1 L

| ] I L]

g3y (in mm) ——

— k. [ ]
<= wn (e
| } |

N
i
I




-~ _ 6
yus o
-,
— 2 L e n o -1
(=] (== = o o o o
[l 1 1 1 ] 1 1
L) 1 1 L] L) | L|
v

100 ~

o0 O
= (=]
1 1
T T

g3 gr'e & 991t YT UF J yrsT € €39 fe6 !
(i) dis & fas g yug ats 7

€39 : 100

(i) I Tunrafars yuz ats ?

eI Euly

(iii) AT WenafaR s yuz a3 ?

EECREIC )

(iv) I8 m3 Jeyis fee fan & Surfq yug &t 7

EECBNCYEX)

(v) TS g e Yus JIS nig evnige fder 3 7

€39 :100-70=30

1
Qeges 5: 93 I Uet 99e (3% &) m
f&g g dast @ d9feut <&

i

H&UAE dart g7d &ffdr famm 3
yet 9de § fors % g8 w3
g3a et




(i) 3 € fas dfemt (fSe=sHa gu fee) § gar JaTuRe I
v =~ \J \J . 1 \J 0 \J . (2] [s) o N
€39: mewW@Z(WW)Wgwwmm
(i) A3 € dfon @B faag JaT§ As I Sy uRE disT farur & 7
€3ze: M3 € dfont <8 &% a1 § A9 3 U Ui i3 famr T
(iii) 99 A3 &9 d% 40 ¥9 & 3T AN © fas dfewt § gar JaT UAe
g’
y 21
€59 3T —
A
(iv) A3 @ fas Sfomt S ulsTdaTuRe T ?
Y] -~ 1 5 \J . o o o N
g39: me;xﬂﬁzs‘aﬁm{rgtﬂwwmm
(v) M3 ¥ fas Sfemr & stsTdaTuie I ?
\ N 1 5 \J . O (2] (s 2N
€39 WE’EXM:SW@?WHWUI

10 o . e o o EN
x A0 = 10 Sfemt § Tav dar uie |

(vi) A3 € fas Ao FS daTuRe T ?
7 ~\ 1 20 \J . [a] [s] (2] N
€39 FW?EZX}KT =20 "fgmt & &% dar uAe J |
(vi) & J9T UAE a9& & Hfowt & farest uls Jar uie J95 @&
o S fastSqure T ?

=N

€39 : ®% JaT UAE dd& @78 g9 = 20

UI%T 391 UAE 96 7% 59 = 5
¥ JdT UAT Jd& <% Sfomt & farest, utsT dar uie a9 @8
gfon™ &8 15T J|

1. fq s € 99 fudfaa et festmue are |
gfgnt gnaT SY-JY Te=d ©f farest @
nigz fea3q a3 are | fagt <9 g9 As=d
& fareat fem yag 7 : gwa-32, Ha-10,
fogs-25, yadm-27, M3 BESt-391 fegst
Wgﬂmﬁ@gufé%:qmzaﬁl ANIMALS

o — S — 211 \{

3 ‘i?
|
(S




2. fou fiz f&9 Agaw &4t et J1 AHE9 3 Hdd=d Jd HIAH THS
e gfemt &t fareat fo3gars e Tomet aret 91 Jot &3

fo3gars & fors a5 ug 3 €39 fe6 | -
Aog “f =2599
G i 4
I )

(i) Yo®eTd § fad g9 AdaH gUE Me ?

(i) fow fes Ag 3 U 99 AIIH TS e M3 fas ?

(iii) fow fes A 3 ule 99 AgaH TUE me W3 fas ?

(iv) FHE9 3 gU=9 & J& fds Sfemt & Agan et ?

(v) <I9e9 M3 HId<'d HIGH TS &8 gfgmt ot farest <9 fasr
MITJ?

%@\ 212 ==
I8




3. UA SyY-Jy fUst &9 Juts feest e et feest Ha 35
WMEHATY 9943 Bare JIT |

fay

fis

fiz A

fis B

fus C

fis D

FaIe gIg I9u3T &t AfydT| 36

48

60

12

24

(i) Qudazs rafant st fg39ars famma s A= |

ﬁﬁ?—?=12 U3

(i) BuUdaa ATEaTdt & det 39 U™ <93  f93qars fang aitzr

=l

4. f38amat via fam fiaTet €t gars &9 fea ge3 feg =393 ae gu <t
HT39T I&T &3 83 are MgA9 J |

r

T 350 -

. 300

(in1

250 1
200 -

150
100 1

50 1

h

Zafanr fapr €

H]II'

wmwﬁmﬂﬁw

(i) A9 3 <u ¥y faus fes <afam fapur ?
(i) Ag T ue 2u fauz fes SafamT faprr ?

(iii) fouz € feat g9 fEa fadt w3er feg gu =afam fapum W3

fasr?

(iv) 9= M3 HAd= 9 & I & fdaT T =i 3T fapur ?

(v) M3ITTEH NABT & faaT ufe € =afanr fapur ?

iz fefamrs

213 \9’7
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(vi) Hg 3 S0 <93 I¥ TU M3 AT I We I3 JIe TU € »i3g
faar T ?
5. fEa gd® '3 nmaged Wals <9 =9 I8 Su-24 quahit € Hefes
Aet 9T 29=T JoT fed MEAa J

quat 24 gI¥ Aet &t farest
JUST A 40
JusT B 32
JUsT C 56
JuUaT D 72
JuUat E 96

QUdFs ATedTdl § EIATEET €3 I f3ma a3 A= |

HaT - § Aer €7 UHT&T femr g

6. fom ra® feg ufast mira 3 Ja<t g 39 & dSfout <f farest 9

fog h*l':_'iFl"G' J:
A | dfewt € farest
I 35
II 20
III 40
v 30
\% 25

QUdTs ATedTdl § IS ET €3 I g dIgT A= |
Aoz - 10 dfert € farest & tirsT fenm 7= |

Wméwﬁéééﬁ—éﬁéaﬁ@m@%
w3 feust geat 3 &3 are 3 939 s st Yfaz a3 |

%ﬂr/ 214 arfes-5




e 22RBT

-
4\019:e

QuUda3 uTet I7dge § »is gavaa grar fEg < g farrT 3 | feg miwt &t disar
feg Su-2y ffornt St farest § ean@er T
Jot fasg yrst e 839 fe6
(i) 53ue € fiffamt &t farest (fga=va gu <o) fast I 7
Hag ffodt &t g% fare3t 80 3= |
(i) 2 gue < fifamt &t fare3t fast a7
(ili) 5 ue & fHfout < fars3t SR ?
(iv) 10 gue & fiferut €t gt fast geet I 7
(v) i ©f e S99 o9& fast amt I ?
8. &3 are yret g9e & 12 §a99 gar f<g Sz fapur | &3 famur
utet g9e fan Ag® &€ 120 dfont € f9-24d Haude f3Guat &
Tanr faur 7| fem & fors &% ug & Jot 83 yrst € €739 fe6

,

o %

f@ TN
E4

%\

NS

nigaT fefamrs 215 ,@%
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[E—

. fa& dfent & (fsarava gu fee) feeat er f3Gua e I7

I € 98 120 Sfont f&9 3&t e f38u9 ude J9a =% dSfout

<t farest faat 7

A9 3 W2 Haure f3@arg fagsr I ?

. fe=@t w3 i3 une Fos =¥ dfedt &t farest v wisg
faar I 7

10.2 f939 AT 87 gret € IBST AT — (T UTHTIT HT3IT3IHA ¥id3)

w3 fegst gret 3 &3t 3T uggeT AT o fapdT I | wfdr »iAt € uATat

W39 3 e’ A f939 are’ ©f 3BT ddd 311 deST (YTl |

D

oW

Gewes 1: Jof € 3 Jre &3 I’ 5| 7 fa gase W3 =atsr
MTERgH UAT Jd6 <& gfowt &f farest as ufast 3
9T 3 T IJ TS |

80 g0 4+

70 4 70 =

60 T 60 T
50 + 50 +

40 0+

dfew &t farest
dfan et farest

30 1 30 T

20+ 20 +

10+ 10+

ufgst gt Eiciy g4t yfast gt EiGil gt
TaBe mfergiv EHIHT nifeRgiH
€< 87 dret § fors &% &8 w3 €39 fel |
1. ufgst a3z € dfent § gase A atsT wfergv &<
fqa3T e8<g fammer uAe J ?

TIBT
meﬁvu&lﬁ?ﬁﬁﬁé
g™ @ AT MgHd Nt w3 I=bd™ € Sydt-J[udt farest ehat
AaStt f3ng ga=r a 83 are f3wg da=e AT W3 Qust fegst
Aeadl @F IBaT aderet A< | (fae-faust as feu st w3
ISt &t fare3t 5999 I ? faost a3 &9 Vifswt &t fare3t Su/ue
J ? wirfe)

tr T/ 216 afzas
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2. €= &3 Jret &9 fagst mis 38 =5i%T w3 gase
WMTEIRGEIH §978d UAe i3t At 7 ?
g St Mg A gat

3. AHT3 9Et € "fert S mretng iy (8¥<9) <t une f<9 fasT
W39 ?
N3 9ET © TS MTTERg IH URT dd6 <% 89 =70
A3 THT @ FHIBT WTEAI IH UAT 96 3 89 = 60
W3d 70 -60=10

1. Jot €3 fo3dars fT9, € S4-Jud HEsT 2014-15 M3 2015-16
ﬁww—gﬁﬂcﬂéﬁo«uw A, B, C 3 D &9 Hfswt &t farest
TIATE JTEt J|

MH3IV 2014 - 15 2015-16
¢ looe®  |0eee®
L) LLAS)
¢ _|eccce [©©©©68
b ©000© LOOO
g @) =508

1. Foms A 9 fan ims €97 Hfswt &t fareat famer 37

2. AIEE D 29 2014-15 W3 2015-16 &9 vifswt <t fareat ...
J | (59v59/2U/uie)

3. AHS 2014-15 &9 ifsut €t 9% farest fast T2

4, 9 AWaT 9976 AaRs C fE9 Vifswt ot fareat ev wiga fasT I 7

5. AES 2015-16 &9 Afswt € farest Ams 2014-15 78 fast Su/
we J?

2. J&t € 3 Jre &3 I’ 5| feust ffe € Sy-2y fest 9 9«
AfgaT €@ U I U IuHs feytfemT faprr I feg mfag o5 - fEst,
T, §a18g M3 AASHT |

i fefamrs 217 \Tﬁé




30°C 1 50°C +

33°C

30°c + 30°C + 25°C

20°C + 20°C 4

Guias g9 3 UsT AT :

(i) 195 & faus Afgg AT 3 TUIRH I 7

(i) 1enEg § fausTAfgce g I U &3 7

(iii) 195 M3 1 eigd & fEat € 3urs g fasT #izg 7

(iv) 198 M3 | €9 § e @ 3uns feg fasT nigg 97

(v) faoz nufog fE9 1 g5 w3 1 oy € ff9 3uns ff9 A9 3" ule
IS e ?

3. J&7fE3 &7 au< & fons a& ug -

r' A

40+ 40+

EEi &-§ dO% THACTH
mg gt

+ wiftmyg dfgmt § 993 © aan <9 [U-Ty Afgat § g <9
HET J96 37 A 99 §Uat Afgat € 3us gE%™ & AHS AaS M3
WMoz fEd3d 99 I HAH 979 ATSdTdt ITHS Id A< |

+ wifgmirug dfent § 30 niygg &9 vim < folse fors 55 ugs

A

i

et @3faz J96 W3 Y-y HigdT @ 2U I U IUNE €T €3
3UNTS €T 83 Jre f3nma 95 et afae |

218 afes-5



y3T a9 -
(i) BUITI EF e A &t Aeddl € IJ I& 7
(i) faost &3 a3 St w3 9t @ Sfot ear sorgg Bt et g ?
(ili) A3 It WS A3 I8 © §-8 43T 8 "font ©f 95 fareat
fost a2

(iv) ™3 St »3 98T € gHdC 9% 43S % "font &t 9& fare3t
fost a2

(v) "3 At € gfomt €t A9 3 < Heure 83 faast 37

(vi) 7M™ 9T € gfont € 79 3 U HoURT 83 faast 37

 —

Sud I o of €9ret ar gae
WHZ & Efent € dY 97 s g g7 | ma® 979 fest feg ie <t
€9t 1.4 cm T It | €7 T goe Q9 3+t 7% Jus &I 99 99 fes

~ _ao=

gme Ue & 89 vut »iz Aget € gu <9 & famnr wig @@ U

- o=

€3 g2 grac fI9 &g Sarfen faprr|

fes | ¥e € €9 (em fS9)
0 0
4 1.4
8 5.3
12 9.5
16 10.2 E—d
20 10.9

nigar fefarnrs 219 \ﬂ]ﬁ{)
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coo o o o I & ¢ ¢ + ¢ -

J9 fig < €9t § T° »3 Aaet 5% 3IBaT a9 fa mifvs & fig aia
HIre I& AT &1 ?

oo

~J

e ot 898t (cm f€9)
D
|

0 4 8 12 16 20

- - fes
did'e 3 U3Tdd

1. faus fest f<e Ue &t Gt ig 3 Su =l ?
(1 0—4 (1) 4-8
(11) 8 —12 (iv) 12-16
220 afe3-5




2. de< few Ue <t €9t fast g=ait ? »iear &arg ?
(1) 8.7 cm (i) 99cm
(i) 10.2 cm (iv) 10.5cm

3. dt feg Uer g Suer 3gar ? 100 < fes U <F dgvet at d<=ait ?
»eTHT HArG |

gen — viazs fEa39 a9 3 e 3 a7 |
AHGIET — YT8eTd UUd, UsH®, dar €f 39T, e (Fa®) AeE ¥7d¢, Je
fedt — 1. y&€9 Uud & ASE ¥7de Sud foua S |
2. gfen™ & HeuRe 43 & Tamger &3 Jre fawmma disr
A< A3 € 79 ¥9 & fen feg gmar &< st mforua
yfax aaar |

=

HEURe 4§ —>»

mfud A :-

+ wWyat yas &9 dfout § »run <9 999 dds &t faur A= |
gfgnt & Ufes aisT 7= fa mirue s e -y Ufert w3
Teed feg T Sy |

| IS

nigar fefarnrs 221 \ﬂ]ﬁ()
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3. viftmuye A3 € feq 99 & u3T g9 »3 3 Jre <9
TIATET U3t f&g ERel Ag 3 U HEUAE U 979 Y=drm |

4. 99 € €39 T e rifomug 7 & &3 are f<9 mrust
Ag 3 TU HauAT ¥F © Gug fea 39 <9 dar 995 st
JaJar |

5. fen 3qt, iformua wiruyet A3 © 99 e 99 § »iruet Ag
3 U HSUAW ¥z © §ug e 39 &9 Ja1 995 &t adar |

ufgey — fen 39t A3 3% Ua=t a3 & dfert et Haure ust §
gorrgeT Ifenr &3 are famma T famir I

fen 3° goue wiferue dfent € forrrs w3 oot ffe =Ur J9s =t
I f&u yas Ug AaeT J ¢

1.3 fEe os fds 9995 ?
2. A8 3 Wfe Haure 3 faust g ?
3. A9 3 U HauiE U5 & fas dfent gnmar uie a3 fapnr J 2

fem 3 fewrer sftvua 39 Uz yis <t Ue AaeT |

e dd& Hdl disT l@

*

*

939 are viafant § gerr@e e vfoy 31

At I

foggare <9 939 fogt &t =93 fare3t san@e wet st At 71
Hag fare3t fammer 92 3T wit WS wignTe fo3g fugt &t =93
dad It |

£3 Jr'e <9 »iafant § TanGe &t fo3at &t Aqy mfesag &3t
o 93 it At I

(Pie chart) @t =93 13t ATt 7|

Cv-\ T/ 222 o —.
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/a_t_r—faawﬁﬁu,}a?;(MCQ)-
1. fan mfag € A3 fest € U 3 T 3TUH™s € »ias fen 397 0%
fes | A | Vo | g0 | <19 | Hag | W&t | W3
IUHTS | 36°C | 34°C | 38°C | 40°C | 39°C | 40°C | 41°C
(i) Ag 3 frvmer gov fes fagsT T 7

(a) YIB=I (b) Ste=a
(c) M3=9 (d) AH=Ta
(i) fogzr fes ng 3 &3 faur?
(a) Hu=g (b) B9
(c) WolETa (d) Had=™g
(iii) A 3 2T M3 We IuHs ST fasT »iza 7
(a) 6°C (b) 8°C
(c) 5°C (d) 7°C
(iv) fao= < fes 99799 g 3d 7
(a) <o=9T M3 Hal=ET (b) WI=T M3 AN
(c) YIBId M3 HU=9 (d) Se=9d m3 Had=d

2. fow fagde € fuzat o9 BIra3d 99 ISt fS9 gt et
g3 fer 3gT 95 |

-~

400 + —

3501
300 T
T 250 +

200 +
f

150 +
100 +
50T

v

2014 2015 2016 2017
HS —»

nigaT fefamrs 223 ,@%
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(i) fusTat & 2016 feT faatt €37 gt ?

(a) 300 (i) 400
(c) 350 (iv) 200
(i) fuzTat & A 3 ule I3 faus AT €976 gSTehiT ?
(a) 2017 (b) 2016
(c) 2015 (d) 2014
(iii) fuz™at ©vaT Ag 3 U M3 AT I Wi SSTEMT grebdt €3 &
39 fasT g ?
(a) 150 (b) 50
(c) 200 (d) 100
(iv) fuzTat e Bara@ I79 AT &9 gTehbdT Jrehdt g% e3F
fastmt g5 ?
(a) 1100 (b) 1000
(c) 1300 (d) 1200

__________________________________________________________________________________

At & frfamr (Learning outcomes) .

. Wmmwmmm@ﬁwﬂam'
JIST|

+ mygat/IaEnt i[9 Fu-2y f[9399re/E3 Ire fEas daa @Ercs'r-
o fen T Jaat, IBaT I9aT M3 311 '3 U7 | '

__________________________________________________________________________________

Sacr)irou
—
mfs™ 10.1
1. A9&T
2. (i) 75 (i) Fe=T9, 200 (iii) AHITT, 50
(iv) 175 (v) 50
€-\T§/ 224 gfes-5



4. (i) M3=9 (i) gu=Tg (iii) AHEd M3 A&l=9

(iv) 5501/ (v) 1501 (vi) 2501

7. () % (i) 20 (iii) 30 (iv) 100 JUg
(v) 3103ue

8. (i) % (i) 40 (iii) @fgam  (iv) 30

MfaM™ 10.2

1. (1) 2015-16 ER:CA:C) (iii) 80
(iv) 5 (v) 2015-16 "fswt €t farest 15 T T

2. (i) AW®HT (i) fmsT (iii) 10°C (iv) 12°C
(v) garsg

3. (i) 3 I 3 S A3 SiHt w3 It © dfeut grar ustdt Are

TEDT 43T I IBST 979 UIT BIET I |

(i) Seos (iii) 50 (iv) 45
(vi) -4
gg-feasut yrs
1. () c (i) b (iii) d
2. (i) b (i) ¢ (iii) a
=

(V) 8eg®

(iv) a

(iv) ¢

225 ~_ /¥
p

.



/ag—faawﬁﬁu,}a?;(MCQ)-
1. fan mfag € A3 fest € U 3 T 3TUH™s € »ias fen 397 0%
IUHTS | 36°C | 34°C | 38°C | 40°C | 39°C | 40°C | 41°C
(i) Ag 3 frvmer gov fes fagsT T 7

(a) MaB=T (b)) FHEd  (c) M3=9 () M=
(i) fagz fes g 3 &3 fagr?

(a) gu=9d (b)) EB=T (c)HdIET  (d) Had='d
(i) AT 3 20 W3 We IUNs g fasT »igg I 7

(a) 6°C (b) 8°C (c) 5°C (d) 7°C
(iv) fauz € fes gargg IO 79 ?

(a) <=9 w3 Haled (b) MI=T M3 AHST

(c) YI®=d M3 HUS9 (d) Fe=9d »3 Hdd=d

2. fow fagde € Uzt @9 ®ar39 99 st {9 gt arett
23 fen 33T 75 |

400 + —

0T

300 T+
T 250t
EE 200+
F

150 +
100 +
50T

2014 2015 2016 2017
HS —»

(i) fuzTat & 2016 f<9 fashut €37 g=rehnt ?

(a) 300 (b) 400 (c) 350 (d) 200
(i) fusTat & A9 3 uie &3 faus A S9's ST ?
(a) 2017 (b) 2016 (c) 2015 (d) 2014
nigar fefarnrs 223 \%‘»ﬁfz

i



(iii) fuzTat eaT A 3 ST M3 AT 3 Wi gEET grebdt &3 e

"3a faasT I ?
(a) 150 (b) 50 (c) 200 (d) 100

(iv) fuzTat 9T Bara@ I79 AT &9 gTehbdT Jrehdt g% e3F
faatmt g ?

(@ 1100 (b) 1000 (¢) 1300 (d) 1200
- wf 7 (TRPUT (Learning outcomes)
o o g a3 g9 e et st et mreadt § U omeTl
¢ HETI/IATEHT IS TU-TY f9399re/E3 are fEas Jad @El'c')"'
: of foripdT gaat, IBaT adat M3 &3 '3 UdaST |

__________________________________________________________________________________

o/
Sacr) o u
——
Mfg™ 10.1
1. AIat
2. (i) 75 (i) Fe=T9, 200 (iii) AH=TT, 50
(iv) 175 (v) 50
4. (i) »3=9 (i) gu=Tg (iii) AH=TT M3 H&I=d
(1v) %50[ (v) 150/ (vi) 2501
7. () = (i) 20 (iii) 30 (iv) 100 gue
) 3goauzr
8. () — (i) 40 (iii) €fgar  (iv) 30
MfgM™H 10.2
1. (i) 2015-16 R CR:C) (iii) 80
(iv) 5 (v) 2015-16 "fswt €t farest 15T T
2. (i) AW®HT (i) s (iii) 10°C (iv) 12°C
(v) 918

3. (i) 3 I 3 A S A3 St w3 gt © dfeut gmar ustt Are
TEDT 43T I IBST 979 UIT BIET I |

(ii) Se¥® (iii) 50 (iv)45 (v)8ea® (vi)u-¥
g-feasut yrs
1. (i) c (ii) b (iii) d (iv) a
2. (i) b (ii) ¢ (iii) a (iv) c

X\ 224 - —e



Gem: 1. sufent € AofesT &% wifg3tit § wat &bt gett €t
gt 3 Bt femr ff9 wir & 3Y& famma g9a G|

2. aHfent €t AorfesT a7 dfent & fadet Afor=t W3 =gar
A=t g9 AredTat €27

3. =Ja1 A=t w3 2ia Aftmret {9 ge¢ 79T 979 EneT |

4. TTEIST 5T MBI- MBI sH& fIng F9s G |

5. dfgmt & M3t 99 SAeT W3 M3t Ju=t fagestnt
Gt |

6. ST MI IIT € SHS {39 JI5 |

7. sHfent f&9 I9a3T e a9s ST, Arget wfgIhit fammg
JASTEIAT HATESTIAT |

e ufoue 4
fugght a3t 9, wit Ueds 99 ufgmr 9 fa g9 397 € ayfemt
(Patterns) feg fam &7 fan 39+ € fou &t =93 a3t A<t 71 feg €9
S Ufgs 98 Jufant '3 € aya d< | W 3 »idr Sue J€ wint g% J9
SHfent & miftiis Jae It |
11.2 WSt €t getoit €t fenr f[e wie =& sys

faen 1. fea Savet wvr o g996 |

OG000C

afes-5




feen 2. »iur wHT J E998 |

QOO0O0O

feo 3. f3® SaTet WH™ & €a96 |

Q0O0COC

WHT

“0000

d <t 5H& 39 g3 AaE It |

@Hwﬁwamﬁl

@@Q OO

WU WHT €999 |

OO0 O0O0

11.3 MBAT-MSBaT Mg &bt fet/erelst & sHs

I H® € gt €3 fet/eelst € Su-2y 3§t & Y fmzdtnt &
e IT I& | 99 HASTt & SUI-TYd Ueds g€ IT I& | Ml MUS Ags
dt #eq fend3 '3 v HfgeH gae It |

g7 SHS IS &0 mignag 35 —

L 4
L 4
L 2
L 2
.




s fogzrUecas Jagemagfegd ?
+ At faux Ueds & Hin f&9 fda mirs (fEa fA9) feus =& € fofmut
fSessHae T ?
+ g gAT gam '3 fen 397 € IF &< Ueds 579 |
11.4 f3aet Afumpet

O oo Q0O
o OO 00O 00O
1 1+2=3 1+2+3=6 1+2+3+4=10

fer gt it afg rae gt fa 1, 3, 6, 10, .......... feg f3a<t Aftr=t g5 |
-MWW»@W—WWW
fe9 »fAd Ueds &9 Aae vs | fefemmagtt § »ue Ags € i AT
famrat feg wifaaT Ueds ge@< et @3rfog sigT A< |

) r/(zzg) dife3-5




11.5 S9ar Aftp=t (Square Numbers)

00O
OO 00O
@) OO 00O

Ix1=1 2x2=4 3x3=9

fer gt eue 9t fa 1,4,9,16 ........... feg =9a1 Aftprr=t g |

SIaT HivT=T & Tye 9%, wiHt feg
<t Jfg Aae ot fa ofa Afgmret @
T 2991 fAng Afvr gat 9|

mmsmwmmmée’umw

1+3=4 1+3+5=9

1=1x1
4=2x2=1+3
9=3x3=1+3+5
16 =4x4=1+3+5+7
25=5x5=1+3+5+7+9

1+3+5+7=16
WWWWWFWWWWETWWWI

B3 MEHT

co o o o o D & ¢ ¢ ¢ + -



=991 Afgret w3 2 Aftpr=et & A9 fEg vt 39 <t @egdsT @ Aae

4-1=3 WHT ¥4 Ao Jt
9_4=5 © Bd'37d IJJT
16-9 =7 T-l'ffMF%"‘E!TMB—d’
IHAT 2 Ay
25-16 =9 B, -
Jet J|
11.6 »iafa 3 mofag g9 99 st
1x8+1 =9 111 =3 =37
12x8+2 =098 222 +6 =137
123 x8+3 =987 333+9 =37
1234 x 8 +4 =9876 444 - 12 =37
12345 x 8+ 5 =98765 555+15 =37

11.7 ATg€l a1 (Magic Squares)
WS Wt g€ A'g € =991 ISER

fen fS9 wrt 46 3 54 3 ot Afvr=t, few 397 gatar fa feost &%
J9 BTEIE €T 73 150 g |

53 48 49 |=150

46 50 54 |=150

51 52 47 |=150

0S1
0S1
0S1

i@\ T,/ 230 afes-5



11.8 A/gEt &-gAt

niat e Ueds § & gA" RO e 1Td ga™ '3
29qd M3 1 AT |

398 I9 =991 (39) 9 QU At fset
J, 7 87 € €5 UH 9 Jadt fegarg fautmt
Afe=t & JreT q9s '3 =it |
11.9 d%39 @ Ag

Jot fe3 ae d&39 § <v |

IBFT '3 3 x 3 (9 H3t™) & ST 9§ M3 g¥ AE e |

1 | 213 4| 5 | 6|7 ¥ few 55 b
8 | 9 |10 | 11| 12 [13]14 Afanret or 7
15016 | 17 | 18 | 19 [ 20 | 21 BArGEt 7|
223 24 | 25| 26 | 27 | 28
29 [ 30 | 31 (W len g gg mit Sarer 3 1)
3 4
+ 10 + 11
+ 17 + 18 g fem e fia
30 3 3 Jdd HUT "H3 3
AT UITJ|
5 30
+ 1 2 + 33
+ 109 +36 Sy ot 7
3 6 99

fen 39 € fegaa® nid & 9 7% I aad A%<t €39
MEer JIfA= 11 x9=99

J< At fen J&39 f9 aEt 99 3 x 3 (9 fH3PT) = 397 5576 w3 fer

I 58 @ Ig St A9 A |
e 231\“’7@]3
i



11.9 33t
A=t M3 wuat (letters) § TH&T & wiAt aet 3T St B3t f3nrg
g9 A< It | fA= fa 4% gat fE3t arett o |

@ @BO @D GHD KD MNO @R

&9 ¢B)
0 @ B W @ &
(d) (108 208 308 408 508 608

@3
® (600) (350 ) (500) (450) (400) (350)

@ Q> Q> G @0 Gd 6D

NN NN NN

1. dHfent & fors 5% €8 M3 Midt Yar a9 :

[4][=]4
P @ |P
(© @ @ @
ir -




. fem mreet =gar ST 21 3 29 3T St Afverr=t fem 37

(L[] T
© <>

SHfsHT & €8 M3 »E® & ue fay

(a) O-1D=8 =1 (b) 9x9+7 =88
(98-2)+-8 =12 98 x 9+ 6 = 888
(987-3)+8 =123 087 x 9+ 5 = 8888

..........................

..........................

J& fegt f3aet Afumret a7 f3aet sHs fama ag :

(a) 15 (b) 21
5x5=25M3 6 x 6=236=Ja1 A=t 78 &g sya fIma a9 |

g9 fad ATg UTAG fegst @r a3 75 3= | 25

. Jo &3t 8-g7 & fen 39T 99 fa g0 =g i Afm G & €8 U™

fe3 Jaat & fautt Afumret § Ire 95 '3 mr=ait |

@

. Jo fE3tit &3t & fos 578 S8 M3 yar ad |

(a) 6, 13, 20, .. - C
(b) 86, 80, T4, . e C
(c) 1600, 800, 400, .. e C



d) 287, 27Y, 26X, .. e C e
() ED, FE, GF ety ooy

) 8, 108, 208, ooty ey e
(g) 2, 6, 18, ety ey e
(h) 1, 8, 27, ... s e s e,
(i) 729, 243, 81, ... s e s e
g ZauEr
- — E
(mifen ™ -11.1)

coo o o o I & ¢ ¢ + ¢ -

2. (a) (9876—4)+8=1234

(98765 — 5) ~ 8 = 12345

. () O

OO0
00O
0000

00000
1+2+3+4+5=15

O000O0
O00O0O0
O000O0
O000O0
O000O0
5x5=25
28 [21 [26
23 (25 |27
24 (29 [22
. (@) 27, 34, 41
(c) 200, 100, 50
() HG, IH, |
(2) 54, 162, 486
G 27, 9, 3

(b) 9876 x 9 + 4 = 88888
98765 x 9 + 3 = 8ELKKY
(b) O
00
000

0000
00000

@)
@)
@)
@)
+O

[S—
+
(\o]
_|_
(98}
+
M~
+
W
(@)
Il
(\o]
[E—

00000
_ 00000
00000
00000
200000
00000

(@)
I

(b) 68, 62, 56

(d) 25W, 24V, 23U
(f) 308, 408, 508
(h) 64, 125, 216
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